COLCHESTER |

MASTER

3

§ =
&

THE COLCHESTER LATHE COMPANY LTD. ‘COLCHESTER, ENGLAND

E ¢
s

RS NG Y




Y, i WO A Py |
S

May 1970

Colchester Master

INSTRUCTION &
SPARE PARTS MANUAL

This manual applies only to the
machine having the serial number
shown; this is stamped at the tail-
stock end of the bed, between
bedways, and rnust be quoted in
all communications.

— # Machine Serial No. .....ccceeeevennn.n.

‘;‘.- THE COLCHESTER LATHE COMPANY LTD.,
W= COLCHESTER ENGLAND



This " BRIEF SPECIFICATION OF THE MACHINE
;m' ‘cation applies 1o all five standard models of Colchester * Master ™ lathe as follows:

—Gap bed cabinet base lathe with quick change gearbox.

BOXER G
3p bed cabinet base lathe without quick change gearbox.
""E::';‘m iw bed leg type lathe with quick change gearbox.

ap bed leg type lathe without quick change gearbox.

QUARTER—Straight bed cabinet base lathe with quick change gearbox.

Height of centres ... - 64" 165 mm.
Turning diameter

Over bed 137 330 mm.

Over umagc 9 229 mm.

Over cross slide . 8” 203 mm.
Distance between centres ... 38~ 914 mm.
| Diameter of face plate " 305 mm.
| Gap bed models

urmng diameter in 197 483 mm.

Width in front of face plate ... 4" 11 mm.
Width of bed 8§” 213 mm.
Spindle bore (Max. bar dumeur) 13" 38 mm.
Taper in spindle nose bush No. 3 Morse
Spindle nose American Taper L.O.
Capacity of travcllmg mdy . 2" | 50 mm.
Number of spindle speeds (Standard motor) ... 8
Range of s fundle speeds (Standard motor) 54-1200 r.p.m.
Number of spindle speeds (2-speed motor) 16
Range of spindle speeds (2-speed motor) 34-1500 r.p.m.
Feeds

Number of sliding feeds 45 45

Range of sliding feeds per rev. of spmdlo ... | 0.0025”-0.068" 0.06mm.-1.7 mm.

Number of surfacing feeds ... 45 45

Range of surfacing feeds per rev. of spmdlo ... | 0.0006”-0017" 0.015 mm.-0.43 mm.
Threads

Number of Whitworth pitches 45

Range of Whitworth pitches ... 4-120 tp.i.

Number of metric pitches 12

Range of metric pitches 025-6 mm.
Pitch of leadscrew . . 6 tp.i
Total travel of bottom slide 63" 171 mm.
Total travel of topslide ' 33" 92 mm.
Height from top of topslide to centre Imo of

spindle . 1§ 48 mm.
Maximum tool sh:nk size (Pnllar type toolpon) 9/16” x 14" 11 mm. x 29 mm.
Travel of tailstock barrel (Std No. 3 M.T. centre

fitted) 55" 130 mm.
Travel of tailstock bnrrel (Std mk dnll ﬁtted) 33 95 mm.
Taper in tailstock barrel . No. 3 Morse
Overall length " 1969 mm,
Overall width 337 838 mm.
Weight " 1512 1b. 686 kg.
Motor (Standard smgle spegd) 3 h.p 50 cycles, 1425 r.p.m.
Motor (2 speed) . 3/1% h.p 50 cycles, 1440/720 r.p.m.

STANDARD EQUIPMENT SUPPLIED WITH THE MACHINE
(For details of additional equipment see pages 24-39)

One 12” diameter faceplate.

One 6” diameter slotted driving plate.
Two No. 3 Morse taper centres.
Centre bush.

Travelling steady.

Spanners, Allen keys, etc.



|
T
-
‘TJ
1,1
.1,1
'T!
1.1
1.!
T']
T,
T
™
T
T

=1 1.

ADDITIONAL EQUIPMENT

A comprehensi_ve range of additional equipment is available for the Colchester “Master” lathe.
All items are designed specifically for the “Master” and are engineered for simplicity, robustness,
and reliability. A brief list of additional equipment is given below and more detailed information on
certain items is given in subsequent pages. All these items can be fitted to the machine after it has

left the works.

High speed threading attachment ..o
Series 300 Hydraulic Profiling Attachment (Specify electrical supply required) ....................
Turret'Stop for Series 300 Hydraulic Profiling Attachment ............c.cccccoovvuvveeeeremresseeresssrnns
5 station hand operated inclined head capstan slide with adjustable stops and maximum
working stroke of 44 " ... ettt e et e et rer s
Burne.rd lever operated ‘Multisize' collet chuck model L.C. 15/LO for direct on mounting
on spindle nose, complete with anchor bracket (for details of collets see code nos. 327,
385.8nd 346) ...
13" capacity Burnerd ‘Multisize’ collet chuck KC. 15/L0 (key operated) ...........cccoeeevuevennen.
Flexible round bore collets for ‘Multisize’ collet chucks, each having $" capacity in steps
from &7 10 13" (12000 FUI S ..o T
Flexible square pattern collets for ‘Multisize’ collet chucks, each having 3" capacity in
Steps from " t0 17 A/ZF (7in full S8t) ....ooooovovvvvveeeeeeoeeooeoeoeoooeoooooooooe
Hexagon pattern collets for ‘Multisize’ collet chucks, each having " capacity in steps
from $" to 13" A/F (9 in full SBU) ottt ee e e e e
200 mm diameter 3-jaw geared scroll direct-on mounting chuck (No backplate required)
255 mm diameter 4-jaw independent direct-on mounting chuck (No backplate required)
Details of other sizes of chucks will be given on application.

Perspex chuck/chip guard for fitting to lathe bed or SAAAIE ...........oe.ooooeoeeoeoooeoeooooeoooeoo
18" diameter faceplate for gap bed MaChINES ...........ooovvveoeovooceeooeoeooooooooooooooeoo
4-way automatic indexing turret with top and middle SHAeS .............ove.eveeevveeeooreooooo
Colchester QUICK ChaNGe TOOIPOST .............o.oovuiveeeeeeeeeeeereeeseess e

Additional vee toolholders No. 83120 fOr @DOVE .........co.oooveeeeeeeieeeeeeeeeeeeeeeeeeeeeeeeeeeee e
Additional morse taper toolholders No. 83121 fOr @DOVE ........co.ouovveeeoeeeeeeeeeeeeeoeoeoeeoeoeeoee
Parting off toolholders No. 83127, complete with parting off blades ...............ocooooooooovn,
Parting Off DIBAES ...............ooooe et ass bt st ses e e s et

Terry Anglepoise 50 volt, 48 watt, low volt machine lighting for 220/440/550 volts
50/60 cycles A.C. SUPPIY ONIY ..ottt sne s e e e e
3 M.T. Gamet super-precision rotating CENTIE .............oecueerereieerieeereresesessesssssssssesssssesesenennesens
Machined backplates for fitting to customers’ OWN ChUCKS ..........c.ooeeeeieveererieieee et
Additional change wheels for special thread pitches (To be specified when ordering) ..........
REBI TOOIPOST ..ot e e e st se et s et a e
5-pOoSItion tUMEL tyPe DA STOP .....oooviiiiiiiciiiiicn et sr e s eene e e et en et e ese s eesees
SiINGIE TYPE DA STOP ..ottt e e e et e e e e e ettt ee et eesa
Spring loaded safety chuck key for 200 MM ChUCK .........cccociiininn e sssssennes
Spring loaded safety chuck key for 255 MM ChUCK ........c.coiiiiicineeeereree e e
Magnetic Dased ChIP QUAI ..........ooiiiiiniiiiiiiiiss i e s e sssseses sesstssesssessensssenssssssessens
Universal magnetic Dased didl QBUGE ..............cccviiriiiviiirisieisenseseesesssesessssssssssessssessssssssesesenes

334
367
368
341
343
326
327
345
346

301
302

- 344

303
305
375
376
377
378
379
380
308
310
311

312
316
319
320
330
331
332
306
307
365
313



p—— - -

= ot

T

_ )2

\

Method of lifting, with eyebolit fitted in the tapped hole provided

ssssss

Foundation plan

4

Il o i B R



i
Lr]
Ly
L'J
A'J
-
T]
T
ﬁ
‘I']
T
T

TJ

{
M

INSTALLATION

LOCATION

To achieve the standards of accuracy to which your Colchester Lathe is capable of working
it is essential that the machine should be placed on a solid concrete base, which should be as
level as possible and free from vibration. A wooden floor is not recommended because changes
in atmospheric conditions affecting the floor will affect the alignment of the machine. If a wooden

floor site is unavoidable a section of the flooring should be removed and a concrete base built
up to floor-level.

If the machine has to be placed above ground floor level it is necessary to have a reinforced
concrete floor for best results, and to place the machine headstock as close as possible to a
~ supporting wall or pillar.

Careful attention to siting and foundations will greatly add to the accuracy of the work
Produced and to the life of the machine.

When deciding on a position for the machine, it must be borne in mind that sufficient room
must be allowed all round, not only for operation but to permit the end guard to be opened
and to give access to the motor compartment at the rear of the cabinet base. In the foundation
pPlan opposite, the main dimensions are given and also a recommended minimum space required
for efficient operation and servicing of the machine.

LIFTING

The machine weighs approximately 1,512 Ib. and proper equipment for handling this weight
should be available. It is recommended that suitable plates are obtained before attempting to
lift the machine. In case of difficulty please contact your local Colchester agent.

POSITIONING

Mounting points are built into the cabinet base, two at the head end and one at the tail end.
In addition, a jacking bolt is provided at the front of the tail end pedestal for levelling
adju'stments. Although bolting-down of the machine is not normally necessary , machine
bolts may be used at the positions provided. Do not overtighten holding-down bolts.

THE MACHINE SHOULD NOT BE GROUTED IN.

CLEANING
When the machine is delivered all bright machined surfaces are covered by a heavy protective

coating. This must be removed with white spirit or paraffin (kerosene) before attempting to use

the machine. -
DO NOT USE CELLULOSE SOLVENTS AS THESE WILL DAMAGE THE PAINTWORK. .
Particular attention should be paid to the slides and spindle nose, and it is essential that the

end guard is removed and the end gear train carefully cleaned. All traces of the cleaning agent

should then be removed and the bright surfaces given a light coating of Shell Tellus 33 oil.



(S5 [~ R S N S S T L L R GV R B SV G VP N A [ vt R i O B A e |

paadg om| omunmzwﬁ)mowzﬁ 9979/01s

2adg aj6u 1 440 H 440
paadg a\0uig ~ =i “.<|
13 ' f H

HOLOW i _ _ | i -

NIV €/ e/ s nwu “ €

s H | —

HOLOW N e

NIV _ _ | L|,m<

U0 WP
(Ko ssuyey nNg) (Kluo say e 1uapmig)

8316viS 90 3I3NiBvHD

SIHOLIMS OHOIN %201 SIHILIMS OHDIW ¥I01 ‘
¥ Q¥vNo ON3 ® 0¥VN9 ON3
wums | T XU —gremwmr | e e aenioenn (029 [ ———————— om0 O oo e —— B e
ISUIAIN _ UILNVIS §18 I3V — e " Wuwwrwhk "‘i wanin |~
¥aMaon | Buneu | H3IT30W | 1embow Buaey |
HINNOIO™ | SeupyOeW UO PATIE HINOOM | seurydew uo @y |
| 103ue3 vonng ~usnd | | lenwod uonna-usng |
s | is |
I | F _
HOLOW | 2—0 YOLOW HN i
X W s | [ |
diWnd " NO | dhnd | o Lo “
IIIIIII J |
L T0/C shig - - SE5TEE -
Y Teein
SO HOLIMS ISVIN3Y £ S12 HOLIMS 3SV3134
110014430 9 OIVH) T 110018430 % 2IVHD
S
LU EELT)
FS0/T ee 9070w sMi@ T EEZRELE]
2 5} !
o pemensy g 51983 paunowly DAd H
nsare A i
JOWW QWnd 01Ul Pasm FREWIEY '
WOyOR T PEO)I2A0 Yjim dEu- vcw-uu. 4010w AWNd 01Ul PBIIM : dwez pepedy
u3Lvis 90 33818VD oS aus Corioeing projseno i i 121645 Gues
....... 3

=_d

01 ©N 03 WE YIIno) [BJIney
Pum £7 01 1D SUUDD “Wid YN
1ennau ssn o) Bulsim BUIney

i
TR, oo
- <
0L ON 0} UId WIING; [BJINSU
(=]

Pue £ 03 4D 19uu0d "uid YiIno;
184¥nau 250 0] Buidim [BsNSU

==
=
—
So
A
A
AOSS

+—n uid YI4Noj pue yluE3 |BUCINPPY

A .»F&
t.%llw O o ___mmm. g W

Wi GI4N0) PUP UISEI (BUONPOY _ [
o 0 L=
LT Ly
A=
[0 [ 1 oo @ A @
N ¢ n n ¥ SOLOW NV N & 2 " B HOLOW NIVW
mollen i@ Amm PRy MONS - Mg MM P

poods-e|buls ONINIM peads-om) ONINIM



B!
T
ﬁ
T
i
;
,r]
v
T
1J
.
T,
r

LEVELLING

A precision engineers level should be used, and readings taken across the bed at the headstock
and tailstock ends, and in two positions on the front and rear bed shears in a longitudinal direction.
If the floor is not accurate, it may be necessary to place wedges under the edge of the cabinet
base, preferably in positions adjacent to the bolt holes.

ELECTRICAL WIRING

The external wiring of the machine to the mains supply should be carried out by a competent
electrician, and all wiring should be of a permanent character. All internal wiring is carried
within the cabinet base, properly shielded to provide a high degree of safety. It is essential that
a really efficient earth is provided in the installation as shown in the wiring diagram opposite.

The lathe may be fitted with either a single speed motor or a two speed motor and appropriate
wiring diagrams are shown opposite.

It is important to note that certain electrical safety devices are built into these machines
for the protection of the operators, and they should be properly understood before the motor

is put into regular use.

I. In the right-hand side of the cabinet base is a lockable drawer which prevents unauthorised
use of the machine. In order to start the machine, this drawer must be UNLOCKED.

2. A special safety switch is built into the end guard, so that if the end guard Is removed for
attention to the change gears or driving belts, the motor is automatically isolated for
safety. Replacement of the end guard and tightening of the holding screws resets the
electrics ready for use. The starting lever should always be in the * off " position before
the end guard is removed (see page |3).

3. A no-volt release is incorporated in the electrical circuit which is correctly set before
leaving the works. The adjustment may have been jarred during transit however, and this
release should be tested at the first opportunity. The method of test is as follows.

Switch off the main switch at the panel. Then put the starting lever in the starting
position (see page 13) and switch the mains on again. If the machine starts up the no-volt
release is NOT working correctly and should be adjusted. This is done as follows. First
switch off the main switch on the panel and put the starting lever in the “ on " position.
Then release the lock-nut under the switch lever at the back of the headstock and screw
in the actuating bolt until the switch plunger is fully extended. Then switch on again at
the panel and unscrew the actuating bolt so that the plunger is gradually depressed until
the electrical circuit is made and the motor starts. Return the lever to the * off  position
to ensure that over adjustment has not been made thus preventing the circuit breaking.

Re-tighten the locknut.
This adjustment should be checked from time to time to ensure that the safety device

is functioning correctly.



o

. Top up with correct oil each&repk.

’ Grease the Matrix clutch monthly.

Clean and lightly oil daily.

Oil once every week.

LUBRICATION

CHART




AR TR A TR AR VR Sa p By By R B B B B R

\t

LUBRICATION

The accuracy and life of the machine depend on correct lubrication and before the machine
is used, all oiling points should be properly lubricated. The lubrication chart opposite gives
information on the points which need daily, weekly or monthly attention. It cannot be stressed
too strongly that all the points marked with ablack circle should receive daily attention to
ensure the efficient operation of the machine.

When the machine is despatched from the works, the headstock and gearbox are filled to the
correct levels with Shell Tellus Oil 27 and Shell Tellus Qil 33 respectively. Tellus oils may be
obtained from Shell Oil Companies throughout the world, but in case difficulty is experienced
in obtaining these particular grades the physical characteristics of these oils are given below.

Shell Tellus Shell Tellus
Oil 27 Oil 33
Specific gravity at 60°F. ... 0.870 0.876
Flash point closed ... 390°F. 410°F.
Pour point ... —20°F. —20°F.
Viscosity Redwood No. |:  70°F. 310 secs. 750 secs. .
140°F. 68 secs. 112 secs.
200°F. 4| secs. 52 secs.

THE USE OF AN INCORRECT GRADE OF OIL IN THE HEADSTOCK IS LIABLE TO CAUSE
OVERHEATING AND POSSIBLE DAMAGE.

Oil levels in the headstock and gearbox should be checked weekly. Always stop the machine
when checking oil levels to allow the level to settle so that a true reading is obtained. If this
precaution is not taken there is a risk of overfilling, which will result in the generation of excessive

heat and loss of oil by leakage.

After the machine has been in operation for 150 to 200 hoursvboth the headstock and gearbox
should be drained, flushed with clean flushing oil and then refilled with the appropriate grade

of oil to the correct level.

The motor bearings should be checked periodically to ensure that they have an adequate supply
of the grade of grease recommended by the motor manufacturer.

The bearings of the pump motor (where thisis supplied) should be lubricated with Shell Alvania 3
grease or a water repellent grease. '



M
th
Headstock alignment check
Tailstock alignment check
10




CHUCK MOUNTING
The American long taper key drive spindle nose to LO standard has been selected to overcome

the danger of chucks and faceplates becoming detached when the spindle is stopped rapidly or
reversed.

When fitting chucks to the spindle nose, care should be taken to see that the centre and centre
bush have been removed before attempting to fit the chuck. Care should also be taken to ensure
that the taper and key on the spindle nose and the internal taper in the chuck are scrupulously
clean, since any dirt or chips lodging on either of these surfaces will upset the accuracy of the

machine, cause damage to the mating surfaces, and prevent the chuck locking on the spindle

taper.
The spindle nose draw nut engages the thread on the back of the chuck, and when it has been

screwed up hand-tight, the special “ C" key supplied should be engaged in the slots and the
nut tightened. It is advisable to give the “ C" key one or two sharp blows with a mallet.

Extension tubes should never be used on the key.
When releasing chucks or faceplates from this type of spindle nose, the draw nut will auto-
matically free the chuck from the taper. Care must be taken to ensure that the chuck does not

slide off the spindle nose and damage the lathe bed or saddle.

ALIGNMENT CHECKS
When the machine has been completely installed and connected, it is advisable to check the

alignment of headstock and tailstock. All machines are accurately aligned before despatch, but

transit shocks may render a check necessary.

Headstock alignment

Place a length of mild steel bar in the chuck and take a light cut over the O.D. of the bar for
about 6” of its length. (Do not use the tailstock centre as a steady during this test). A micrometer
reading at the two ends of the turned diameter (A and B in the sketch) should be the same. If
the two readings are not the same, the headstock may be easily re-aligned by releasing the

headstock holding down bolts and immediately re-tightening them.

Tailstock alignment
Place a 12" long ground steel bar between centres. Fix a dial gauge to the topslide with its
anvil running along the horizontal centre line of the bar. By traversing the saddle along the bed
an accurate check on alignment may be made. If any error is found it may be rectified by adjust-
ment of the two set-over screws in the base of the tailstock. (See page 23).
It is important to check that all holding-down bolts have been securely tightened after any

adjustments have been made.



NSV

\ [1200{ 500 | 205 | 85
)
/| 760|315 130

s

SHELL TELLUS OIL 27 0589 4

I THE COLCHESTER LATHE CO LTD ENGLAND.

JANTT TNV

1500 [ 625 | 256 | 106

T,
S| 900 | 394 162
N

750 | 312 | 128
(APl450]197] 81 | 34

SHELL TELLUS OIL 27 0587 4N

12

control
levers

Spindie speeds using single
speed motor

Spindie speeds using two
speed motor

U L T I I I 5 4 ™ ™ o e e o e



OPERATION

The illustration opposite shows the various controls and a fuller description of these and
of the main components of the machine is given in the following pages.

HEADSTOCK

To start the machine CHECK THAT THE DRAWER IS UNLOCKED (see page 7) and switch
on at the main panel.

The rotation of the main spindle is controlled from the front of the headstock by means of the
“Safti-lok” starting lever, (1) which incorporates a safety device to guard against the machine being
started accidently. Pull the starting lever forward against the spring pressure, then lift upwards.
This action will start the motor through an air brake starter, and the lever will remain in this
position until it is desired to stop the spindle.

The starting mechanism incorporates a no-volt release. In the event of an electrical supply
failure, the machine can only be restarted by moving the control lever to the * off ™" position
and then restarting in the normal manner. Correct operation of this safety feature should be
checked periodically (see section * Electrical Wiring ”* page 7).

If specially ordered, a Matrix multi-plate machine tool clutch may be incorporated in the drive,
in which case the starting lever controls the engagement of this clutch, the motor being left
running all the time the main switch is on. (This clutch is supplied as standard on machines
constructed for operation on single phase or D.C. supply). Machines fitted with a Matrix clutch
do not have the “ Safti-lok " device incorporated in the starting handle.

To stop the spindle, return the starting lever to its original position. On direct start machines,
downward pressure on the starting lever operates a two-shoe Ferodo lined brake inside the
driving pulley causing the spindle to stop instantaneously. This brake cannot be fitted on
machines with Matrix clutch.

In the case of 3-phase A.C. machines only, the rotation of the main spindle may be readily
reversed by means of the finger-tip reversing switch (4), inset into the starting lever. Because of the
use of the American long taper key drive spindle nose there is no possibility of chucks or face-
plates *“ running off " when the spindle is reversed or stopped. (See page 11).

Speed selection is by two levers on the top (2) and one lever in the front of the headstock(3). Each
lever has two positions, thus providing eight spindle speeds, but this range may be increased to
sixteen by the use of an optional two-speed motor. In the latter case, the two-speed control
switch will be found on the right of the main electric panel. Charts of both ranges, giving the
lever positions are shown opposite. '

THE SPINDLE AND HEADSTOCK GEARING MUST ALWAYS BE STOPPED BEFORE
MOVING ANY OF THE CHANGE SPEED LEVERS. :

13



MAST ER I.E/VERS

S et P BN W S

PR

Gearbox control levers

ENGLISH - THREADS PER INCH

METRIC-PITCH IN M/M

SLIDING FEEDS IN THOUSANDTHS

[ SURFACING

3

SLIDING

60 56 52

48

40

38

36

D B -sMM [ 005 005

006

75 M/M

G

24

20

MM | 010

125 M/M

013

IS MM

MADE BY

THE COLCHESTER LATHE CO. LTD. D A

15 14 13

12

It

10

2MM | 020 021

2-5M/M

025

IM/M

COLCHESTER

ENGLAND ClA

73 7 63

6

5%

5

2

4 MM | 039 042

5M/M

‘050

6M/M

‘058

FILL WITH SHELL TELLUS OIL 33 TO MARK ON SIGHT GLASS

OIL OBTAINABLE FROM SHELLOILCO

Feeds & threads available from Master gearbox

MPANIES THROUGHOUT THE WORLD

THREADS PER INCH
DO M | N IU N LEVERS SLIDING FEEDS IN INCHES-SURFACING 3 SLIDING.
112104 ] 96 | 92 ] 88 | 80 ] 76 | 72 | 64
D | B 50250025 005 | 003 | 003 | 0035]-0035 | 004 | 0045
AR 48 | 46 | 44 | 40 | 38 | 36 | 32
MADE BY -005 | -005 | -006 | -006 | ~006 | -007 | -007 | -008 | -009
28 | 26 | 24 | 23 | 22 | 20 | 19 | 18 | 16
THE COLCHESTER LATHE GOLTD. | ) | A o0 T575 | 013 | 013 | 014 | 015] 016 ] 017
COLCHESTER 4 |13 | 12 | 1z ] 11 |10 |9 | 9|8
ENGLAND C [ A 2o Tozr 025 [024 | 025 | 027 | 025 ] 037 034
WHEN USING 42° 7 [ 64 ] 6 [ 52 ] 5Ss | 5 ] 43] 45] 4
DRIVER GEAR C | A 535 0s2 | 045 | 048 | 050 | 055 | -058 | -061 | 063
— US OIL 33 TO MARK ON SIGHT GLASS. OIL

FILL WITH SHELL TELL!

OBTAINABLE FROM SHELL OIL COMPANIES THROUGHOUT THE WORLD.

Feeds & threads available from Dominion gearbox

14




!
v
!
A .
+
T,
+
T
1.51
ﬁ
=
r
-
J
A
1

-
hi_i Sy,

GEARBOX (ENGLISH & DOMINION)

Two alternative types of quick change gearbox may be fitted to the lathe. The standard
gearbox (i.e., that normally fitted to gap bed machines) provides a range of 45 longitudinal and
cross feeds, 45 threads covering the Whitworth range, and |12 metric thread pitches. The alter-
native gearbox, (i.e., that normally fitted to straight bed machines) does not provide metric
pitches and covers a slightly different range of feeds and Whitworth threads (including 11} and
23 t.p.i.). The full range of feeds and threads for both gearboxes is shown opposite.

Control of the gearbox is by four levers (1-4) and a tumbler shaft (5) as illustrated. The tumbler
shaft is provided with a spring-loaded plunger which engages in holes in the front of the gearbox
cover, to provide positive positioning and locking. There are two selection levers (1) and (2)
at the left-hand end of the gearbox, each having two positions. By manipulating these two
levers in conjunction with the tumbler arm a range of 36 feeds and threads are obtained. The
remaining 9 feeds and threads are obtained by substituting the 42T change gear for the 21T
change gear on the top driver position, and remeshing the gear train. The 42T change gear
will be found alondgside the 35T change gear on the gearbox driving shaft. A third lever (3)
disengages the leadscrew when this is not actually required for screwcutting, and is also pro-
vided with two other positions, one for Whitworth threads, the other for metric threads.

A further lever (4) situated high up on the front of the headstock controls the directions of the
feeds, reversing them ‘as necessary. THE SPINDLE AND HEADSTOCK GEARING MUST BE
STOPPED BEFORE ANY OF THE LEVERS CONTROLLING THE GEARBOX ARE MOVED.

A shear-pin device is fitted as a precautionary measure to protect the leadscrew against over-
load. A broken shear-pin may be easily replaced by removing the top gear in the train, then the
splined sleeve which carries the gear. The broken portion may then be tapped out of the sleeve
from the side opposite to the splines. To remove the other broken portion, the shaft should
be rotated until the pin hole is opposite the slot in the housing and swing frame, then the broken
pin may be knocked straight through and it will drop out through the slot. The new pin may then
be inserted and the top gear and sleeve re-assembled.

The leadscrew should never be allowed to revolve except when screwcutting, and before use
should always be cleaned between the threads and lightly oiled.

15



APRON (knock-off type)
Longitudinal and cross-feeds are selected by means of a plunger (1) shown in the illustration.

Longitudinal feeds are obtained with the plunger fully extended; cross-feeds with the plunger

fully depressed. A central or neutral position is also provided which is selected when neither
longitudinal nor cross-feed is required.

The feeds are engaged by lever (2) which incorporates a safety device to prevent overloading.
This mechanism is pre-set at the Works to trip out at 350 Ib end pressure. It should give
long, trouble-free service.  Screwing the handgrip anti-clockwise decreases the tension and

lightens the tripping pressure. When screwcutting, the leadnut Is controlled by depressing
the lever (3).

THREAD CUTTING
I. Threads available from the gearbox

The screwcutting dial has four numbered divisions and four subdivisions marked on its surface,
and is clearly visible from the operating position. The housing carrying this dial may be pivoted
and is retained in position by a knurled thumbscrew; when not required for use it may be
swung out of contact with the leadscrew, only being used when screwcutting is actually carried
out.

To cut an even number of threads per inch, e.g., 12 t.p.i., the leadnut may be engaged at any
division on the dial. For cutting an odd number of threads per inch, e.g., 13 t.p.i., the leadnut
must only be engaged on the numbered divisions, whilst to cut fractional threads, e.g., 43 t.p.i.,
the leadnut must only be engaged at the division marked | on the dial.

When engaging the leadnut, care should be taken to ensure that the appropriate dial division
coincides exactly with the fixed point on each pass.

16




THREAD CUTTING (contd.)

For metric threads the screwcutting dial cannot be used. The nut must be closed over the
leadscrew and the machine reversed by means of the reversing switch after each pass and tool
withdrawal. The nut must not be released until the thread is completed.

The setting of the gearbox levers for threads available from the gearbox is shown on page 14.

2. Threads not available from the gearbox

To cut threads which are not available from the gearbox, it is necessary to use special change

gears which are available as extra equipment. To obtain the number of teeth in these gears the
following formula should be used.

3xXxY Driver gear

Thread to be cut= =
10xT  Driven gear

Where X = hole in feed box (see sketch below).

| with selection levers on AC
Y = 2 with selection levers on AD
4 with selection levers on BC
8 with selection levers on BD
and T = No. of threads per inch to be cut.

Values for X are as follows.

METRIC GEARBOX DOMINION GEARBOX

0O 0 0o o o0 0 00 o o o oo o o 0O ;
30 28 26 24 22 20 19 I8 16 28 26 24 23 22 20 1|9 I8 16
Example
It is required to cut 21 t.p.i.

The values of X and Y may be chosen from any of the relevant numbers given above, and there
is no rule about the choice. If the values selected give impossible numbers of teeth try other
values of X and Y and continue doing so until a suitable result is obtained.

3x28x2 28 Driver
In the case of 2| t.p.i. —_—
10x21 35 Driven

To use this formula for metric pitches it is necessary to convert the pitch in millimeters to

threads per inch. To do this the following formula is used:—

254

tp.l =
pitch in m.m.
Note.——The largest gear that can be accommodated on the driver position with the standard

120T/16d.p. idler gear is 60T, and on the driven position, 64T.
3. Multi-start threads

Multi-start threads may be cut in any one of three ways:—

I. By repositioning the compound slide one pitch forward for each start. It will be realised,
however, that the accuracy of this method depends upon the operator.

2. By using an accurately-divided driver plate and turning the workpiece one division forward
for each start.

11




The end gear train of the
non-gearbox machine

THE MASTER 6z INCH
LATHE

THREADS PER INCH

THREADS]|4 [455]6 [7]8]9[10]11]12]13]14]15]16]18]19[20]22[24]2628[30[32[40]44]48]56]60]

DRIVER [[454030/40[45[30[30]30]45]30[30[30]40[30[30]40[30]45[25[30[30[20[45[40}45[40[30[40]

DRIVEN 80|70, o[ .166] . [65[70] |60]80[66[80]70[80]
100100 0/80|801- 180(80/80(50(70/60[60/°> 60

DRIVER ||| | 50[80 OIL%! 60" o[*° s0}50*° [25[sofof2s 250

DRIVEN [[30]30]25]45/60140]45]s0{66]60]65]70]100/80]50]76]100f100f100]10a1o0f100]10or0ofrodfiaofroafron

PITCH IN MILLIMETRES
I PITCH [[4 B-5] 3 [2-s] 2 [i7s]s5]res[ s [-o[-87s[-7[-6[-5
DRIVER |[45]45]45 [45]|45[45]|45]|45145[30(45]45]45[45]45
DRIVEN [[76]76]76] _Toof100] 76]76|76 |70160]7676] 70| 76
DRIVER[[80]70][60] " [80]70]60]50 [40{50]25]30[25]20]20
DRIVEN [[50[50{50[76[76]76 [100[100[1 00{100[ 00100/ 90 {90 [100

OIL CHANGE GEARS AND SLEEVE WITH SHELL TELLUS 33 OIL
OIL OBTAINABLE FROM SHELL COMPANIES THROUGHOUT THE WORLD ;

-

Threads available on non-gearbox machine

18

I R

!

1




THREAD CUTTING (contd.)

3. By advancing the driver gear a calculated number of teeth to advance the spindle by one
Pitch of the thread to be cut. The accuracy of this method is that of the machine. In order
to use this method a driver wheel should be used in which the number of teeth is a factor
of the number of starts, to be cut, e.g., to cut a 6 start thread use the 42T driver gear;

dividing 6 into 42 gives 7 which is the number of teeth to move the driver gear to obtain
each start.

To use method 3 cut
gear. Turn the idler g
making sure that the m
remaining start.

one start. Mark the meshing tooth on all gears, then remove the idler
ear through the calculated number of teeth and replace the idler gear,
eshing marks correspond exactly. Cut the next start and repeat for each

FEEDS AND THREADS FOR NON-GEARBOX MACHINES

In machines where a gearbox is not fitted 2 special two-speed feed arrangement is incorporated.
The. two feeds are selected by sliding the double gear on the feed shaft into one of the two
Positions provided by means of the knurled collar, engaging either the fast or slow feed rate as
required. A full set of change gears is supplied as standard, covering all the more useful threads.

lllustrated opposite is the screwcutting chart for these machines, from which the combination
of gears for all normal threads may be read at a glance. The method is simple and is as follows:—

The number of threads per inch is read off along the top line and immediately beneath
may be read off the gear train required to obtain this value. Information is also given as to

whether the gears need compounding or not. The same remarks apply to the metric pitches

which are available. In order to obtain Whitworth pitches between those listed the necessary
information may be calculated as follows:—

Formula to obtain change gears for special threads.

No. of threads per inch in leadscrew  Driver
No. of threads to be cut " Driven

EXAMPLE
To cut 26 t.p.i.
Since these machines are fitted with 6 t.p.i. leadscrews, the following is obtained:—
6 Driver

26 Driven

As there is no 6T gear each figure should be multiplied by a common factor so that the value
of at least one of the figures corresponds with one of the available change wheels. For example:—
6x5 30 _Driver
26x 57 130" Driven
As there is no 130T gear in the set, the gears must be compounded to give the same ratio.
30 30x50 Drivers

130 65x 100 Driven

19

be




ENGLISH

X

q
m\ 12

Y

1in

|

!

S |2

2

‘5 |48

24

5 |2

24
2%
2
24
24
2%
24
2
2
2%
24

24
24
LA
24
K )
2%
24
49
2
36
24
22
23
24
26
L9

CAF
CAIF
DAGF|
CA2F
DAGE
DA2F
CAIF
CB6F
DA2F
CBeE
CB2F
CB2F
CBeF
CB2F
DAIF

CAgE]

16
18
19
20
22
23
24
26
27
28
32
36
40
48
56
60

24

24
2%
24
2%
2
2
2
2%
24
24
2
24
24
2%

49
L8

DBgr
CB¥F
DBXF
DBGE
DB2F
DB2F
DB2F
DB2F
DB2F
CBIF
DB6F
DEF
DBeE
DE2F
DBIF
DB2E

SHELL TELLUS 33 WD @

20

P Y=1=1==1-L=X=l=X=1=
cm—tooo| [
WNO g Wne| |

52538

SHELL TELLUS 33

METRIC FEEDS & THREADS

—-Ho-mnT—_T
r I
03 osee|t0 DAE
035 cBiE|1]  DASE
04 cB2E |12 DAeE
0-45cB3€ |125 padF
05 CB4E 1‘0 CAIE
06 cBee(1'S  DAeF
07 DAIE 175 CAIF
0-75cBer [2:0 cazr
08 pa2E |25 cauwr
09 pa3e |30 caer
4 |35 oar |70 carF
120 40 paF |80 cax
&5 oa3F |90 casr
5‘0 DA4LF 100 CALF
55 pasF|12-0 caer
2% |6:0 paeF
| SHELL TELLUS 33N @@y

‘{1

SRR EERRR]

~

— =



GEARBOX (CONTINE NTAL)

The Continental gearbox has been devigned to give 3 foll
coversge of ytandard metric and
module pitches. The brief specification below thows the ramge of feeds and theead pitches available.

Number of Feeds 12

Range per rev. of spindle:

Longitudingl 004 men — 053 mem

Cross 002 mm — 025 mm
THREADS

Number of threads—Metric 3

Range 0) mm — |2 mm

Number of threads — Module 6

Range 03 -300

Number of threads—English n

&:.m\g addition change gears)

nge 1.5 — 60 threads per inch

Pitch of leadscrew é pitch

GEARBOX

Control of the gearbox is by four levers, two of them (No. | and 2) situated at the left hand
end of the gearbox having two positions each, one situated st the top of the gearbox (No. J)
having three positions, and a fourth located in the centre of the front cover (rjo. 4) having six
positions. By fitting the correct change gears for the required feed or thread, and manipulatin
these four levers, a range of 12 longitudinal and cro:q'“;. 31 metric thread pitches and lz
pltches covering the module range may be obtained.

When rlaced in the central position, the lever No. 3 disengages the leadscrew when this Is
not actually required for screwcutting.

A further lever No. S situated high up on the front of the headstock controls the directions
of the feeds, reversing them as n . THE SPINDLE AND HEADSTOCK GEARING MUST
BE STOPPED BEFORE ANY OF THE RS CONTROLLING THE GEARBOX ARE MOVED.

THREAD CUTTING
I. Threads available from the gearbox

When cutting metric, module and Enslish thread pitches, the nut must be closed over the lead-
screw and not released until the thread is completed. After each pass and tool withdrawal, the
machine should be reversed by means of the reversing switch until the tool has returned to the
correct position for commencing the next pass.

Setting the machine for thread cutting is accomplished by fitting the appropriate change wheels
and selecting the correct positions for the gearbox levers. The correct settings may be readily
ascertained by referring to the nameplates shown opposite.

21




Multi-Start Threads

:’lulél-start threads may be cut in any one of three ways.
. y re-

y positioning the compound slide one pitch forward for each start. It will be realised
owever, that the accuracy of this method depends upon the operator.
2. By using an accurately divided driver plate and turning the workpiece one division forward
for each start.

3. B_)’ advancing the driver gear a calculated number of teeth to advance the spindle by one
Plt.ch of the thread to be cut. The accuracy of this method is that of the machine. To use
this method the number of teeth on the driver wheel should be a factor of the number
of starts to be cut: e.g. when cutting a 12 mm pitch 4 start thread the 24T. driver gear Is
USEd.; dividing 4 into 24 gives 6 which is the number of teeth to move the driver gear to
obtain each start. To use this method, cut one start. Mark the meshing tooth on all gears
then remove the idler gear. Turn the driver gear through the calculated number of teeth
and replace the idler gear making sure that the meshing marks correspond exactly. Cut the
next start and repeat for each remaining start. ‘

Whichever method is used, the leadnut should be engaged to cut the first start and not released
until all the starts have been completed.

English Threads

By fitting a number of additional change wheels in place of those supplied as standard with the
machine a full range of English threads from 2.5 to 60 threads per inch may be cut. These threads

are cut in the normal manner by fitting the appropriate change gears and manipulating the four
gearbox levers to the correct positions for the thread required. The required change gears and

lever positions are given on the nameplate shown on page 20. These extra gears may be obtained
as additional equipment.

THREAD CUTTING
2. Threads not available from the gearbox

To cut threads which are not available from the gearbox it may be necessary to use special

change gears which are available as extra equipment. To obtain the number of teeth in these
gears, the following formulae should be used:

Metric Pitches
DRIVER - 40P

DRIVEN VZ

Where P = Pitch required to be cut.

V = 7 for centre lever position |
8 for centre lever position 2
9 for centre lever position 3
10 for centre lever position 4
Il for centre lever position 5
12 for centre lever position é

Z = 4for lever settings DBE
5 for lever settings DBF

8 for lever settings CBE

10 for lever settings CBF

16 for lever settings DAE

20 for lever settings DAF

32 for lever settings CAE

40 for lever settings CAF

22




Example:

It is required to cut 0.65 mm pitch

The values of V and Z may be chosen from any of the relevant numbers given above, and there
I8 7o rule about the choice. If the values selected give impossible numbers of teeth try other
values of V and Z and continue doing 30 until a suitable result is obtained.

In the case of 0-65 mm pitch: 65

O.GSmmpitdnz-'Emmpndo

DRIVER 40P 40 « 65 3

T 7 ec—————————— " a—

DRIVEN VZ 10x8x 100 40

3 2% %
This must bocompwndodmdnsﬁn;&mn.tbm:-—: —_ —
0 & 10
2% 9
This is ficted to the swing frame: — » —
120 &0
Module Pitches:
DRIVER  880M
DRIVEN  7vZ
Where M = Module required to be cut and V and Z have the same values as for metric pitches.
Example:
4
It Is required to cut |.4 Module: 1.4 Module = — thus:
10
DRIVER  880M 880 x 14 "
DRIVENm vZ m7x7>c 32«10 'ﬁmu
English threads per inch
DRIVER 960
x
DRIVEN VZT

Where T = threads per inch required to be cut and V and Z have the same values as for the
metric pitches.

127
The result will be compounded with the Eo change gears thus:
DRIVER 127
e
DRIVEN 120
Example:
It is required to cut |5 threads per inch
DRIVER 127 90 172 960 127 24 127
X — = e X — = X —— e X —
DRIVEN 120 VZT 120 8x 10x IS5 120=130 120
24 127
This is fitted to the swing frame thus: — x —
120 30

23



et

The drive and end gear train

24

The machine bed

The taiistock




THE SADDLE AND SLIDES

The saddle is of the boring type on gap bed machines, and of American winged type on straight
bed_ machines. It is secured to the bed by adjustable gibs at front and rear, and can be locked at any
position on the bed by means of a locking clamp. The swivel slide is radially graduated for accurate
setting on the cross slide. Large diameter micrometer dials are fitted to top and cross slides; each
graduatuor_\ represents 0.001 in. of tool movement or, in the case of the metric slides, each graduation on
the top slide represents 0.05 mm and on the cross slide 0.025 mm.

An American pillar type tool post is fitted as standard, intended for %" 13" tools. Alternative
tool posts are available as additional equipment—either a four-way automatic indexing turret
or the Colchester multi-type tool post.

THE BED

The lathe bed should be cleaned down as often as possible by brushing to keep it free from
cuttings. Do not use an air line, which will drive chips under the sliding surfaces and blow away
the protecting oil film. After each cleaning, the bed should be coated with Shell Tellus 33 Oil
to prevent rust formation.

To remove the gap piece on gap bed machines, unscrew the four Allen screws. No dowels
are fitted.

To replace the gap piece, it is important first to clean both the block and the locating faces
thoroughly. Then replace the gap piece, and locate the four screws, two vertically from the top
and two horizontally, one in each outer edge of the gap piece. Bring the saddle up to give rough
alignment and tighten the screws down lightly. Then, if the locating faces are properly clean the
gap piece may be aligned with a few taps in the required direction with a hide mallet. Finally
tighten the four Allen screws.

THE TAILSTOCK

The barrel is graduated in inch and metric divisions and induction hardened both in the No. 3
morse taper bore and on the outside diameter. All standard tang drills are driven by the tang
and eject at zero graduation. A tool height indicator line is stamped onto the front face of the

vnose chamfer to assist in setting tools to the correct centre height when a workpiece is being

held between centres. There are two parts to the tailstock casting, the base proper which slides
along the bedways and the tailstock body, which may be moved laterally on the base. This
movement or ‘‘ setting over ’’ allows shallow tapers to be turned without the need of a special
taper-turning attachment. The tailstock is set over by first releasing the bedway clamp lever
and adjusting the two set-over screws fitted for this purpose. THE TWO SPRING-LOADED
SHOULDER BOLTS HOLDING THE BASE TO THE MAIN CASTING DO NOT REQUIRE
SLACKING OFF AT ANY TIME. Quick lever clamping is employed to lock the assembly in
position on the bedways. The tailstock barrel is locked by a lever operated clamp.

DRIVE

Drive to the headstock from the motor is by belt. The motor platform is adjustable to allow
for the correct tensioning of the belts. When correctly tensioned, a flat belt should have approxi-
mately 1" (12 mm.) free side movement in either direction under finger pressure. In the case of
vee-belts the corresponding free movement should be approximately " (19 mm.). -

25



4 'J'V""JJ';;

G o T

",

Y



J

ADDITIONAL EQUIPMENT
THE SUDS UNIT

The cabinet base has a built-in storage tank in the centre with a pump fitting position already
provided. A return pipe from the centre of the tray takes coolant back to the tank, and a gauze
strainer is fitted to the pipe at tray level to ensure that no chips are returned to the sump. The
flexible piping supplied with this unit is fully universal and will feed the coolant to any required
position. The supply of coolant is easily controlled by the ball-type shut-off valve which is leak-
proof. The whole unit has been designed to eliminate the leaks which are usually inherent in
coolant systems. The capacity of the unit is 5} gallons.

Soluble oil emulsions

For most work a soluble oil emulsion will be chosen, since this will almost always be adequate
for the work in hand, and will be preferred by the machine operator.

When screwing with a die-head, tapping, or reaming, some extra coolant applied locally may
be required. If much work of this type is contemplated, it may be better to use an emulsion of
an extreme pressure soluble oil in the machine sump. A good quality oil of this type will give
results equal to neat cutting oil whilst retaining the cleanliness of soluble oil.

Good quality soluble oils should always be chosen and mixed in accordance with the suppliers’
recommendations. ‘The following grades have been tested and used in our own works with
complete satisfaction:—

Shell Dromus Oil B—conventional milky soluble oil mixed with water in the ratio 25/30: 1.
Shell Dromus Oil D—translucent soluble oil mixed with water in the ratio 40 : |.
Shell Dromus Oil 908—extreme pressure oil mixed with water in the ratio 10/15: I.

Soluble oils and machine maintenance

No soluble oil emulsion, however good, can completely prevent rust without help from the
operator. The machine should therefore be cleaned down regularly and the bright parts wiped
over with machine oil. It should never be left, especially over weekends or holidays with wet
swarf on the bed or slides. When the work in hand requires the saddle or tailstock to be clamped
in one position for long periods it is advisable to spread a little machine oil on the bed beforehand
to ensure a film of oil between the surfaces.

The sump should be emptied, cleaned out and re-filled with newly mixed soluble oil at regular
intervals.

217






St R LR

SQUARE TURRET TOOLPOST

To index the toolpost into any of the four operating positions, the central hand lever is moved
in an anti-clockwise direction until two distinct detents have been felt. This indicates that the
plunger mechanism has released the locating plunger and that the indexing mechanism is en-
gaged. When the central hand lever is returned in a clockwise direction the turret will index
into the next position. A further short movement of the lever in the same direction will lock the
turret block to the topslide.

By using the retracting plunger method of indexing, the turret block Is able to remain on its
bottom face whilst being indexed, which effectively prevents the entry of swarf between the
locating faces. The turret block can also be swung into any position without the use of the
indexing mechanism.

The turret block will accommodate up to four tools or toolholders having a height up to K"

STATIONARY STEADY

Of extremely rigid design, this attachment is very easily opened and set. Three adjustable
fingers are provided, and the maximum capacity Is 4" bar diameter.

The inserts are of sintered bronze and are quickly replaced, being a press fit into the ends of the
fingers.

The whole attachment is readily attached to the bed by a clamp bolt, and can be removed very
rapidly when not required for use.

REAR TOOLPOST

As an aid to production, a rear toolpost is available for fitting direct to the cross slide, which is
drilled and tapped ready to receive it.

Two tool positions are provided so that the tool may be fitted either in the conventional
manner, or in the inverted position.

Using this tool post (with the tool fitted in the conventional manner) left hand threads can be
very easily cut.

Supplied complete with all the necessary fixing screws, the only fitting required is the physical
bolting of the base pad to the cross slide Tee slots are provided in the base pad so that the tool-
post may be adjusted in position on the base. Maximum tool depths that can be accommodated

in either position are §°.
The standard spanners and Allen keys supplied with the machine will fit all the nuts and screws
in this assembly.



e aF o wl el i e e e e e e e ) el e b G




COLCHESTER QUICK - CHANGE TOOLPOST

This ?pe of toolpost may be fitted to existing standard topslides without modification.
Designed to cut down time on repetition work, it enables any number of toolholders to be used.

The toolpost unit comprises a basic clamping block to which a variety of toolholders may be
fitted. Each toolholder has a vertical adjusting screw and when a tool in its holder has once been
set to centre-height it may be removed and replaced any number of times in sure knowledge
that the tool will be at exact centre height each time it is clamped back into the block.

Four types of toolholder are available:

The standard toolholder will accommodate all normal types of tool up to a maximum size of
¥ x 1" (19 x 254 mm).

The vee toolholder accommodates boring tools with parallel shanks up to §° (16 mm) diameter.

The morse taper holder is suitable for all tools having a No. | M.T. shank.

A parting-off toolholder, complete with spare tools, is now available.

LOW VOLT LIGHTING
The * Anglepose " lighting unit offers the positive virtue that it will really * stay put” in any
position through all normal speed and cutting ranges.

The unit is supplied complete with transformer, bulb, switch, and fuses. Fitting instructions
are given below. If the unit is supplied as initial equipment with the machine, the transformer
and fuses are already fitted in the electrical panel and items 4 to 7 inclusive of the fitting instruc-
tions can be omitted.

Instructions for fitting low-volt lighting

Switch off the main switch.
2. Mount the carrying block on the rear of the headstock casting after first removing the
grub screws from the two drilled and tapped holes provided for this purpose.

3. Insert the screwed end of the supporting screw in the block and secure with spring washer

and nuts.
4. Remove the three cap head screws securing the main electric panel and pull the panel
forward, which will automatically isolate the mains supply from the panel.

5. Fit the toggle switch provided to the front of the panel and connect up. (See wiring dia-
gram page 6). .
Wire up the transformer for the correct voltage as indicated by the coding on the wires.

o

Screw transformer to panel using pads provided. '
Run cable from lamp through the hole provided in the top of the motor casing.

Pass the end of the cable through one of the conduit holes in the panel casing, and connect
to the secondary (output) winding of the transformer via the switch.

10. Replace the panel and secure with the three screws.

0 ®© N

31



o et A —

RAPID THREADING UNIT (ENGLISH)



RAPID THREADING UNIT (ENGLISH)

Thumvdwowﬂuunmmudcachmrlnhamm&rudsuopmﬁwﬂm
faster than by normal methods. Threads may be cut right up to a shoulder at maximum speeds,

NIMMmyhmwmmumwmmMmummd
modern cutting tools.

MunnmmmmMmmwmﬁQMdepomb«uy
of threads being picked up incorrectly. An adjustable stop disengages the half nut automatically
at the end of a thread. The unit may only be used on Whitworth threads and it is not suitable for
metric, module, D.P. threads, or threads per inch ending in any fractions other than } or }, e.g.,
5§ tp.i.

A graduated dial may be set in any one of four positions for cutting the following threads.

0—Safe. It is impossible to engage the lead nut.

|—Quarter threads per inch—e.g., 4].

2—Half threads per inch—e.g., 4}.

4—Whole threads per inch, either even or odd Nos.—e.g.. 8 tp.l.

Mounted below the saddle is a stop bar attached to the lathe bed, which carries an adjustable
stop. By setting this stop, the cut may be disengaged automatically in any desired position.

The lead nut lever operates a half nut below the leadscrew with a steady pad situated above the
leadscrew giving adequate support when cutting threads at high speeds. The knock-off lever
may be swivelled out of position so that the lathe may be used normally, without disturbing
the setting off the knock-off stop.

The necessary holes for mounting this unit to the apron at a later date are pre-drilled and
tapped during manufacture, and all necessary holding screws and locating dowels are supplied
with the unit. The only operations which must be carried out on site are the drilling and tapping
of the bed to accept the stop bar, and the fitting of a small lock plate to the normal lead nut
handle to prevent the apron half nut being accidently engaged.

33



RAPID THREADING UNIT (METRIC)

34

-~ rryadddd o



TLUWETELTEEELTLLELLLLLLL—

RAPID THREADING UNIT (METRIC)

Introduction of the Metric Rapid Threader Attachment reduces machining time for what is
normally regarded as the slowest operation and in so doing eliminates bottle-necks. It enables
gou to take full advantage of the speed and capacity of your Colchester Lathe. Screw-threads

"I‘\‘I“ pitch SOmm diameter can be cut at 1200 rpm. and is typical of the production rates you can
achieve.

Designed as a self-contained unit, it contains its own leadscrew nut and engagement mechanism.

There are no revolving dials to watch or need for manual co-ordination when cutting screw-
threads on a machine fitted with this unit. After setting the tumbler gear in the correct position
In the quick change gearbox for the required pitch all you have to do is set a control knob on the
unit to one of two positions and the selector lever on the front of the unit to one of five positions
according to the pitch to be cut. The leadscrew nut housed in the unit can then be engaged in the
predetermined positions with complete accuracy and infallibility.

An adjustable stop disengages the leadscrew nut automatically at the end of each cut; thus
preventing the tool over-running either into the work or chuck.

The tool is then withdrawn from the workpiece manually and the saddle returned to the
starting point. The tool is then fed in for the next cut and the handle depressed to re-commence
the cycle. This sequence is repeated until full depth of pitch is attained.

METRIC THREADS - settings

0-3 A4 -0 A4 35 E4
0-35 A4 Il v 40 A4
0-4 A4 -2 A4 4-5 D4
0-45 D4 1-25 B4 50 B4
0-5 A4 -4 E4 55 Q2
0-6 A4 15 A4 60 A4
0-7 E4 175 E4 70 E4
0-75 A4 20 A4 8-0 A4
08 A4 2-5 B4 90 D4
0-9 D4 30 A4 10-0 B4

12-0 A4

On repetition work, cycle times for screwcutting can be considerably reduced as it now
becomes possible to perform this operation at the high turning speed applicable to Tungsten
Carbide Tooling. It is not necessary to machine undercuts prior to commencing screwcutting as
the tool produces its own annular groove at the end of the thread. Instantaneous cut-out of the
saddle motion makes it possible to repeatedly cut tight up to a shoulder without risk of over-run.

The special adjustable bed stop does not prevent the machine being used as a normal lathe
because the knock-off lever can be swivelled out of position to permit normal sliding feeds to be
used.

The High Speed Metric Screwcutting Attachment is intended for the production of metric
pitches—either right or left hand—only. It cannot be used for Module, inch pitch or D.P. Threads.

35



|

Telescopic taper attachment



TELESCOPIC TAPER TURNER

This attachment can be used for producing tapers up to 10° in either direction.

hltf‘car'l be mounted directly onto the rear of the saddle without any modification other than
the Titting of a new saddle screw and nut which is supplied with the unit.

i th:e swivel slide is graduated in §° of arc and in }” taper per foot, and great sensitivity of control
s obtained when setting a taper by the use of the micro adjustment screw.

The cross slide handwheel is always used to control the tool and the base slide can be adjusted
along the bed so that the taper may be cut in any position.

The attachment will deal with a length of 12" of taper at any one setting.

| Afte_zr attaching to the machine, all that is required to prepare the taper turner for use is the
clamping of the connecting rod in the anchor bracket by means of the knurled thumb screw.

The fitting of this attachment in no way detracts from the use of the machine as a normal
centre lathe. Change-over can be simply accomplished by loosening the connecting rod clamping
screw and traversing the saddle towards the headstock to disengage the connecting rod from the
clamp. Then remove the anchor bracket from the bed so that there is no obstruction to foul the
connecting rod. By replacing the bracket and engaging the connecting rod the taper turner is
rapidly reset for use.

Great care should be taken when readjusting or altering the fit of the base slide in the taper
turner bracket, as any slackness will result in incorrect tapers.

To fit the taper turner

I. The saddle and cross slide are ready drilled to receive the attachment, the necessary holes
being drilled and tapped during manufacture.

2. Clean down the rear end of the saddle to receive the taper turner bracket.
Release the locknut in the centre of the cross slide handwheel.

3
4. Remove the two securing screws from the saddle screw keep and by turning the hand-
wheel in a clockwise direction withdraw the saddle screw.

5. Slide the cross slide to the rear of the saddle, remove the saddle screw nut and replace it
with that provided with the taper turner.

6. Insert the taper turner saddle screw from the rear of the machine into the saddle screw
nut, turning in an anti-clockwise direction until the splined end of the screw protrudes
about 11" from the front of the saddle, making the engagement of the splines in the pinion
and the taper turner saddle screw an easy operation.

7. Replace the saddle screw keep and secure. (Note: The lock nut from the original saddle

screw is not replaced, but should be retained in case it is needed when refitting the original
screw.)

8. The slide block assembly can now be fitted to the thrust block on the rear of the saddle
screw assembly. Engage the slides in the bracket and the slide block assembly on the slides,
which will enable the bracket to be bolted to the rear of the saddle using the pre-tapped
holes provided.

9. Finally, bolt the bottom slide extension piece to the rear of the bottom slide and affix the
connecting rod and slideway clamp to the bed.

37



S gy O g R A N B R B

Hydraulic Profiling Attachment
38




THE COLCHESTER SERIES 300 HYDRAULIC PROFILING UNIT

Designed for faster and more accurate profiling the standard equipment comprises a profile
slide assembly, a rear beam assembly for round or flat masters, a free standing hydraulic power
unit and a set of connecting hoses housed in a single flexible armoured conduit.

The Profile Slide Assembly

Mounted on the cross slide of the lathe, this is an integral unit consissing of the operating
cylinder, cartridge type servo valve, stylus lever mechanism and a swivelling Colchester Multi-
type Toolpost complete with one turning toolholder.

The cylinder has a 3 in. (76 mm) stroke and a maximum approach retraction speed of |10 ins,
(279 cm.) per minute. The low stylus pressure of 6 oz. (170 g.) allows soft masters to be used if
necessary, and the in-feed rate is lever controlled.

A swivelling Colchester Quick Change Toolpost allows toofing to be pre-set and enables tool
changes to be made without re-setting the slide assembly. Sufficient height adjustment is provided
to allow the tool to be set for forward or reverse cutting.

The assembly can be set at five alternative angles to the axis of the machine—either 90°, 60°,
°, 0° depending on the work to be produced and a copying accuracy of + 0005 Ins.
can be achieved. The change in copy diameter at 90° is- 5} in. and at 60° 5 in.

The Rear Beam Assembly

The beam fixes directly to the rear face of the lathe bed and provides a rigid datum surface
for carrying the master parallel to the axis of the machine.

Two beam brackets slide on the rear beam and provide a locating surface for the tailstocks
which accommodate round masters or flat templates. The tailstocks are adjustable for the
micrometer setting of the master or template.

The Hydraulic Power Unit

A free standing unit, designed to fit neatly at the rear of the lathe, has a § H.P. pumﬁ
producing a working pressure of 300 Ibs/sq. in. A pressure gauge is fitted and Independent switc
gear Is also incorporated.

The pump and oll filter can be removed as an assembly for inspection.

Turret Stop

An Indexing turret stop Is available as an optional extra to enable progressive In-feed to be
applied between roughing cuts. Six stops provide for five roughing cuts and one finishing cut to
be pre-set. Progressive settings of the turret stop enable roughing cuts to be taken at uniform
depth. The final cut follows the full form of the copy master.

Facing Beam

A facing beam Is also available as an optional extra. Dulfned for flat templates, it is secured
to the saddle of the machine and incorporates micrometer laterial adjustment.

BRIEF SPECIFICATION OF COLCHESTER SERIES 300 PROFILER

Cylinder stroke 3in Stylus load 6 oz.
Max. approach/retraction speed 110 in/min Change in copy diameter at 90° 5} in
Velocity characteristic 12in/min/0-001 in Change in copy diameter at 60° 5in

stylus deflection Working pressure 300 Ib/in?
Hydraulic reproduction accuracy + 00005 in Pump motor } h.p. at 1500 r.p.m.

39



s

THE COLCHESTER CHUCK/CHIP GUARD

N , and

This perspex and alloy guard can be used either as a chuck guard or a travelling chip glf;f: a“d
is supplied complete with mounting block. The necessary holes for fitting are Pre'dr.' € and
tapped before machines are despatched from the works. When used as a travelling chip guard,

it is mounted on the rear face of the saddle, and when used as a chuck guard it is clamped either

to the bedways in the case of straight bed machines, or to the rear face of the headstock in the

case of gap bed machines.

eeds, and also

The use of this guard eliminates the risk of injury to operators when using high sp

prevents the splashing of coolant over adjacent machines.

Close up view of capstan unit Perspex chuck/chip guard

40

J

N AR E S I S N o B i A e B v D o B e T e T o T T o T




-

- N N s W e

—

THIRD SHAFT CONTROL UNIT

Introduction

Of proven design and application, this integral electro-
mechanical unit affords a significantly effective ar-
rangement for localising the control of a lathe. Its out-
standlr_ug advantages centre around the single lever
operating control and the means for pre-selection of
speeds and feeds. Efficient and effortless operation
of the lathe is_from the hand lever at the apron which
controls starting or stopping and forward or reverse
rotation of the spindle with the leadscrew nut en-
gaged.

This equipment and the facilities thus available can
be built into the machine as an optional extra. By
Incorporating and controlling a two-speed motor, 16
spindle speeds are available for each machine.

Panel controls

On each lathe, the control panel is built into the front
of the cabinet before despatch. On the top, sloping
face of the panel is carried a switch panel having the
five operating switches used during working. On the
front face of the panel is located the main supply
ON/OFF switch. (2).

The two operating switches (3) at left of the panel
are marked clearly FORWARD and REVERSE respec-
tively and are used to pre-set the motor speed range
at either HIGH or LOW for both the forward and
reverse directions of spindle rotation. The use of
these two switches makes the third shaft control
system specially suitable for cutting metric pitches,
where the half-nut must be left in engagement with
the leadscrew until thread cutting is completed.

- Motor

A two-speed motor is employed, giving the same
range of sixteen spindle speeds as for standard centre
lathes.

Each motor so fitted includes an electro-magnetic
brake device, providing an instantaneous braking of
the main motor and drive when the apron control lever
is moved to the OFF position. This facility is also
extended with the inclusion ofan EMERGENCY STOP
button.

Apron controls
The control lever (1) is situated at the right of the
apron assembly, as shown, and has two functions;
(a) To start and stop the machine for normal re-
quirements.
(b) To select forward or reverse rotation of the
spindle.

41

A safety feature is incorporated to prevent accidental
starting of the machine. Before the control lever is
raised or lowered into the operating positions, it must
first be moved to the right in order to disengage the
locking mechanism which retains the lever in the OFF
position. Raising the lever then sets the spindle in -
forward rotation, depressing the lever stops the motor
instantly then reverses the direction of rotation.

Application

The electrical control panel, built into the cabinet
houses the pre-select switches providing high or low
spindle speeds in either forward or reverse direction
of rotation. The switches can be pre-selected to give
a slow feed and fast return with subsequent reduction
in production time when screwcutting. For example,
forward speed of rotation can be set at the correct
rate for metric thread cutting using the low range
whilst the reverse spindle rotation carrying the tool
back for the next pass can be set at the high range.
The centre switch button (4) serves a dual purpose;
light pressure on the button whilst the machine is
running operates the emergency stop brake, heavy
pressure on the switch button when the machine is
stopped actuates the circuit for ‘inching’' the spindle
in forward rotation. When the lathe is stopped by
pressing the STOP button, it is necessary first to
move the apron control lever back to the OFF position
before restarting in the prescribed manner. The
switch (5) controls the magnetic brake. It may be set
to operate automatically in conjunction with the apron
control lever in normal start, stop and reverse sequ-
ence, or it may be set to allow the release mechanism
to become energised whilst the spindle is stopped. In
this condition, the spindle is free to be rotated by
hand. Note, however, that the brake release should
not be left energised for any length of time or damage
may result.

The switch at the extreme right (6) is marked ON/OFF
and is for control of the coolant pump motor.

The complete control circuit operates at low voltage
(50 volts only). No ill effects will result should it be
required to switch from tast to slow feed in either
forward or reverse travel.



el B B S J U [ VL i (W, G N U [ I T SRS SN SRR ST SR S

3

S9/1UL/ISIN .d_:w UoiRILod iKW §
‘paads YBIH SH

"paads mo1 57

TAuo sayiel Juapms) s3udims Adjes oI )

(P3N §1) Peosa0 JOLEIS B/d lBuBYL N r Ion&, -

‘asnj 1IN jonuo) o omoze ds dy

sasny aseyd ulew O @_ H

‘PrOLIBAO PR3ds YBIH || [B—

‘Peopiar0 pasds mol )

JRULIOJSUR) JoIU0d pue AT )

uonng yau

‘Yams dwnd ejo0) |

039S MeIq OION |

0123195 pIads asiandy O -

20123195 paads premsoy E @ @
“Youms Jojerost urew 3

<

L

00T

e
L]
3

T
o
ol
ke

©
) |

AT
S

\
=
XXX

JOJIBIUOD J|OA ON [ ]
JOJOBIU0D ulod reig m)
JOPBIUOD  ISIOAIY
10)581U0> premiog yf
1) 1
JANdINVIO00  HOIOW NIVA N2 joIUO) —— L —
& NN UTeW Qe 3)BUIG ae LI J)N)
o
% N
T

_.4“_ 5 “URI VB SR £ e A T

i ! ' AN39A IT1

| | HOLIMS wouns | @) ﬁ 1111 : _
! 1IN LW i 13 oloo
i UG oMy wjols|s

=z ez

\I
L—IA
—

T
o|o|o|o
7]€[Z[L

°
L

°
S

o

9

|
33 1 | [==9

1
1
]
I
b !
]

~05°g€
20741027 [= |«
0oy/ose [53[°
aozzrooz| [*

@
[
chal -
50>0zb
22,
[Sater
20083 )
|

37751

1

)

THIRD SHAFT CONTROL

s
S
©
‘F> K

szon:oau{
SLOODY 0NV
W00 v I
62018 MOT1ZA
6201€ Yovia
620/E MOTI3A
NIMLYVIg3a3y {{X©
620E 03y
——e
L0017
o a
EEE
-
S E
e
in
)Y
o
'
=25
—
S
~4

IS R —h _ M
“PROLIONO ® mz
Lo o B s - | g _ o
iy I 111m an o.._ L
® =1 @\.r%..

11N2410 |Bd43028)8 — TOHLINOD L4VHS - QNIHL

o

42

T gl 5 _— —




COLCHESTE

PARTS SECTION

IMPORTANT when ordering—

1. Quote component Order Number, which is given on
the parts illustration for all component parts
required.

2. Give component description in full, from parts list
below each drawing.

Note:—Those component Order Numbers
followed by asterisk(*) in the parts list are for
standard items which can generally be pur-
chased locally ; e.g. nuts, bolts screws, washers
etc. Full specifications for these items are
included in Appendix 1 at the back of this
manual.

3. Always quote lathe Serial Number in all parts orders
or technical enquiries. This number is stamped into
lathe bed at the tailstock end.



SRR G e SRR

A g e ———————

$SA2(L
e el
35081 (MW J

S04 S (UL M)

\

~ ;,Lw
o h

5830 ——

5938 —

5452 ~

AL L]

-
8478
- o8

8474

55404 —
55411

84kt —

ELEL]

ST -1 - 680

HEADSTOCK : castings & levers

T T T d T dddddIdddd—




81L-%8
aoysem 3urads 3Jyeys IJIYS 1vO3 3SIAIY x /666
869-G8 Ioysem 33JeyS IJTIYS IBIS 951949y x C66S
a3Yyses IQAQT YO3IIAS 066S
969-58 a3ysea
3Jeys I9A9] JuIIJTYS 9AI[S SUIPTIIS x 6865
$69-58  I°ysen
M10F I9AT 3ur3FTYS dA3[S SUTIPIIS «x [B86S
811-98 23Yysem Id3Ylea] x 986G
969-58
(Z) saoysem 19A3T IJTIYS JRUIDIUT x (086G
(Z) S69-G8 Idyses 12AdT 13D x [[6S
3a0ys ‘pn3ys Yurads uanjay L966S
Suol ‘pn3s Sutads uaniay 5966
£€18-78 Butads pox yd3IMS x 1%6G
0€8-z8 3urads
3Jeys 19A9T SUTIIITYS SA9TS SUTIPITS x 8E6S
0€8-¢8 (Z) s8utads 10309138 IedH xI-LE£6S
L18-78 JuTads uanlax IIA3T YDITAS x GE6S
Sutads aea9T Surjexadg Z€66S
*H*Y 33'YS 19491 SuIIJTIys aean £68S
*H'T 33BYS 22497 SulIITYS Iedy 2688
IJBYS I9ART 3ulIFIYS 24991S BUuIPIIS 1686
3jeys 3uilFIys aAed3 951243y 6885
1030919s a1E?H 0€8¢S
*H*'Y ‘203093728 aead 3jeys 3uratag 1-L28S
*H°7T *ao3oa19s aee8 3jeys Yurarag T1-9¢8S
GGE-6S MPads dols a2AdT x 8O08S
£0Z-S% (7) smdads [amed BuIyd0T x GOBS
LT~y 1MaaDs Butandas ped x H08S
912-9Y%
(z) smeads 13A37 SButjezado aveag x 86LS
L12-9% (6) SM2IDS I9A0D qD0ISPBIH x 164§
S6¥=-CL 42138 JuiTdnod Yo3IIms x 88LS
uo13draosag *ON 13paQ

Z1c-9% mo10s

Sututeldsa 20497 aE9Y IsaVADY x 89LG
%1¢-9% (T) °meads
*09s 23eld *Asse a9ad] °*d0 x T19.S
SE-69
#3108 dol1s 22AR] 203F MIAISHIOT x 0946
80¢-SY
(9) mPaO0s *D9g 1030973s I®9PH g 9GLS
- 2CS=-€L (¢) smaads Builsnlpe utd x 0SLS
onid IRTITI 170 $69S
0L0-88 <n1d utead s €695
?3e]d *4Asse a9ad1 °do <896
1€1-97 urd Sut3aedol ped x 0996
(7) surd asa0-39g 659S
GZG-y¢ utd dols 12A977 xI-GG96
629-6¢ utd ajeld *4Asse 12431 °*do x §%96
6€G=-¢ UTd BUINDOT A3AdT x G%9G
utrd 132ATMS 12A3T 1030913S 1796
utrd 3ur3ed0] paq/yd03spedy LEYS
(z) s1aed 3uryooT] 1€9¢
ped 3ur3ljIys aeod asaanldy 9296
ped 19A0-33S5 029§
9%8=9C 3BUTd=~) IVAI] 3AIIIS x 6095
948=L¢ (Z) s%uT1-0 33eYs Yurierdadp x 909§
£/8-08 IYSTS 12A91-1T0 x 866§
GE9-07 INUNd0T do3Is 19437 y 4GS
£€99-C7
(¢) sinu 3ututelaa IPAIT 4 OLSS
L£9-0¢
INU00T 3709 Juraenldow YOIIMS x 6956
(dwoay))
I2A9T SUTIIITYS 9A09T8 BUIPTIS  T-T%SS
19497 YUTIITYS 949316 SUTPITS  T-0YSS
uor3draosaq ‘ON 22p20
519497 ® 8JUTIBBD  NDOLSAVIAH

0189-T1-HLS *8ad °*39Yy "

(dwoayd)

a9A9] 8uT3IJTIYS ae93 Is19A0y 9€66

X249 3utljTys aeod asaaady GEGS

(€) sasad1 aeed jeuaajuy GZSS

(Pwoayd) °*H'Y I9A9T 3uTIJTIYS 1BIdH [-GOGS

(Pwoay)) °H'T 12497 JuTaIys aean 1-406G

*H*Y¥ ‘29437 BuT3jTIYs 1ea) [-£0SS

*H®7T ‘12A0T 3uT3IITYS 1ed) [-70SS

(owoay)) °ASSe I2ART YOITMS 953949y T-98%G

A1quosse I9A9T YO3ITMS 953349y [-G8%HG

39491 Surjezado YoIImg 18%6

I9A91 Suijerado ajeag SLYS

(suwoayd) Ajquasse 1243 Juijeiadp [-894¢

Llquasse 19A9] Suijeaadp 1-L9%G

0€8-8T qouy I9AdT JUIIITYS 2A3TS ¥ ISHS

0%8-81 qOUY JIDAR] YDITMS 3SI2AdY x 8H%HG

€€8-81 qouy 12A21 Surieaadp x 994§

CE8=8T1 qOUY IDA9] IBATY 95I9A3Y ¥ HHYHS

0£8=-81 (Z) Sqoud IdA3T 3IJTYS 18I x 6EYS

3ui3ysed yoo3speay S1%S

%103 3ad31s Bulplis 9Zes

(2) sjao03 Bur3jzrys aean TI-GIES

I3A0D 3D03ISPEIH 1-68Z6

o1ewdy ‘Surydnod YoJIMS 35I19A3Y] 2826

atew ‘Sutidnod yo3IMs 3s13AdYy 6L2S

Ie1100 12A31 SutrlyTYs aead asiaady 8126

9€L=TT dTIT2a10 }I03J 243375 BUIPIIS & 6616
eEvL-11

d172a10 Suridnod Yo3IIMS 2513A9Y x 9616

9€L-T1 (2) 8dI19a12 jao3 Burlzrys ¥ 881§

ysnq Suijedol 1032213 1€1$

(Z) soysnq I9A9] YO3IMS ISIIAIY 6C1S

A10q 30ATd 960S

310q 8utr3enjoe Yo3IIMg %80

uot3draosaq *ON 22p30



SR S il el e ol el il el el i

/ sjjeys P® sudeslb :)o0oLSAVIH

0189-2- WIS
GGLS

9L8S

9218 mwmmv | 1-8€9¢

90%"

<
= zi6s 0895

Zils  1-€6SS /%

]
AN\

¥62S €206 7€9S

TEES 6005 [-€GGS 1-09%¢6

1LLS  OLLS €895 009§ (-9%IG 98.G 9986 96€G L-LvE€S 9IS 0718 2-1788
'ON ‘¥3S OL
07899 ON '¥3S wold




9499278 utrd-aeays cLe9
utd-aeayg 19¢9
INU pITINUY IJEYS ISI9AY LEEY
a9ysea dois ive3 9sidada-123UI %665
pn3s 8urxI3 Q0ys oyeag 056§
S18-28 (¢) sButads aoys aeag y Qy6S
¢18-28 (ST)
s8utrads aanssaad Butaeaq Noeg y 9z6S
a1purds utey 026S
19oeds Juraeag 216S
949378 SUIPIIS  Z-016S
L66-60 SBuUTUIT m/D sa0ys Ijeag ,I-E06S
P1°1ys Buraesq juoag 0065
31jeys puoodag 1885
IJeYs 3813493y YL8S
3JBYS 3819A9I-133uU] 598¢
IJeys 3utataqg 958S
3JeYs BUTATIP yYoINID  Z-1%8S
62T-LY (£) #2108 ‘*O9s ajeld 8utatag x 608S
102-5%(2) 8m9108 3utand9es £33 980N y 96(G
6cC-LY
(€) sma1>8 Butand9s Iwas8 Arqnog x £6/S
61%-L9 (T) 812108 Buranoes ysng 41-98/G
61y=L9 M2108 ysnq Jjeys BuTAIIA § 98/G
£12-9% (€)
SM3ID8 19400 IpTSINO Buraeeq yoeg 8.6
£1C-9%
(€) sma108 12a0D Buraeaq U0II y £8/G
612-9% (€)
849108 19400 3p1sur Butaeeq jowg 5 28/LS
t1z2-9y (2) smeads
8utaeaq paSuely 3Jeys @s19A9y 4 08/S
62T-Ly (€)
849208 Sutandes Surawaq posSuelg »1-8LLS
¢12-9y (2)
642108, SutuTte3ax adysem dols y g//S
9cc-LYy
#3108 Zuture3ax 8nid pamelds y 1//S
£oE-£S
M3128-007 AVTI00 PamdId8 aTpurds yI-65/S
uor3draoseq *ON I9p1Q

19€-09 121283901

Ze1100 8urisnlpe Sutaesaq jJuoad x §GLS
SGE-6S MIaA0E
8ur3ed0T 3IJBYS 9819ARI-123UT y GGG
Buta 3snay3 SBuiaeaq yoeg €ELS
(9A urml) Leyrnd Burarag 1-0TLS
8n1d pemeaos ysnq 3jeys puoodag 8896
8n1d pamaads ysnq 1jeys 8utratxg 1-£896
ajeld Suraraqg 089S
0zS-y¢ uid
Aysem nmoum aea8 UQHO>UHIHUUGH *Alwmoﬁ
7S9-%1 urd 1833 33BYS PUODAS -G99S
989-%1 utd Buriedo] 1ea8 BTqnog xI-£%9S
€19-%1 (2) utd Suraeaq pasuerg Tv9s
6€£S-%C
utd SuUTILD0T IJBYS 98I9AI-I9IU]  4-BEIS
8o2d Sutaeaq juoag 4€9¢6
858-LC 3uTI-0 Ysnq 3yeys puodds 4 €095
868-LT BuUT1-0 ysnq 3Iyeys BUTATAA x 009S
290-61
Te28110 *31q paBuely yoIn1d/d 41-£6SS
$98-6L T®38 10 3IJeYS 38I2A3Y y T16SS
L£9-0C
(2) sanwyoor Burisnlpe ojeag 4 9966
Inu seap asou ajpuidg €966
qUTT 12497 Burpuedxy  1-£G6GS
(% opoaaj)
839411 M/O SBUTUTT Meag x (OGSGS
29497 Sulpuedxa a0ys oeag 1-09%¢
4oy oa2918 BuIpIlS  T-T€%S
L9y asou a1putds STHs
600-LT £33
Butatap aea8 9s19A91 aTputds x 1Z%6
102 ‘aew98 33wvys 2839A91-193U] 90%S
10€ ‘awva3 33juys 981949y 66€S
I0€/0€ ‘o1purds uo 198 2819A0Yy 06€S
11S/%% ‘*°1purds uo aea8 a1qmoq 08€S
182/0¢ aea8 33eYs puodag CLES
LOE/ET ‘a®e8 33wys puodeg Y9€$
Iv2/v1T ‘xeed 338ys SutAtaq 9S€S

83Je4s % 8awed ND0ISAVAH

0189-Z-HIS *3ad °3Iou

log ‘aead 3yeys Burarag

39se8 Butaeeq paduery

394888 19A0D 3PTSINO °*31q oeg

393888 19A00 Butraeaq juoayg

19400 ?pISIn0 Buraeaq oy

19400 IPTSUI Buraeaq yoeg

19A00 Ip1sIno Suraeaq juoig

xe110o 13oeds aea8 3jeys puodag

Ie(10° 19deds Ysnq 3jeys puodag

ae110o 19deds Buraeaq yoeg

91putds UO IBJT0D PaMAIDS

21109 3JBYS I812A9Y

ae110° YsSnq 3IFeys IATaQg

a1e1102 isnayl 3jeys Burariaq

ae110°

3snayl 33jeus Surlatap yoIni)

ae110> Buiysnlpe Buraieaq juoaz
658-11

(T1ews) dr1d °321 *8a1q La11ng
0LL-C1

(8xe1) dr1o °392a *81q LapIng
S%8-11

dr12 ysnq pasSuer3y soys sjeag

6%L-11 dI12a12 33vYyS 83949y

¥sgaow ¢ °*oN ‘aajuan

ysnq paSuelj 3Jeys 983349y

(*H*¥) ysnq 33eYs puodeg

(*H*'I) ysnq 3Jeys puodag

ysnq 33yeys Suraraq

usnq 3yeys Burarap yoInyy

ysnq paBueiy soys oyeag

ysnq xea8 asisada-adjuy

ysnq 1823 10%/87 Ijeys puodes

ysnq 313ua)

(Z) ysnq Sutraeaq pasSueryg

310q 1da91-Burpuedxy

8utaeaq paSueyy

(Z) 968-20 sButaeaq Laying

(13nvo) Butaeeq 197102 yoeqg

(13nyo) Butaesq za170a jJuoxg

uotadraosaq

T-L%€S
[4%%9
62€S
9zes
LOES
[4si%9
%62s
€9z¢
(3749
r4 Y49
L9es
8€¢sS

1-62¢S
9¢¢s

<£ees
sozs

¥ 861§
¥ L61S

¥ G618
» 1618
S81S
891¢
091$
€S1S
1-9%1S
oY1s
%€1S
9T1¢
rA4 {9
611§
Z1168
68065
¢-6S0S
x €60S
% 0€0S
x €20§S

*ON 22pa10




UDINID xjJjvwW : Mo0OLSAVIH

0189-€-WIS

108 9948 9065 1695 — R\

€2LS 6109 LY709 6L0S 7L6S

1-678S (2141 GEES S90S LS oS

0L0S 1L0S

L%09 6709 LEOY 9709 8709 S709 Z¥09 %709  €%09 1709 0909 6€09 8€09 6709

ON'Y3SoL
0%899°ON Y35 wol4




() 910z ‘sdrioard

(€) S10z ‘A1quasse Buraeag

€10Z ‘xe11od Surieaadp

210z ‘zaysem 3snayg

110Z ‘Suta oeay

010z ‘8Butadg

60z ‘SButa Buryo07]

80z ‘anu Buiasnlpy

L0z *s3e1d oo

(€) 60z *so3e1d Surtuuldg

(%) %0z ‘sajerd poxtyg

€0z ‘sSuery puy

10z ‘qnH

0Z 92dA3 ‘3397dwod ‘3Tun yYoINId ‘xTa3ER
avysem do3s urqqog

3A291s poa Burjexado yoIni)
dO1/121 ‘3zeys Suratap yo23nid
%12-9% (Z) smaads uil poa Surjeaadp
61€-SS (%) smoaos Suiaeoq paSueld
L0T-S% (€) 8M2a08 Sutandas urqqog
81€-SS Ma198 aaysem dols urqqog
PO 2933TYs Yo3nio

S06-8¢ (£) s3@a1a ped 3103 yo3nyd

uotadraosaq

® K R X

»

6%09
8%09
L%09
- 9%09
$%09
%%09
£%09
<09
1%09
0%09
6€£09
8€£09
L€09
6109
9L6S
906S
1-6%8S
108S
6LLS
9LLS
99LS
9%LS
€YLS

.oz

19pa1g

K311nd BurAtap yoIni)H

€96-%¢ (g) sutd Butandas ji03 poy
w - (Z) sped 3103 BuT3IITYS
290-6, 1eesTTO Sutaeaq paduelg
9z8-¢¢ 21dd1u aseaa8 La1Ing

jqurl Surjeaado poa yosIniH

194271 Surjeaadp

39yse8 Sutraeaq paduelyg

ja03 3uT3zTys YI3INIH

ae11oo aooeds Jutraeaq L31Ing
ae110o pamaads Jutaesq paduelg
aey1oo 3Isnay3 3gyeys Surataq
ae1100 Isnay3 3jeys Surarap yo3Ini)
6%L-T1 dIT1°ard 33eys SuraTap Yo3INnId
€LL-21 dr12a1d Butaeaq La11ng

(2) seysnq 3zeys Burarap y23Inyd
*H*¥ ysnq 3uraesaq pasdueld

*H*1 ysnq Sutraeaq paduelg

310q 13a31 Burjeaadp

urqqoq a933TYS YoInId

190=-¢0 11ews - Buraeaq A3[Ing
2€0=20 98ae] - Butraeaq LayIng
8utaeaq paBuely

uotadraosaQ

Yo3InTD XTa3EH

$AD0LSAVAH

0189-€-HIS *23Q °*Joy

€eLs
159S
£29S
985S
196
9ssS
26%S
SEES
(443
9s¢s
1874
9¢es
cees
061S
L81S
o%1s
1118
(0) 4 §9
%60S
6L0S
12408
0L0S
S90S

*ON 19pa0



gl ol el il el il i il e S

h pJdRpURIS I JINVYHA ONIMS SaA¥vVNOD aN3a

0183-7- WIS

€609 97019 [§:1%:] 9079 €EE9

®

0909  o0€€9 87€9

&

1299 GS%£9  €6€9

0079 —

6909

ZLE9 T 19€9

ONY3S oL
07899 "ON Y35 wolg




169-58 () I2ysem Ma108 paend 1ea8-a8usyd pue 373G y €749
269-S8 (%) asysea pnis paend aea8-3Supyd pue 3[a2g « ZZYy9
$69-58 (7) sidyses pnis Buixiy sweay Buimg x 1gH9

C69-S8 19yses Jnu BUTUIRIAX IITT0 % 6IY9

$69-S8 I9ysem pnis i1ea3-d3ueyd x gIy9

0£0-98 I3Yysem ISTP UBJ JA99T8 1ead-o8uey) 5 4149

620-98 I9ysem JOSTP Ue3 3IJBYS BUTATIP X0QI®IY x 90Y9

pnis Buixiy sweay Suiag 00%9

pnis awa8-a8uey) £6€9

(punox) pn3s paeny  1-G8¢9

(°x3y) pnas paeny 1-18€9

909-€L (Z) Maa08 *298 238T1d/I2A0D0 ded ¥ €L€9

2a9918 urdaeayg TLe9

2A2918 aeo8-a3ueyn 69¢€9

809-€Z (Z) ma10s paen8 aealS-a8ueyd pue 372 x €9€9
urdaeayg 19¢€9

%Z1=-£C 39110 pn3Is 1ea8-a8uey) x SSE9

19710 A/D ‘3nu Bururelzaa 1110 8v€9

869-1Z (Z) Inu M2108 paend aeo3-d3uvyd pue 31194 «x [YE€9
tor3diansaq *ON 2P0

669-1Z (¥) 3nu pnis paend Jea3-28uryo pue 31o2g
%29-07 (Z) sanu 3uryoo] 2weay Buimg

Z2€9-07 (T) *3nu maads °*d9s 33urqed/a3e1d paeny
%#29-07 INUYD0T PN3Is 3A29[s aead-aZuey)

Inu paTanuy 3IJeYS I819A9Y

Inu patanuy 3jeys SUTATIP XOqaean

Inu paTanuy IA99Ts awad-aBuey)

Jnu pafanuy paend awe3-aSuey)

paen8 312q aauug

1°opou x0qied8 - paen8 iea8-aBueyo pue 3I1ag
12pom xo0qaea3 uoN °*paen8 awa8-3a8ueyd> pue 3{og
d91/10z1 ‘aea8-a8uey)

d91/1zy ‘aea8-a3ueyy

d91/15€ ‘asa8-a38ueyp

d91/112 ‘aea8-a3ueyy

dwexy Suiag

I9A0D O®Q 3O0318PEIRY

av1100 190edSs 2A991s awa8-aBuwyy

(% 30 398) saey10d JuwduuSI[E awa8-a8uwy)

uotadyassaq

TIVANVIS - AWVIIONIMS ‘SAIVNO aANI

0189-%-K1S *31q °3Foy

9%¢9
SH€9
v%€9
ve9
LEE9

t€e9
0£g9
92¢9
STE9
1-90€9
1-5629
2829
1819
L19
0919
6909
909
0909
€509

X « % <

*ON 39pa0



From SER.No.C45286

To SER.No.

No.2' GEAR TRAIN

6163

6361

6069

6372

6400

6345
6421

6342
6418

\

3 \\ |

6282

| No.1 "GEAR TRAIN
; 6251

6410

6337-1

W\
S

6330
6419

6348

6053

6393

6369

6414

6358

6060

6199

6406

6333

STM-6C-6512/1

SWING FRAME : continental




LEEI
£Ee9
0£€9
2829
1529
S%29
6619
L9719
€919
1919
6S19
6909
0909
€509

669-68 (Z) saayses pnis BuIxTy sweay SuIMs y TIY9 $29=-07 INWO0] pnis 1e98-23uey) x ZYE9
769-68 12ysem Inu Burule3ldx IITIQ ¥ 6149 Inu paTanuy 3Jeys I8I2A9Y
669-G8 I9ysem pnis i1ead-a3uey) x Q149 Inu patanuy 3Jeys SUTATIP X0qaed)
0£0-98 1dYysem JSTP UBJ 2492S aea8-a8uey) 5 H149 INu pafanuy 249918 1ea8-aBuey)
adysem Inu BuUTuTEBIAI IATIQ 01%9 d91/10¢1 aea8-23uey)d
0£0-98 I2Yses ISTP UBJ IJBYS SUTATIP X0QIedD x 90%9 d91/106 1ea3-a3uey)
pnis SUIX1y dueay Suisg 00%9 d91/1y8 aea8-a8ueyd
pnis aead-a8uey) €6€9 d91/109 aea8-28uey)
2a921s uld aedys cLe9 d91/18t aea8-3a3uey)
949318 avI8-28ury) 69€9 d91/1ly¢ aea8-28uey)
utrd 1eays 19€9 d91/1z¢ aea8-a3uey)
1€1-%1 (€) sutd Buipunodwod aea8-28ueyd x 8GE9 d91/10¢ aea8-38uey)
%21-€¢ 19170 pnis 1ed3-a8ueyd 4 GGE9 swe13 Buimg
19110 M/d ‘3nu Buruielaa 19110 8%€9 (€) saodeds 249918 aead-aBuey)
%29-07 (7) sanu Burjoo] 2weay 3uimg x SHE9 (y 30 398) sae11od JuamBre aead-a8uey)
uor3drasseq *ON P30 uoradraoseq

Tejuaurjuo) IFWVIIONIMS

1/2159-09-HIS °3ad °394

*ON a9pag



From SER.No.C45286

To SER.No.

ADDITIONAL EQUIPMENT REQUIRED FOR CUTTING ENGLISH THREADS WITH CONTINENTAL SWING FRAME

ADDITIONAL DATA PLATE

| pRIVER swaft

-
%
=
w
z
w
z
=
°

\

P
\\\\\t\\
\\\ﬁ\‘\\\\
i}
E \\\\\‘\\\\\n

\6158

6161

6162

6187 6175 6166 6165 6163

6188

6290

6282

SWING FRAME :

i S el S T A (R N N N N S




®I13X9 - 9381d ®BIEP PEAIY] d91/1L7 *aeas-asueyd 9919

d91/1Le1 ‘*aea8-a8ueyp 0629 d91/19¢ *aeas-asueyp 5919
d91/10c1 ‘aee8-asueyd [4:74"] (2) d91/1yg *saea8-a3uey) £919
d91/ley ‘aeed-a8ueyp 8819 do1/1gz ‘aee8-a8ueyd 7919
(2) agt/igy ‘aead-aduey L819 d91/1zz ‘aea3-a3uey) 1919
d91/19¢ ‘aes8-38uey) SL19 d91/161 ‘aead-a8ueyd 8519
Wor3diansaq *ON 22P20 uoradiaosaq *ON 22Pa0

SAVIWHL HSIIONE d0d JINAWAINOA TVNOILIAAV

7e3UoUI3U0D $ AWVEADNINS'

Z169-0L-KlS °*33d ‘334

13



N [ SR (A (R SRCE SRR SRNCI SN JO N S W VA W S PR R S

/ eyje] xoqueeb -uou : VYA DNIMS

\T1G9-5-NI5

Y4} 99 9019 1019 9609 9809 1809 9.09 7€€9

z219
9219 ]
ZEl9
9€19
S
2
Z919
® 0909 O0€E9 BYE9 GGEY
8719
§

LS09 X
Zv€9 BLY%Y9  £6E9 A ﬁ
7199  61%9

S9€9

G7€9 LZ%9

0079 2LE9 19€9 G909 SL79 LEEY

ON'Y3S oL
1SG0Z ON 'y3S woig




$69~8 (v) sasysea pn3s Suyxyy swway Suimg 4 1Z%9 dy1/1001 3was-a8usy) 8%19
269-58 asysea Inu BujuIvIAL I91J0 ¥ 61Y9 dy1/106 1w38-38ury) w19

$69-58 aoysea pnis iweS-aBuwy) 4 gIYy9 dy1/108 1we8-a8uwy) 9€19

611~98 I9YS®A DSTP URJ 3IJWYS 9830494 & SI¥9 dy1/19¢L awas-asuwy) 2€19
0£0-98 29ysea JO81p UP] A9ITS IweB-aBuwy) 4 199 dv1/10L aweS-asueyd 9219
pPnaIs Buyxy; suwij Suimg 00%9 dv1/199 awa8-asuwyy 219

pPnaIs awes-aBuwy) €6€9 dy1/159 awes-aduwy) 1219

sava1s updaweyg 433 dy1/109 aees-asuwyy 9119

ARTS Ivel-eBuwy) $9¢€9 dy1/l0S aweB-aBuwyp 9019

uydavoys 19¢€9 dy1/1sy awes-asuey) 1019

YZ1=-€Z 39170 pnas vwes aluwyd 4 SS€9 dy1/loy awes-asuey) 9609

a9110 A/d 3Inu SuyureIex I91¥0 8v€9 dv1/10¢ aees-aduey) 9809

y29-07 (v) sanu Bupydol sweaj-Buias § SvE9 dy1/1S7 aeas-asuey) 1809
y29=07 InUYD0] pnIs awes-aBuwyd § 799 dy1/107 awes-asuey) 9L09

INU PRTINUY IJRYS 9839AY LEEY sumay Suimg 6909

INU PITIANUY ARIDSPEI] 9€€9 19deds 2A2918 avas-asusy) 0909

INU palanuy 9AR91S aweS-a8uwmy) 0€€9 (2) .wnﬂﬁou 8uyowds awaf-a3uey) LS09
uoradyassaq *ON 29paQ uor3draosaq *ON 29paQ

YIPT X0QIBID=UON TNVUIONIMS

1/7159--1s *8aa ‘joy

15



g€ 8 € gt g o gl gl il gl U Bl gl g By

SJOAT] P SUGAOD ! (PJRPURIS) XOENVID
0189 -01- WIS
z9L9 99L9 9849
mmsg £849 680L 1189 %989 €eL9  680¢
L80L 1689 Tgam
~ ' /@./
L60L Pl , 2999
1569
0999 )
6£69
26L9
68L9 6£99
1-1v99 *
6689  €£60¢
“ON 43S 0L
07899 0N 43S Wosd




8utads afpuey a3ayqung L60L

STL-%8 3uTads OSTIP IIAD] MIIOSPEIT y £60L
SZL-%8 (T) s3utads OSTIP 19A9T SuTINBTIS 4 68OL
39208 ITpuey II[quN] 1804

STT~-Ly (T) smP108 13400 dol x 9669

GCi~-LY (9) sMAID8 13A0D JuOly 0669

Ey€-8S #2108 3uT00T ITpuey IITQUNL §x 1869
TYT-8Y M3108 BUTYOOT WABR IITQUNL x 9969
a98unid apuey I91quNny 1569

8nid 2977114 £v69

8nid uteaq 6€69

S%S-9C uId 19A9T ZuTIITYS 1893 MIIDSPEIT ¥ 6689
€9S=y¢ (¢) surd 19a91 BuTIITYS IBOD x (689
#96=-4Z (Z) surd Bur3zedo] 19400 JUOII x 6889
ped 19331ys aea8 maidspea] {989

*H°Y¥ 2 *H*T ‘ped 1933Tys 1E3) %989
uoradraosaq *ON 22p10

€.8-08 88818 34318110 ¥ 1689
%21-€C (7) ®21ddru 127110 & 6289

A2A3T SUTIITYS 1833 MIIO8PEI]
*H'Y ‘aead] BulljIys ae?n

*H*71 ‘a2a91 3Bur3lzyIys aean
(Pwoayd) a9aa] Surldayas 1ea8 Mmaadsped]
19491 Sur3d91as i1ea8 Ma108pEI]
(dwoayd) 12A97 Burlde[as aeen
‘H'T 3°H*Y ‘I19A9T Buildaias aean
(dwoayd) aypuey 137quny

oTpuey z27quny

39)se8 19400 doy

39888 19A00 Juoayzy

23402 dog

19402 Juoxyz
me furazyrys zayquny

uotadraoseq

839A27 § 8I9A0)

t (Pawpuwig) XOTYVID

0189-0T-WLS *B82Q '3ou

189
1189
8089
649
6849
9849
€849
29L9
6529
1-1%99
6€99
1-2€99
1299
ovY9

*ON 19paQ

17



SJOAD| P SJOA0D & (D]JIDIN) XOoOEHUuVIO

0189-JE1-WIS

0989
9%9
i-7169
6679
7169
96%9

98L9 10 £€8L9

8169

7689

LS89

189
8649 40 G649

7989

1-7299

8089

6€99 7989

ON'y3S oL
07899 ON'Y3S wold

"




8utads 1030919g 101L

§TL=48 Burads OSTP I9A3] SUTIDITOS MAIOSPEBIT x £6OL 1.8-08 34318 110 % 7589
SZL=%8 (7) sBurads d>8Tp 12A9T BurIOATAS x 680/ 168=9C 3UIX 110 I2A0D I2A3T 103D3TIS x 4489
S0T-¢8 Surads 1eq 20399735 ¥ GBOL %21-€2 (2) so1ddru 110 ¥ 6289

10323195 02z0L 2997 3urljTys 823 MIIOSpPRI] L189

8utieos 19A31 10309198 S10L *H*Y ‘asae1 3Bur3lziys aeo)H 1189

€12-9y (ZT) mo13s 'd3s a3e1d *331 1Bq 1030913§ yx T100L *H'T ‘10491 BuIIITYS 1) 8089
£0Z-G% (9) sma1ds Burandes ped 10329193g ¥ 8669 (PoWoayod) IIA3T 3030913§ ¢089
SCT-L% (T) sma1ds Burandas 19a00 dol x 9669 I9A9T 10309738 1089

€0C-S% (€) BMIIDS I2A0D 12AR] 203V93S x 669 (PPWOIYD) I9AD] 10309198 IBI3 MOIDSPR] 86.9
STT-LY (L) sMa1ds BUTINDAS I9A0D JUOII x 0669 29A9T 10302195 1828 Ma1ospEa] 66L9

8n1d 191113 X0qaean €969 (pewoayd) saoad] Builoaf9as aeen 9879

(¢) so3erd 8utuielaa axeq 1030912 8169 ‘H*T 3 °‘H'Y ‘sasaa] Bui3ioayas aesn €819

(¢) so3e1d uoIsTAIQ 1-%169 8€8-8T qOUY 19491 20303735 x 9//9

SHS=h¢ uTd 3uTand9s I9ADT BUTIITYS IBAH y 6689 393888 19400 do 1~-1%99
€95-92 (Z) sutd 3urandas I2A°] BuTIFTYS I8ID x (689 393888 19A00 juOlyg 6€£99
%01-%1 (€) suld Surjledo] ped 203d9735 y (889 aaa0d dol  1-7€99

#9¢=%¢ () surd 3uiledo] 12400 JUOII x G889 19400 I3A9T 1032913§ £299

ped 3ulljzIys aBaZ MaI0EPBI] 0,89 19402 U0lj 1-4%299

‘H'¥ ® °*H'T ‘sped 3uilzyTys aE9Y %989 aeq 10329738 wollog 1-29%9

ped 10302198 woljog 0989 deq 10329198 JI13Ud)  [-6GH9

ped 10309198 213Ul) LS89 aeq 10329195 doJ, 1-96%9

ped 10309128 dog %689 88/-10 (€) STI®q Bui3ed0] 1BQ 1032313S 5 [SH9

uor3dIaoseq ‘ON a9pag uot3draosaq *ON a°pag

813A97 3 8I9A0) $(9TaI9K) XOTUVID

0189-DE1-HLS *33Q *3Joy

19



g gt gt g g gl gt gl gl gl g gl g O Y

-
sjjeys » sdee puaevpuw)s§ : XO0gdVID

{/5009-8d- ¥ .
290L €759 9099 7qL9 6€49 GE69

Q

Y

?70L

1259

€099

L699

S269

1069

€es9

9869 1499

9949

6€89 019 6069

‘ON ‘435 Ol 8EEL
¥€99Y% 'ON y3aswold

T



3Jeyspeeg  Z6EL
09€-65
MeIog SupooT IBTTO) PUF-TTSL 3JeUSPOST  YLEL
659-Y1
utd Surmoeg Jutrdnoy 3JsUspesg ,  Y9EL
MR IOEPBIT wmmr
Sutrdnog 3Jeuspesy Y€l
Ie[T0) PUT-TT8] 3JeUspesd  TZEL
o¥6-0T
(2) sousng pug-TTe] MaJIoSpeeT , 9TEL
€26-0T
(2) seusng pug-TTe]l 3JBUSPOST 4, €IEL
dir3g Supeooq JoTqUMY  SOTL
OAS9TS 3STIYJ MOIOSPEBET L0
IST 3JeUS IPTQULNT  Z90L
1Jeyg Iwen JOTQM  €50L
IYT ‘43eysaequr  6%0L
3JvUg JUTATIQ oL
ysug M/o 1JBUseUC)  8EOL
gee-LY (2)
smexog Jutanosg drajg SumedoT . Y004 -
€0g=57 (€) smeadg
ysng poSuwly JuTasog JOTqUAL . 8869
05€-65
MOJIOG SUTNO0T IB[TO) MOJIOSPBRT ;. GL6E9
g7e-8¢
MoI0g JUP[OOT JBTIO) 2JIBYSOUO) , E£L69
G9¢~ 09 (€) sMaIOg JUTHOOT Ysng , 8969
Z7€-85
(7) smoaog Supiosr dTajs SuTeO0T 5 €969
G9€-09 (6)
emaIog Surysnlpy dTIlg Supyso0T 1969
| () TR FEEETE TON JoPI0

JOTTOY JoTqU

T/50L9-8d-4W 340 394

9569

8n1g-e10) ysng 9Jeyg JOTQUML  GEE9
SnTg-ea0p ysng 4JBYSILSIUL  8TE9
Burg Sutaseg JOTQULY €269
I¥z ‘uoTutg 4Jeyseuo) 6069
UTd JOTTOY JoTqUML 2689
utg SupgeooT JATQUMY, 0689
ers=~ve
UL SUTATIQ I89p JOTqUMY, , T889
298-92
3ury-0 ysng Sutaeeg JoTAUML » ¢V89
W00 MBJIOSpPEeT mmww
T29-02
N SurInoeg UTJ JOTAUML 5 €£89
TOO-LT (Z)s£oy 3JeuUsIsquUT , TLLY
TOO-LT £0) 33BUSLUO) 4 69L9
£oy] mMeIOSpBET 99.9
IlZ Xeop JOTqUTY,  82L9
IZY/7e ‘xeep qJeug JeTqumy  Y2L9
Ive ‘xeepn qJeysaerur  ¥0L9
I2€ ‘xedn qJeysaejur  TOL9
IV2/9T ‘Ieep 9Jeus SUTATIQ  L699
Ize‘1een OTION MOIOSPEST  LL99
Iz ‘asen Mmeaospwe] .99
I0€ ‘1B9p q4Jeusouoy  L999
Igc ‘awep 3Jeyseuony 6999
Ige ‘aeen 3Jeyseucy €999
Iy ‘aeen 9Jeyssuoy 1999
Izz ‘Ieep 3Jeyseuoy LG99
Ioz ‘Ivep 3Jeyseucy G99
I6T ‘awen 3Jsvyseuo) €599
J8T I88hH qJBYsauo) 1999
WTIATIoseq VON X0
FRITUS 5 5X60D) DIBPUGES SXDEUvED

I9T ‘aeep 9Jwyseuoy 6799
Jv[T0) 38NIYL MoI0SPERT  (0T99
J%TT0p Jooedg 3JvUg JOTQUML 9099
JB[[0p Jo0wdg 1JBUS SUTATI@ €099
JIBTT0) POMOIOg 3JBUSeUoy 0659
JI8TTO) POMaJIOg MAIOSDPBOT 9849
IBTT0) JUTUTBIOY MOIOSPEAT €899
e7L-TT :
dT1p SuTuT®ley 3JFBUS JSTqUM] 2LS9
YeL-¢T
diTy Sutur®ley 3JBvUS SUTATIQ , TLSY
GYL=TT dTTp SUTuUTE}dYy MOIOSPBOT 9959
%6L=TT
dT1p Suturwley I8OH 3JBYSISQUL 2999
SY74-TT dT19
Sutursley ysng JO9TQUMT *HY & 0959
*H*Y ‘ysng 3FBUS JOTquML  LYS9
exjuepy ‘ysng 94Jeyg IOTQUM] £799
*H'T ‘ysng 3FvUs IOTQUNT  6€£99
. Ustg 3JBUSI9UI 6299
*H*Y ‘uysng 3JsUg SUTATIQ 6259
*H*T ‘usng 4Feys SUTATIg  T2S9
*H°¥ ‘usng 3Jeyseuoy  LTS9
‘ge1 ‘ysng qJeyseuoy  ¥TG9
*H'Y ‘usnhg meJospweT G099
*H*T ‘uysng meaospesT  TOS9
€T6~0T Ushg 308U 1JBYSOUO) , G6Y9
TT0-0T
ysng Jweh OTIISN MOIOSPEST 4 26Y9
ysng poSusly Sutrseg JoTquny Y89
Sutaeeg JeTQUMY,  9LY9
WTaTIo8eq TON B0

21



SRSt gt gt gt pt gt pintintint ol gl gl gl plinlly

'LI

sjjeys » suavelb uojujwoq : XxoguvYaAd

9099 yZLe 6€S9 SE69 1049 6259 8z69

2904 €769

€L69 0659 059
€289 B - G2
= 9959

9859 6659 £859

SieL SE89 0199 G069 9949  LL0¢

, 790,
- 1259
m £099
2 &N )/ 1699
SO SL69
ee . 5259
mmw > 199
- %. ~

10S9




Feyspesy
29E-6S
MBI0g JRTTO0) PUF-TTE8] 3JFeYsposy
659-7T urg 3urrdnoy 3Jeyspesy
M3.I0spPBe]
Butrdnoy 9Jeyspesy
IBITO0 PRI~TTe] 3JvYspasg
076-0T
(2) seusng pug-TTe] MeIOSpPBe]
€601
(2) seusng pw~TTe] 3Jwysposg
drrg uoT3e00T I8 TquUTy,
AIIDG 98NIYJ, MOIOSpPB]
IST 33e4s I9Tqumy
3JeUs Iwep IBTqUNY
IYT ‘4Feysaeiug
3Jeyg Sutatyg
ysng m/0 “33wyseuog
s&=LY (2)
8maJog Jutamweg diryg Jurgwooq
€0z-s7
(€) smeadg ysng Jutrrseg JeTquUMy
0S€-65
MBJIOg FUP[O0 IBTTO) MOIOSPEOT
SYe-8s
#meI0g Fup{ooq IBTT0) 3Jwyseuo)n
$9€-09 (€) smeIdog JupiooT ysng
ere-8s Qw
8maxog Jupiospr drayg Suygeoog

UTATISEeq

dupysn(py diazg SumpeooT , T969 IS8T ‘aeep 3Jwyseuoy 1699
JOTT0Y IBTQUN, 9569 I9T ‘Iwen 3Jwyssuoy  £%99
T6EL  Suyg-ea0p yeng 3Jeys JOTQURL  $€69 IeTT0) 3SNIY] MSIOEPEeT (199
Sng-ea0) ysng 3JeysIequl  8z69 29110 290%dg 3Jwys I8TqQUNL 9099
x TLEL 3nyy Butaeeg JoTqUMy €269 JB1T0) Io0o®dg 3Jwys SuUTATIg €099
s V5€L I7z ‘uoturg 3Jeyseuo) 6069 I9[T0) J008dg MOJIOSPEOT 6669
8E€L URd JOTTOY JoTqQuUMy 2689 J9TT0) POMRIDg 3JWYSPUO) 0659
V(A7) UTd Supeoo] JeTqUM] 0689 IBTI0) POMAIDg MOIOEPEOT 9869
TeEL £76=Ye 29[[0) JUTUTTIeY MRIOSPERT €8G9
UTd SUTATIQ IweD JeTqUNL , T889  €YA-TT
» 9TEL 258-92 dT1o Suturejey 4Jwys JOTQMNY , 2ZLS9
3uTy-0 ysng Sutaweg JaTqUM , Y89  YYL-TI
s €ELEL (2) sInweoT mexdspweT  ¢gg9  dyTn Bururejey 3Jeys SUTATIg . TLSY
SOTL Te9-02 S7L-TT .
LLOL 0N UTd FuTye00] JBTqUN] ., €€89 d1Ty Sutuyejey ASIOSPEeT , 9959
290L TOO-LT (Z)s4ey 3Jwysaequl , TLL9  ¥SL-TT
£S04 TOO-LT 4y 3Jwysouo)y , 69.9 d¥[H Supurejey Jwen 3JeysIequy 2959
6%0L Loy molospeeT 99,9  Y6L-ET
7oL Lz ‘asepn JeTqumy 82L9  diT) Surureley 3Jwyg JeTQUNL , 0959
8€0L IZ7/re‘awen 3Jeug JoTquUNL Y29 *H'Y ‘ysmg 3Jwyg zeTquny LS9
I7z ‘aeen 3Jeysaojur  Y0.L9 sqjuey ‘uysng 3Jwyg JeTqEML  €Y$9
x 700L Iz€ ‘xw0n 3Jwysaequl  TOL9Y *H*T ‘Yysng 3JwUs JeTQEML  §€S9
172/91awen 3Jeyg Butatag  L699 ysng 4Jeysrequy 6259
% 8869 L7z ‘aeen meiospwer .99 *H'Y ‘ueng 3Jwyg Sutatag 269
I8z ‘xwep 3Jwyseucy G999 *H*1 ‘uysng 3Jwyg ButATig  T2S9
% SL69 I9z ‘Iwep 3Jwyseucy €999 *H°Y ‘uysmg 3Jwyseuopy  LTS9
I7z ‘xeep 4Jeyseuoy 1999 *H*T ‘ysng 3Jeyseuoy Y69
% EL69 €z ‘awep 3Juyseuoy 6599 *H'Y ‘ysng melospweT 059
% 8969 ILzz ‘awep 3Jeyseuo) LG99 ‘H*T ‘ysng mexospweT  T0S9
JOZ (198D 3JwyeeuO) 6699  yeng PeBuvIy Suliweg serquny gy
% €969 I6T ‘1wen 3Jwyseuoy  ¢599 Butrveg JeTqumy  9.%9
@) 2] WTATI0eq AR ) 2 0] WOTIOTISeeg YON Tep0
TIJWS % 8Y%6h UOTUTIoq oauvaD

§9€-09 (6) smexog

T/C155-a6d-avA 24 "3°d

23



gt ittt gl gl gtnliplyligll ol gtnd oll gl g Sy

sjjeys ® suwelb : (ol4)19l) XOENVAD

TS0 9-2T-uvH

\

1259 ”0¢

159 €099

oN WIS of
982692 ON ¥3S wauy




25

TOO-LT £°Y 3Jwug 2u0) » 69L9 €7L-TT
Aoy me1dSpwT  99L9 dyTp Sututeley 3JFeUS WOR0Q 4 8959
I7z Iwen 3Jwyg puodsg  6TL9 SYL-TT
IWUSPesg  Z6EL 182 /Tz I 3Jwug puodds  STL9 dyrg BututEiey MSIOSPEST i 9959
mOIOEPReT OTIOH SYEL 1zz /77 Iwen qJeqg puooeg  TIL9  67L=TT dT10
65971 I91/82 Iwen 3Jeus puodes  LOL9 Buturejey IweH MAIOSPEOT I7C Y959
utd Supamoeg Buyrdnog 3Jwyspeey ,  0ZZL Iz ‘awen 3Jwysiejul  Y0L9 Y5L-TT
JelT0) yoanTy Burddite  9€TL Iz€ ‘xeen qJeysaejur  ToL9 dTTD SuTUIWeY J9n 4FVUSIDIUT 4 2959
PADOTS 3STIY] MOJOSPWT  LLOL IvZ 9T ‘awen aJwus SUTATIg  L699 *H°Y ‘Usmg 3JeUg puodsg €S9
AJW4g Puooeg  9SOL 1€E/€€ ‘Iwep 3Jvug uNjjog 2699 *H*T ‘ustg 3JEs puoddg  2Es9
IVT ‘3Jeug ejvipeurejur  670L 18T/S€ ‘Iwep 3Jeys Wo330g 8899 | usng 3Jeysaejuy 6259
Wgwig Juratzg  YYOL 18z 2T ‘Iwen 3Jeys wojzog Y899 *H*Y ‘ysng 9Jwus FUTATIZ  S2S9
YWg woylog  S2OL 12V 1z ‘xwep 3Jeys woyjog 0899 *H*1 ‘usng 3JwUs JUTATIg  T2S9
€oz=$7 (2) 172 ‘Iven meiospeeT VL9 exjuey ‘ysng qJeys woalog  TTS9
smelog Suirweg peduwly jjwyg woyjog ,  $869 I10€ ‘Iwep yoan[y S99 *H°T ‘ysng 3Jeug wo33og  BOS9
STE-8S 2e[10) 3Nyl AoI0ospweT Q199 *H°¥ ‘Ustg meospEOT G059
ABIOg BUP(OOT JWTTOD 3JWIS PUOOeg , LLE9 IeTT0p Jeowdg 3Jeys JOTqUML 9099 *H*] ‘Uysng medspweT  T0S9
0S€=65 Ie[(0) Ieowdg 3Jwys FUTATIg €099 €T6~0T USTg 3I8UI 3JBUS PUOOSS 4 B86Y9
M Iog BUPOOT JIWTO) ARJOSPWRT , SLE9 Ju[I0) POMeIog 3JBYS pUOdg €659 gY6-0T Uustg I®ep YoINTy JIOE & 6879
Bnyg e30p ysng 3Jwysxejur  T€69 IeI0) POMBIDS MBIOSPBRT 9899 676=0T ysng
Buyy eop usng JRYS wWOR0g ST69 Ie[[0) Sutuieyey MOIOSPWOT €859 Butreeg peduwly 3JvUs woyjog  08Y9
(z) SANWDOO] MOIOSPWOT €89 Y6L-€T usng M/D
TOO=LT 4oy JwqsIeoquy , TLLY dyro Suyurwiey 3Jeds BUTAtIg . TLS 3utaesg peduwlj 9Jwyg wWoljog LYY
WTITISEsq RO WTTIISesg S B WTdTIo8g —~ oy TP
TRVE ¥ SXwh SWISH fYoauvaD

T/R0L5-<T-aw 230 "J°0



gt S ¥ ¥ ¥l o o ol ol ¥l gl o ol ¥l oW ol ol oS g S ey

xoqJdeae=uou

:WN3LSAS a3a3ad

%S1L RYAYA Lz 9€ELL

LELL

90ZL

621L

‘ON ¥3s oL
07699 ON'¥3S wolj

€ZiL

(14 Y%

(1172 LEL




Zre-g7 (2) TeOT3I8) ‘smedog eveTg-dep
9¥e=8Y7(2) T®IUOZTIOH ‘smaadg eveTg~den
00 Tg—dey
Sutadg Treg Supyecoq
9A09Tg 96NIYJL MOIOSPReT
YJeyYspasy
712-97(2) smeIog Sutamosg pawnp UOTUL
00€=ES MOIDSHOOT JBTTO) 3JBUSPEST 4
00E£=€S MOIOSHOOT IB[O) MOJIOSPEOT
192 /e ‘uotutry melospee]
659=YT Ulg Supamoag SuTTdnoy 4JBYSpPeSg 4
JNWD{O0T 9A8STg 9SNIYJ,
MoIOSpPBOT
A9y 9A88Tg 9SNIY], MOIOSpPBOT
Loy uoTuUTg MOIOSpPEE]T

cLEL
TLEL
82EL
YieL
L
LeL

06TL

ey WU T-Y81L
ToTaToseq TN 00

I9z/ez ‘1wep 9Jeuspesy  9LTL

IB[I0) PWI~TTel 3JFBUsSpasyg oW

JeTT0p Joovdg J89D 3FBUSPRSl  YSTL

IB[T0) ©A98Tg 3SNIY] MOIOSpPBOT 9Y1L
IB[TO) POMBIOG MOJIOSPEET €Y1

I8[T09 yonTy JutddIrg 9¢£TL

€26-0T (2) ssushg pug—TT®] 3JBUSPOS] , TETL

(076-0T a0) 9¢6-01

(T a0 ) seysng pug-TTe] MAIOSPBST , 6ZTL
71601 (C) seusng I®0pn 3JBUSPOST & LTL

9T6-01

(2) sousng 3e3owlg PUI-PEOH JJCUSPOST o £XTL

88L-T0

(2) sTTeg BuT3e00] UOTUTG MOIOSPEeT o GTIL

pod oTL
N poTanuy €€9

(2) sxerT0p aedwdg JBEn=-eSusy) LS09

U 3dTao8sq

¥OQISSH=UON *RAISAS aZdd
O T T L

*ON JI9

27



it pi gt € p¥ g€ o R

peg den : NOMJdVY

¥

0189-71- IS

A

0L8L

0€6L

"ON'¥3S 0L
€€9L9 ON'Y3S wold

616L
oLl > 966¢L
0l9¢L \& 909¢L 6L8L
1808
868L
7€SL

2108 868L 0964 T9%L 8€9L

296L

eLLL
L

9€E6L

8€SL

€29¢L
098L
02sL
GG6L 16SL

L08L IS¢ gz6L €0LL




x0q1ed8 01a33m 3utaBy SIY3IB] [BIUBUIIUO) UO JON +

C12-9% maad8

1S /€€ ‘uoturd 3 Tesymmioy 1808 Sutuie3ax I2TpuUBY INU-ITBH x 9S8/ Izy ‘aea8 Buiptig 019¢
13yses pomop 3Tpuey INU-3T¥H z108 Iz1 ‘uorurd yoey L08L Izg/S¢ ‘aeeB 10309195 paajg 909L
(z) saeysem 1oduwep ieq yo3IeT 8008 utrd Surjedor Iyz ‘aea8 103eOTPUT TBIA+  TO9L
| pn3s paend 103BDTPUT [BIC+ L66L paen8 103e01puT 1RIQ+ €841 1gg ‘aead 191pI 96SL
! 8L0-z8 Surads 338ys padl x 886L €y0-y¢ utd T1eTIp I03EOTpUl+ 16SL
L6L-C8 8urjedor L9y dois oTpueH s Z8LL ABT100° Wed 3INU-JTEH 986L
Sutads sypuey jnu-jleq 096 %21-€2 (7) 8o1ddIu 22110 » SELL ¥8L-€1 dTT2
() sButads aeq yoje SS6L €L9~1¢ 3Inu Suiutejaa aee8 Buideians x HLGL
3JeYs 10309738 Ppa] 9€6L Sutute3laa Tooympuey uoxdy x LZLL 8LL-11 d11°
I€1 33eys Suryoex [9ympuey 0€6L 659-1z 3Inu Sur SUTUTBII IIADT MOOTIIUI x TLSL
3jeys uotuTrd P TIIYAWION 616L -UTB3I21 1838 103BOIPUT TEIA+ ¥ STLL %8L-€1 dIT12 3ur
3jeys aeed 3urdejang 216l Inu paranuy I03vOTIPUT TEId+ YAAA - =UTE391 1828 10309198 P31 & OLSL
$9€=09 M21d28 UOTSU3] (d1a32uw) Wed DTAJUIDVDI INU MIADSPEI] rd: 194
8utads 3jeys 10309135 x 0061 Inu-31eY M2I08pE] 81LL 166~01 ysnq Teoysmiom uoady x €557
79€-09 #2108 UOTSU] (paepue3s) 856-01 uysnq uoturd 167 x BESL
8utads a7puey INU-JTEH ¥ 868 Inu-3JTeY MII08pE] 4 441 %96-01 Usnq 1828 IDTPI x ¥ESL
-9y . 22491 }d01a93ul %0LL LS6~0T ysnq 1ea3 Burdeyang x zg5L
#3108 do3s ITpuey INU-ITPH 968¢ £y do3s aTpuey Inu-31BH 769 L56-01
$0Z-SY (pawoayd) 123ympuey uoady %19L ysnq i1e98 10302138 Pa’dg x OFESL
#3108 3UTINO98 3JBYS IBID y GL8L alpuey s/> (aaymspuey uoady €L9L ysnq pasuel3j M2Id8pea] GZSL
£0E~CS a8 (pawoaypd) , ysnq aeq yo3I®B] XOQULIOM 0zSL
Sutanoas £33 do3ls ITPuUPH 5 H.8L - a1puey Ta2ympuey uoady £€99L 370q 30ATd I2A3T }o01193ul SOSL
79£-09 @1puey o2ympuey uoady Tr9L aeq yd3e] XOqUIOH 69%L
#3108 3urandas 1wa8 BUIPIIS ¥ OLSL (pawoayo) 88.-10 11®q Burjedol
0SE-6S M08 9TpuUERYy INU MIADBPEI] 8€9L 3JeYs I030IT28 PIAJ yx H9y/
*298 IPIIO® WED INU-JIPH x 198L 9TPUBY INU MIAOSPEI] LE9L 88L-10 11eq
soe-gs (2) Paen3 103BOTPUT BT+ 174" 14 3ur3edol ITpueYy INU-FTBH x COYL
$M2108 SuTandas aeq YOIl x 098L 1gg/tz ‘*aead Zurdezang 919¢ 8utrised uoady 16%9L
Botadraoseq *ON a9piQ uot3draosaq *ON 12paQ uotadIaosaq *ON I3paQ
peg ded 3INOWdV
0189-y1-HIS °*32Q *3aY >

L LR LALLM L e




JRSRL N O S I O S T A N O

Peq 1uBSijeai§ : NOJMAY

€98¢L

8Ll
TiLL

STLL
T09L

L l\\\.\l\@/

8I9L

A

SELL

€8s

‘ON‘¥3S 01
EEILI ON YIS warj

626

I9%L 096L 868L ZI08®

8E9LI0LEYL

98g

198L

0€SL

L 097

1968L

04S¢

0oL

SELL

0t6s




X0Q1wa8 2119w Sutawy sIyjwy [PIVIUTIUC) UO ION +

16Z/¢€ ‘uorutd g (eaymmioy 1808
I9ysea pawop I[puBY INUITEH 108
(Z) sasysea 1odwmep aeq yo3le] 8008
pnis paen8 103vJIpPUT [RIQ+ L66L
8.0-28
Sutads 3jeys 10302138 PII § BB6L
L6L-78 Burads
2TPUBY JINU-J[BY AIIOSPEIT yx 0961
(Z) s8utads aeq yoje] GS6L
31JBYS 10323128 padjg 9t6L
1€l ‘3zeys Burydea [3aympuvy 0£6L
3jeys uotutrd pue [I2ymmiopm 6164
3jeys 1ea% Buroejang 16l
99€-09 A28
uoisu23l Butads 3IJeys I03IVI[IS ¥ 006L
29¢€-09
A3108 UOTSUP3] Bujads I[puPH 5 B68L
Z1z-9%
m2108% do3s ITpuey INU-JIPH 5 9681
Y07-Sy A3138
8uirandas 3jeys awa8 Burowjyang 4 6L8L
£0E-€G Maa0®
Sutanoes 4Lax-dols FIpuUvH ¢ 98¢
29¢-09
#3108 Sujandes i1wad BUIpPIIS ¥ OLBL
0SeE-6$
A3108 D98 2[00 WED INU-JIFPH » 198,
SoE-€ES
(2) sma108 Bujandes awq Y23Iw] 4 (098¢
uo«uuwuu-oa 'Oy 29pa0

C1i-9y naaos
Suturw3ax aypuey INU-JIVH ¥ 958/
1z1 ‘uotutd yowy L08L
utd
Suyr3iedo1 paen8 103wOTpUl 1¥Id+ €8LL
Ev0-%2
utd 8uyjedoy Lexn-dois 1puvH § Z8LL
1£8-08
(A1uo Buysne1d) IYBIs1I0 ¥ LYWL
yZ1-€7 91dd1u 39110 ¥ SELL
€L9-1Z Inu
Butuyeisa [eeyapusy uoady  (ZLL
6S9-1z 3nu
Sutuiwiaa 1we8 103WOTPUY [VIA+ v STLL
Inu
peranuy pawn$ 103wdTpuyl [eIqde 1444
(°1239@) 3Inu-zIvy Ad1d8pwe] B1LL
(parpuwis) InU-IPY ADIDEpPY] rA Y44
19A31 }d01as3ju] oLl
43 doas @ypuwy 3Inu-jiey t69¢
(pewoayd) tesyapuwy uoady vL9lL
aTpury A/d> 19eyapuwy uoady £L9L
(pewmo1y2)
o1pury Teeyapuwry uoady €Yol
o1puvy [eeyapuwy uoady 14174
(powoaypo)
PTpuUvy INU-JIPY AIDSPROT] 8€9L
PTpury INU-ZTVY ARIDEpPER] (9L
pawnd 103€djpuy 1vIde 829¢
18c/zz ‘aved Bujowjang yi9L
uoyadyasesq *ON 20p3Q
Pog 34dyviag  INONdY

0189-GY1-Kis '¥ag ‘joy

1zy ‘awes Suipiis o19¢L
1z€/ST *ave8 103d9198 peajz 9097
lyz ‘awe8 o3wd1puy ¥IG+  Z09¢
1c¢ 'awed 1a1py 96SL
191p 203®21pule 16S¢
API10° wWed INV-.JI¥vH 98¢¢
v8L~€1 4112
Sutuielaa awes Surowjang ¢ yiSL
8LL~-11 d112
SuTuTPIAI IPAR] WOTINW] ¢ ZLGL
98L-€1 d112
Bujuywiax 1weB 10329198 PRz y OLSL
awd Umuuﬂﬂuu. Inu zhung ﬂah
166-01 ysnq [eayamion uoidy 4 (¢gf
856-01 ysnq votuyd 1¢7 ¢ @CSL
%96-01 ysnq 1wed 01p1 4 9(§¢
L{S$6-01 ysnq 2we8 Suydwjang 4 Z2(SL
L56-01
ysnq 1wes 10309198 peeyg 4 OCSL
yenq pefuryy 11494
yenq 1wq y21wy oTse
310q 30a7d 1ea0] ydoOlie3luy S0SL
avq YI31w| xoquiopn 69%¢
884~10 11vq Suyiwdoy
IJRYS 20300108 PRRY 4  9OYL
88L~-10 11%q
Sujawdoy eypuwy Inu-jren o Z9We
Suyaised uoady 09%L
lo«uuquuoco *ON 19piD

3l



[ S S T PO U VN O S N T S SO

w

XOBWMNOM NOMLAY

o W3S 8
(0900 o u3E ey




93e1d 39A97 JudwWA8e8us xoqumioy

uotutrd  wioM

Sur3sed xoquiom

8€L~-98 Idysea mai1ds Burandas Butadg

S8utads uanzaax yoze]

(2) s8utads sanssaad 3Jjo-ydouy

vZg-78 S8utads aa8unid sypueq

Sutads 3eaq

33eys 3aoddns 3uradg

33eys uotuld 3 wiopy

€0Z-GY ma108 Burandas Zurads-jed]

L9€=-8C M2108 3uTandas 3IJeys

0SE-6S #2108 Butandas yoje]

€0Z-SY (y) sma1ds Burindas ysnq 31oddns xoquiom
8Zy-89 (7) smeads Buryd0o7 3Ijeys 3ioddns Buridg
Zv€-8S (Z) smaads Burydo] ma1ds Burisnlpy

(z) sme10s Burasnlpe aanssaad jjo-xdouy

#2158 Apoq 193unid 3[puey XOquUIOM

m2108 3Buiisnlpe ajpueH

J98unid uan3iax yoje]

uoyadraosaQ

G816
0L08
0908

% 9108
1-%86L
8L6L

» 0L6L
7964
796l
8164
168L
88L
SL8L
S98L
£S8L
1$8L
ov8L
8€8L
1-LE€8L
L8l

€« &€ & € & &

*ON 29p10

398unid aypueq
uotutd XoqmioM

uid 19491 3udwa3e3ud xoqumioy
y99-41 uld °29s Lpoq 123unid ITpuUBY XOQUEION
gyS=yZ (7) sutd 3821 xoqmiop
urd yo3e] XOqUIOoM

urd jjo-yd0uy

(z) 829214 Burydoed 3utads jea7]
(z) sped maa1d0s Burisnipe ainssaig
(z) sped Butrdwep xoquioy

yo3®] XOquIoM

(powoayd) IPuBy XOquUIOH
a]pusy XoquUioM

(7) saeiiod Butrads aanssaig
ysnq utd jjyo-ydouy

(7) seysnq 3ioddns xoquioym

(2) 606-01 ysnq uotutd g mioM
ysnq aed3 10309]98 PpPIJ 17€/ST
390B1q XOquUioM

398unid ajpuey xoquiom

68(~=T10 11®q JjO=-)d0Uy XOquioM

uoyadyaoseq

X0gWd0M NOUdAV

0189-ST~H1S °33d *jod

1-€28L
%18L
€6LL

v B88LL
s [I8LL
08LL
LeeL
€9LL
9GLL
€SLL
969L
1-6%9¢L
1-8%9¢
¥8SL
0sS¢L
6%SL

v 09S¢
0tsL
TiseL
1-66%¢L
v S9WL

*ON 39p10

33

“§%iu



_yrrrrrrrdag g

B SR S S

peqgdeS : s3AINS P 37QAVS

97 a4l ] s mesmp 4859

4 %58

~ \ﬂ\
\
i
»

£sie




(2) #8a "sasdia Leapag 1v98

(2) 3w1j *sasdin Lenpag 698 C1z-9y Inu A93ds aprrs-doy L628
SBpIA P 9-98020 YSFIAIVQ-JIVY  1-0(9% () sma23e Buryde] 41238 IP9g ¢ SOVE 13m -
asuevA m33138 Puyadol Sppes 1298 Y1Z-9% *£se® INU ADIDE IPI[S-8801) Z-£8Z8
A3319§7001 A/D awployioo] €198 (v) ssa1>e Burienipe dya3s Jvay o 10YE INU ARIDE IPTIS-8801D  [-BLI8
(spoq-g) 4136 3uolj s(ppes (658  SYC-gS (v) sma1>e Butasnipe Q10 o (V8 (powmoay2) deay Aa1ds apyys-doyr 1.8
(opoq-y) €238 18015 BIPPYS v658  SYC-@S (9) sms1de Purieniper §10 o SIWE deay ma1ds apyrs-doy 028
SHL~28 (9) sHujads Buja xepu] o YECE ms3128 (001 19plogiool 1298  (powmoxyd) deey A21% IPIS-8801) 1928
3081ds SpI1e 19alag cse 218 Buyydo] I1PPES 198 dooy A2128 IP}[8-9801D 0928
q13 A/ spjie~dol pawpurig 1431 e 3 ARIds epjis-dol 958 (pewolwd)

BPI1e 19ATAG 1=I%68 DJAINE INU A/D ASIIE IPI1S-8801) I-4vv8 s1pusy a/d> (esyapuwy epyyedor L1928
Q1% A/> spyis-esola)  (=9(L0 INU § ABIOE SPIIs-801)  [-5(¥8 e3e(dwod ‘teemypuwy 9pyis-dol 9928
(Z) #9a ‘spiatus asdya Awapeq (%41 Sujise2 o1ppes 1-51v8 (pewmoayd) o1pury 8
(Z) 3913 ‘ep1ejys aedia Lwapey 1268 sja3em Bujl xepuj spyisdel 908 a/2> [eeyspuwy Pp}[s-8801) LET8
1eE=L¢ Suya xepu] epjls-dol 0%8 o3[ dwod ‘ [eoyapury 2p}19#-8801) 9¢Z8

Asine *DeE I0L SEpea epjle-ss0l) » (168 Pjasew Sujl xepu} SpjIs-escl)  T-86(9 (powoayd)
ti=ey (D) Buyl xepu} PpIIS-8801D z6(8 spuwy [eeyapury epiisdol L618
A6 ‘DB INU ABIDE BPYI-E80L) & I168 e3w(d dmwld 1eployiool 69€8  (Z) #o1puvy [eeyapuwy @pjis-dol 9618

ToT-EY eawyd pexyj dja3s Ivel 1PPYS s9C8 (pewmoayd)

(§) emaiDe Bujandes asdipn # 1168 eavyd slpuwy [Peyspury 9p}19-8801D 1618 .
82I=LY Sujaen(pe d1238 I¥el FIPPPS z9¢8 s1puvy [eeyapuwy °p}[9-8801D 0618 ™
(7) saaips Bujandes dyaas awey o« 6OCW wojujd A3d8 PIIS-8801) (V. 1%°] q18 esprie-dol €L18

B12-9 e>9}d [sajas 19ployIool oves (z) #q18 @p11s-s801D) Z-L918
(z) smsips Buyanoes dyaae Jweal « SOLE y21-€2 (8) #o1ddyu 19110 » BIC8 ae(10d 19ploytool €518
£9( =09 BAB308 Fujindas InE AlId§ 4 1088 I SujurIal ARIDS PPI(8-9801D 9uee sujd a/> duw(d> Bupid01 S1PPPS ze18
(Oi-6y (7) sasads Buyamdes deay o 66v8  169-T% Inu SujuiwIal [PIyapuvH o Z1E8 (z) anu
soi-Lu(Z) SAs3ds Buiandes deey o (6v8  ¥E9-U Inu SuTUIRISl 19IGAPURH s B0C8 ¥ 310q dme1d> IPFIs [2AIAS  T-0Z18
1oz=Cy (y) saside Bujanaes Q1D » (6v8 ey 88,-10 (9) 4 50
10:=5y () smaxds Bujandes Q1D » 16v8 sane 3j0q dmwd PTIS 1241 » [Of8 s11eq @anesaid Juil Xepul 4 9608
Soyad1aoeeq BN 39p30 Sotadiaosed “OR 39P30 Totadtaoseq *ON 32P10
Pog ovo :S3qITS ¥ FIAAVS
01897 91-US g STRCF T
&



L

P I B O T U U 2 S = i S S N o

peq jySieuais : S3IAITS P 74QAVS

0189-Z1-WIS
L9v8 €18 1298 L6S8 1928 1618 9LE®
09z8 om—m/Wﬂ\
L678—e® 80€8
. Lez8
9€28
I-86€8

z6es

‘ON'Y3S OL
€€9L9 ON'Y3S Wold




(2) ?9a ‘saadia Lempag 1998
(7) 3013 ‘saadim Lempag 6€£98
28paM IpI1S-850a0 yse[yoeq-13uy  1-0£98
I9yses MIIDS }J0] ITPPES 1298
#33281003 #/2 2IPTOYT00] €198
(peq-g) drajs-juoay ITppes L6S8
(PPq-v) diais-3juoay STPpPes %648
$6,-78 (9) sdutads 3uia xapul ¥ %88
3081ds IPITS T2ATMS £LS8
q18 a/d ap1Is-do] ¢SsS8
SPTIS T9ATAS  T-T%S8
q18 A/0 9pIIS-8801) £-9€GE
(7) 99A *‘spio1ys aadim Aeampag €758
(2) 3e13 ‘spiotys aadim Lempag 1268
T1€5-£L M310s8
*03s JInu IZpon IPT[S-8601) yx €158
€Tt-Ly (T) meads
*23S INU MIIDS OPI[S-S801D y ¢IG8
20¢=-SY (8) smoads aadIm pog x T1G8
6cC-Ly (T) smaads
Sutandoas dixls IBaa ITPPES ¥ 60S8
812-9y (¢) smaads
Sutandes dia3s jJuoay I3IpPpPeS x GOS8
£9¢£-09 Mm3108
Butandooes Inu MA206 IPTIS-dol x TOSS
€oc-s% (2)
sM2105 Sutandas doay ap11s-dol x 66Y%8
90¢-5%(7) smaads
Sutandoes do93] IPTI[S-56010 x L6Y8
91¢-9y (¢) maads
*098 paend M210S OPI[S-8501D) x G6%8
102-5% (9)
sma108 Jutandas qi18 aprI8-dol x €648
uotadradsaq *ON I2pag

102-5% (%)
S8M9108 3uTandas qi3 9pPI[S=-5501) 16%8
€1¢-9% (2)
sMa108 d01 d1als aeaa STppeS 58Y8
¥1¢=-9y (¥) snvads
8utasnlpe d1als aeaa aTppes 18%8
sye-gs (9)
sMa208 Juiasnlpe q13 9piis-dol LL%8
cve-8s (v)
sm210s 3utisnipe q18 IpI[S-5850a)D SLY8
M908 1003 I9pTOYTIoOL 1298
#2105 Burd01 1PPES L9%8
(d1a38w) 3Inu R MPIDS IPITS=-GO] 0948
(paepuels) 3nu 3 maAds IpI[s-do] 9648
(9Ta3jsw) INU § MOADS DPI[S=-5501)  (=GhHhQ
(paepue3ig)
INU § MIADS IPI[S-5801) [-GEYS
Burjsed a1ppes 9298
(°1a3°w) Yuix Xapur IpI1S-do] 90%8
(paepuels) Burx xapur aprIs-dog] 0%8
(°1a3°ow) Sura XIpuUT OPI[S-5501D T1-86€8
(paepue3s)
Suta xopur OpPIIS=-5501D Z6£€8
aje1d dweld a9proyIOoO] 69€8
23e1d pax13 d1als-aeal I1pPpes 69¢8
@3e1d
8urisnipe drais-aeax ITppes 29€8
uotutd MBIDS IPTI[S-8501) 0S€8
9091d T9ATINS I9PTOYTO00] oYv€S
y21-€¢ (8) so1ddIu I91I0 8z€s
Jnu 3uluielv8Ll MIAIE IPIIS-§5S01) 91€8
uot3dravsaq *ON I2PpaQ

ped 3ysIEalg

0189-L1-HIS *33q ‘3ou

$S4AAI'IS % A1AAVS

169-1¢ Inu T93ympuey 9prIs-dol
$G9-1¢ 3INU [IYMpuey IPI[6-8501D

129-0¢

(2) sanu 370q-dmwe|d 3PIIS [PAINS

(°1a3°w) 3Inu 421ds aprIs-do]
(paepuels) iInu #3108 IPI[8-do]
(°1a39w) InNu MIIDS IPI[S-8601)

(paepue3s) 3Inu MIIDS IPI]S-5501D
(powoayd) deay M210s ap11s~do]
doay meaos apiis-dof

(powoayd) daay M3ID8 IPTI[S=-8501)
do9y Ma10Ss IPI]S-5801)

(pewoayD)

L1quasse Toaympuey apIIs-dol

L1quesse Toaympury aprIs-dog
(powoayd)

L1quesse Taaympusy aP116=-8801)
A1quesse I9umpury IPI1S5-5801)
(pewoaypd)

(g) s?1puey (o9ympuey ap1is-dor
(2) so1puey (aaympuey apiis=-dog

(pawoayo)

9Tpuey [29ympuey I3PI[E-5801)

?1puUBRYy [o9ympueRy IPI]S-8S01D

paend ma1ds IPI[S8-8801)

q18 apris-dol

(2) sq18 3pTI8-5801D

aB1109 I9pTOYTOO0]

sutd m/> dued Su1lyo0] [IppeS

@

s3nu § s370q dwe(d IPITS [IAIMS

88L-10

c1es
80€8

LOE8
TO€8
L628
¢-£8¢8
1-8L¢C8
1L28
0L28
1928
09¢8

IATA:
9%8

LET8
9€Z8

L618
9618

1618
0618
£818
918
¢-L918
€518
(43 ¢:

¢-0C18

(9) ®11eq @2anssaad Sutx XAPUI x 9608

uot3dransag

*ON 13p1Q

37



D O I T S

MOOLSTIIVL
0189-81- WIS
TT] sL98 ocLe
1-80L8
S888
z-589
0588
0099
z-9
-Lue
%88 mm“
S6L8
1-1698
i-52e%
1-9548,
733|||/
SL8 \
7708 (.
) v \8
9€48. Q
sEL8
\%
1-2049
z6L8 9140 €100 1-1048 00Le olee 99Le
"ON"Y3S 01
07899°ON Y35 wos4




IYL=-S8 I9ysea 3Inu °*3a1 93e(d duel) y 8888 (pawoayd) azaa1 due(d 111wy 9.L8
91L-¥8 (T) saousea Butads 370q ?seg x 9888 29491 dueyd 1311wg SLLS
$69-58 (7) sadysem ureid 370q 9seg » G888 9€8-81 qouwy 1391 dwe]d }0038TIEl ¥ B8ILS
%S€=6S (Z) #2108 Burure3al UTd I3A0-33S5 ¥ (0988 8€8~81 qouy 19427 dwe[d (211 » 99.8
Eyc-8S (Z) M2a0s *098 M2I0§ T9aaeq }O0ISTIBL ¥ 6588 (pewoayd) daay #a108 Nd03sTIEL  1-95L8
1€S=-¢, #3108 do3s I9ad7 Sutdweyd jyoo3syIel x 8588 deoy #3108 o038TIBL 1-GG/8
1€C=Ly (T) 8M3I08 I3A0-195 4T-($88 (pPmoayd) A1quesse IdYmpueH SYL8
M98 T9aaeg .ecwm 9397dwod A1quesse 22YspueH w9L8
93e1d duweyd }203ISTTE®L  1-5€88 (powoayd) 3Tpuey T23Yspusy 9€L8
(2) sutrd 19A0-325 }O0ISTTRL  1-~0€98 ?1puey [I2YapueH SEL8
ygc=-yz uld do3ys z9aa7 duwl) KI~5C88 9I3U90 ISAOK ¢ °ON 0€L8
ped dueio 12aaeg 8188 wed dweld [daaeg [-LIL8
yT1-¢z (¢) sa1ddtu 12110 ¥ €188 ysnq daay }d038TIERL 91L8
Inu A28 T2aaeg 0088 (2) #310q Buture3ax 3svg  1-80L8
969~ INU 12491 dweTd [2aaed ¥ S6L8 310q-34 Burduei) €08
L89-1C 3InU SUTUTEIDI T23YMpPUvH 4 CT6L8 S06-%0 $uTaseq 3IBNIYI AII08 [aivg »1-1698
§L9-1¢ 3Inu Surure3ax I3wld-dwe]d 4 8B8L8 98®q o038 TTRL  ZT-5898
(pawoayd) A1quesse 12497 dweld }O03ISTIPL  T-78L8 132avq }o038TIvRL SL98
A1quasse 19a21 dued }O03ISTI®L 1~18.8 Sur3eed uyem }O03STIPL  Z-9998
uor13d1a0890 *ON 29pa0 uor3diaoseq *ON 19pa0

AD01S8TIVL

0189-81-W1S °*8ad ‘jJoy

39



From SER.No. 66840

To SER. No.

7392

-
;\! o~
o R

7338 or 7345

MAR-19-6810

9076 or 9080

BED & TRANSMISSION

R e e e e e e E il N i

CABINET,




CBV $312q 93 1-09L0C LTquessy os®g FOUTQBY 2168

70,78 (T) sIeUsEM 370 36A08dg , VIT6 9oL~78 (9) steussy Sutadg mexospeg y 0074

26968 (V) sIeuseM melog BUTIndeg JIOJOW , €2T6 qJeyspeog  T6EL

66958 () sseusey qny Burysnfpy wIoJIeTd 4 OXT6 0S€-65 MOIog ¥0O IBTTOD HJBUSPRSd & VLEL

Z0Z=G7 (L) 8MeJIDg @3IWTY JI8A0]D 4 LOO6 T0Z=6Y (2) smexog BUTInOag }O®Y » ELEL

62z=L7 (V) smeIdg BUTINOag JOYON , 5606 =87 (2) A._”do._pugw sMaI0g 80aTg-den , zZLEL

Mm\u 0§ (peedg=z) AeTIng JO3OH 1806 972-87(2) (TPIUOZTIOH) smedog avetg-dwn , TLEL

S/0 09 ‘peedg~z) LTIy I0IOW 0806 092-05 (9) smeaog Sutanoeg ped , OLEL

Mmb 05 ‘peedg=T) LoTTng 030N  6LO6 (peg-g) Ho®Y  99€L

§/0 09 ‘peedg=1) LeTTng JOION  9LO6 (peg-y) owy  S9EL

M?&m..ﬁ BULIOJ}BTy J030y  9€06 659~YT utg Butamoeg Jutrdnog=gJeus , YSEL

peedg=T1) SWIOJI®Td JOION  SE06 6€5-72 (€) suUTd BuT3eO0T NOBY  €5EL

pexog ‘e3elg eaanor 7206 otajey ‘meaospwdT  GYEL

39T ‘e3®Tg eJanOT 2206 ystIduy ‘megospee]  BEEL

090-42 (9) s8uTy=TT0 3T°d Ped » 7006 eosfg-den  geEL

869~zZ (Z) SInN 3Tog 38308y » 6668 Sutrdnog 3Jvuspesg el

6€9-02 (V) sany Bumisnipy WIOFIBTY , L668 I8TT0) pUE-TTel 3Jeuspeeg  TeEL
938 IJ-POXTy PIwnpy Useldg T-clé8 (330 T = 076-0T 19)

ATquessy prsnp gseTdg yovg T-TL68 9€6-0T (2) sousng pug-TTel MAOIOSPeRdT , 9TEL

JeqTTJ UTBIg FUBTO0) $968 €26=0T (2) seusng pug-TIB] 3JeUsSpeey , ¢€T€L

q9)oBlg WIOJIBTJ IOION 6768 (3uSTRI3S) PPg  BOEL

$50-88 (2) S3Tog BurInoeg 3ejoslg , LE6S (edf1-dwn) peg  90€L

WTIATI5e5q YON P00 WTIdTI0o85q 3N 1330

NOISSIWSNVHI ¥ @d IINISYD

OI8o-6l-uw 2xq Jod

4|



-
T
°
[
3
£
<
s
-
e
2
-
-
£
-]
-~

(=]
1
-
@
@
~
~

22880-0

STM-20-6705/1

—_——

ELECTRICAL EQUIPMENT

e —— ———— v — el — o — e — ol e Lo L vd e

0

S |



(398) 39208 3 Bnid ao03wyOS]

050-£8 (Pea) do3s ‘yo3tas-uolang
6v0-£8 (u2218) 3ae3is ‘yYo3ias-uolang
0-688C7 103 qouj

0-0882C 103 qouy

$86-€8 STIO 3309T119(q % Bre1) ‘YoITAs JTW}]
I [90H=-IUND0TY ‘YOo3ITImS 981249y
?2397dwod ‘JTUNn YOITAS 2819A9Y

166-€8 T1€Tds uolues ‘yd3tas paads-oal
£66-£8 BLLYS uojueg ‘yYd3TAs 1030w UIWH
YOI~$ ‘31un pPROTIPA0 103093U0D

uor3dyassaq

0-29617¢
0-%S627
0-£S6cte
0-L16C0
0-5162¢C
0-6062¢C
0-0062¢C
0-5682¢C
0-688CC
0-0887¢C
0-6987C

‘ON 39P20

60=-€8 V9= ‘3ITUN PPOTIPA0 103093UOH
v60-€8 (@391dwod) ¢I-g 2223qwa) *303293U0D

880-€8
L80~-£8 (398) $30w3U0D BujAom § PIXTF 30329IUCH

£60-€8 8/° 09 ‘°*A009-05S ‘1702 103283U0D
€60-€8 #/° 09 ‘*A08y-0%Y% ‘1700 103293V0)
£60-€8 #/° 09 °*A0ZZ-007 ‘17102 1032¥3U0)
€60-€8 8/2 0§ **A05S-00S ‘1102 1030®W3U0)
€60-€8 /2 0§ ‘*A07y-08€ ‘1702 103d¥3u0)
£60-€8 ¢/ 05 ‘°*A0YZ-0ZZ ‘1109 103d¥3u0)

0-89877
0-09877

0-79877
0-L1877
091827
0-S1827
0-€1822
o-11822
0-01822

€60-€8 8/ 0§ **A0ZZ-00Z ‘1700 2030W3U0D » 0-60822

uoradyassaq

INZWINO TVOIULDA1E

1/5009-0¢-Kis '¥ad ‘jou

*oN 19pa0

43



STM-101-6810

STEADIES (steady rests)

X [ e 1 T e, ? . N L.

i 4 ; "J

T Y el T el S -

T gl

S I



Sutr3sed do3 Lpeoag 0-6S€YC

£€9€=09 (€) sM2108 BuIYO0T IPBUTAd y 0-LSEYT
(g) smoaos Zurisnlpe a98ury 0=96€%T
L€9~07 (¢) sanuyooT 310q J0ATd % O=E£SEHT

%69-68 (T) 8adyseA maI08 BUTINDIS x 0-98%%T %19-07 3Inu 370q 923e1d-dWeTD x 0-TSENC
€Sz-6% (Z) smaads Butandds Apea3s x 0-I8YHT (€) @°zuoaq ‘s3jzesur I28urg 0-6%¢%¢C
G9¢=-09 (Z) Sm3108 3BuTido0] IBuUIy y O-I8%YT (g) 9138e1d ‘s3jaesur aa38utyg 0-8%¢%C
(2) sme1d08 Butasnlpe 1a8uty 0=-08Y%¢C (€) saaBuiy Apeaig 0=LYEYT
(2) szuoaq ‘s3aasur 138ury 0=-9LY%2 23e1d dwe> Apeo3s 0-EYEYT
(2) »r3serd “s3aesur av3uryg 0-SLY%T : j03 dwer) 0-T7€Y¢
(2) sas8ury Lpesis 0=4L9%C 310q @3e1d-dweld 0-8€€%T
€6L-10 (Z7) s11®q 3uryoof 198uTy x 0-TLYYC 3109 30A1d 0=-LEEYT
Sui3sed Apee3s 0-69%%¢ Z11-80 3109 3103 dWeId s O0-9€EHT
§69-68 I2ysem 3T0oq 23e[d-dweld x O0-T19E%T €6L=10 (€) S11eq BuTyo0] 19BUTI ¥ 0-GEEHT
urd-a3uty 3103 dweid 0-%SEYT 8u13seo aseq Lpea3s 0-€€EHT
uoT3d1a983q *ON I9P20 uotadTadsaq *ON 2P0

XAQVAIS ONITTIAVNL - € AQVELS AYVNOIIVIS =~ V

SISy XAVALS

0189-101-ALS °3ad *3F°¥

45



254930

25438

25408-0

Sh

102-6

STM -

——

SQUARE TURRET TOOLPOST




9113w ‘Inu M3IdS IPTIS~dol 0-L9%ST

daysem pauwop mﬁ—uﬂm-.ﬂlwﬁ,.:r:m.mo Olhmﬁmw vumvﬂmum .uﬁc MPJI2S o.v.mﬁmlnou. 0-99%G¢
G6L-¢8 (€) sdutads SUTI-XIPULI y O=-H6%5C anu dwmelo 321anj 1-69%52C
(€) sdutads peoy-aag 0-€6%S¢ de9y ma1ds apr1s-dol 0-%9%6C

dutads zaduniqg 0-26%S¢ (pewoayd) [3dympuey 2prIs-doy 0-65%5C

Sutads Suijedo] 3I2aang 0-16%$¢C 1o3ymnpuey apis-do] 7-8G646C

8L0-78 (Z) sButads wed Juixsapul x 0-06%ST (pawoayd) ajpuey JI3ymMpuey 0-LS%ST
q18 m/0 apiysdol 3aaanj-aaenbg 0-68%S¢C aTpuey 13a°YympueH 0-96%ST
S¥€-8S (%) smeads Juiisnlpe qro y 0-88%ST (pawoayd) a1puey Surdwe)d 0-55%ST
102=-S% (%) sMdId8 3utandas qIH s 0-L8YST arpuey Jurduer)d T=%5%9SC
(8) smeads 1001 1-98%SC Q18 °p1is-dol 0-£S%S¢

Nonlow A¢V SMOA0S =0mm=0u 11eq-=wWed Xapul % Olmw.qu A9A09 wc...nuwom .—.lme.va
Omclwo MIAOF INU=MIIDS wvwawaon—. »* Olﬂw‘\MN Acv sABTTO09 Hﬂ3ﬂh—u£um3 ysng Olwcqmﬂ
y12-9% M210s a1puey Surdwe(d x O0-£8%ST g9L-11 dT1° Sururelax wed x 0-9%%ST
U..n.qu.E - 30U 3\0 MIIDS Uv.m.nmlao.ﬂ OIchmN wed uwwd—uﬂm ._..Im##mN
vhmvﬂwum - JNU 3\0 MRIOS ﬂvw._..mlm.o.ﬁ OlawcmN wed wﬁmxmvﬂH O=h4% %S¢
m3108 Butdwe|) €-8L%ST (¥) saysnq 8ur3edo] 331an] 0-1%%ST

dtazaw ‘Suta xapul 0-LLYST jo01q 321an] 0-0%%5¢

paepuels ‘Butx xapuy 0-€£L%ST ¥88-%0 Butaeaq 3Isnayl x 0-6E¥ST

ysnq a/d> 13dunig 0-TLYST 98.-10 (€£) si1eq Sutrads peol-21d x O-8EYST

utd Suryd01 0-1L%S¢ 88.-10 (€) sT1eq 3uTlx JUIXIPUI x O=LEYST

6G8-L7 Sura 110 I2a00-Butaedg x O0-0LYST 26L-10 TTeq SuTIEBIO] 3I21INL ¥ 0-9E€%ST
169-1¢ Inu 3uTandas [29aympueH x O0-89%SC 88.-10 () s11eq Wed-3uTXapul x O0-SE¥ST
Woradrassaq *ON X2paQ uotadraosag *ON 29paQ

IS04I001l 134Nl TIVAOS

1/59=-20T=-HIS °3aq °33¥

47



24875-0

24874 -0

STM-106-65/

QUICK=-CHANGE TOOLPOST

R . PRONE syl LN ey Tt G _—

o J

o

-y

‘I d ‘l 'rd



Iproytool jjo-Surlawg

a9pioyiool aedei-asaomw 7 *of

asployiool avq-Sutiog

d9p1oy1oo3 pavpuwig

epwIq jjo-8ujl wg

ZOZ=$y A®1ds Bujandes 3s0dio0]

$89-1Z Inu Sujduwi> 3sodiooy

(opy18doa pe3loys) awiro> Sujjwdoy 3sodiool
(epy1edo3 prios) awyrod Suyjwdoy 3sodioo}
(*p31edo3 pe3doys) 31eq 3Isodiooy
(opy1sdol pyros) 310q 3sodiool

uojadraosaq

0-006Y2
07668Y2
0=L68Y1
0-968%2
0-$68YC

¥ 0-268%C
v 0-168%C

0-988%2
0-$88%2
0-£88YvC
0-288%¢

*ON 29paQ

1S041001 IONVHO=-IDIN0D

1/59-90T-RlS °33Q *jod

gouaia Sutrdue(d 19proyrool
gouaaa adads-Surduwid (00}
do3s Surisn[pe-3ysyey
Sutrads ped duwi)

sn21d8 Burduwido-100]

urd Suyjwdol 3sodioo]

ped duwe(d aepioyrool

wed duwyd Iapioyjool
a®1109 Suirdume(d 3sodjool
4poq 3sodjooy]

uoy3diaoseq

0-5L8%C
0-%L(8%¢
0-£L8%C
0-0L8%2
0-698%C
0-898%2
0-£98%C
0-%98%¢
0-€98%2
0-298%¢

*ON 22PaQ

49



{ y “ L “ 1 .“ 8 “'» T‘, ,J j» FoL | e » . 4

ANIWHOVLLY DNINMNL d3dVL JId0DSITAL

0189-701-HW1S

0-06252 0-,0252 (-0€252  0-LIZGZ
o-suﬂf i o-SNm/N’ ko-m.amN
0- SNA.,N @\\\n\n_-mﬁ»&
)
2-90252
(- 16252
0-L€252
2
1-9v252 1-72se
@/o..:«ﬁ
-€v252
1-owsz
1-61252
0-11282 \@ o226
(12252 0-zviez
0-wizsz \m 0-95252
0-€%26
1-01252 ‘,, 80252
- omﬂ\@ 0-61257 0-95262

/ 1-66262
%.25
1-8iz6z L-€2262

D \— R 214°14




sI9ysem 3ISNIyl Suiaeag

OPTIs T2AIng

207~y smdads Jurandas I8 YO01Qq-2PIIS
20¢-Sy S$Ma108 3utrandas qIrd-3ayomag
91Z-9% $M108 SUTIND28 UOTSUIIXF
%#17-9% Sma108 Jurandas 3Jadeag

LET=-8Y M2aD8 BuTryD0 poa-Jur3jo’auuo)
19€-09 #2108 BuI}20T UTd-DTIJU3IDY
0SE-65 MPads JUTOO0] UOTSUIIXD 3Jdeag
Y-8 MaI0s BuTHOOT 3IYOeaq Ioyouy
€12=-9% Sma108 JurduB[d IPIIS=-[IATIMS
E€9€-8S sma1os ZJuiisnlpe qI8 3D01q-3pPITS
GvE-8G smaads Buiisnlpe qr8-3adeag
#2108 Zuiasnlpe IpIT8 T2ATAS
(paepue3s) 3nu m4/O IPI[S=680a)
(91a3sw) 3Inu M/O MIADS BPI[S=-8601D
poa-3urjosuuo)

30ATd IPTIS-T2ATAG

23e1d poxta

Zvs=-yg. sutd Buriedo] 39jovag

uo13d1aosag

(O 1 YA YA
(Ol YAYA
0-162S¢
0-0S¢s¢
0-6%¢S5¢
0-8%¢S¢
0=-L%2S¢e
1-9%¢S¢
0-6%¢s¢
T-%%2s¢
0-t¥¢se
VA FAYA
0-1%¢S¢
1-0%¢S¢
¢=-6€£1S¢
1=-8¢£¢S¢
0-L€2ST
0-%€¢s¢
0-€€25¢
¥ 0-CE€CST

® K € &K £ K kK XK K ¥ K

*ON 12PaQ

urd 9T1I3uUa293

ped dmeid poa-3urjdsuuo)

9091d due(d 333de1q 20YdUY

Jnu Maa08 Suiisnlpe IpIIs T2ATIMS
099-1¢ 3nu Suilsnfpe Suraeaq 3Isnayl
(9Tajouw) 3Inu MdIO8 ITPPES
(paespue3is) 3Inu MIId8 ITPPES

deay maaos Buiasnlpy

Suisnoy Suiaeag

q18 39yoerag

QI3 3}2019-2PTTS

UOTSU23IXD IPI]6=-8801D

UOTSUI3IXd 3IdBIq I0ydUy

99/~z1 8dI1> 3utuie3laa Suiawag
(¢) sdweld IPTIIS-T2AIMS

ysnq dosy asads Surisnlpy

}001q °PTIS

ZL8-70 SButaeeq MAIDS IPI]S-5501)
393oraq Jduanj-xade]

39%oraq aoyouy

uotadraosa(q

INAWHOVLLV ONINYAL YAdVI OIdOOSATIL

0189-70T-WIS '3ad °joy

¥

¥

1-1€2S¢
T1-0€¢S¢
1-622S¢
1-92¢S¢
0-62CSe
| S YA ATA
1-2tise
T1-1¢¢Se
1-0T¢s?
0-022S¢
1-61¢S¢C
1-81¢4¢
0=-L12ST
0-612S¢
0-%126¢
0-11¢s¢
1-012¢S¢
0-802S¢
0-L02S¢
¢=-9025¢

*ON 19pi0

Sl



o S I Y R S S T S S T S S |

S$d4048 a3a

* 1/19- S0t - WIS

Q\\?awu.a
\,

d01S 13y¥3¥N1
NOI1ISOd - S

0-596%2 0-5967

0-895%

Gt -

/ =0 —o-um 0-09¢72

== 0-6L972 0-96¢92
0-86292 0-€8492

dO1S H3ILIWOHIIW v €902

-68492




atpurdg
#2108 BUTIYOOT [BIP OIDIK

0LZ=1S #2328 3urid0] 4

urd 1eIp 0IdIH

2091d Burdwey)

9291d 8ur}201 [EIP OIDIN
TBIP OIOTIR

Apog

dOLS YALFROYIIH

2

3921an3 uwor318od-g

8utads (1eq-3urlEdo] 321an]
8utads 19A21 32yo3®y
21purds 3J21ang

3a0ys*ma108 do3g

unypam ‘ma1d8 do3g

uoyadyaosaq

1=-€9L%2
0-09.%C
0-6SL%¢
0=LSL%T
0-9SL%¢
0=-GSLYT
0-gSLye
0-2S¢L%2

0-289%2
0-089%7
0-6L9%7
0-8L9%C
0=LL9%C
0-9L9%C

*ON 29pa0

8uo1 ‘maaos doag

?3e1d 391an]y

196=z utd 3urledo] ?3e(d-3aa1ang
utd 3ur3jedo] 3I9yd3ey

9€9-0Z $3Inuyd0] Ma1d8 do3lg
A1quesse 3ura § I9A27 3I3Yyd3ey
0%8-81 qou} I3A31-33Yd3ey

88.-10 11®q 8uyjedo] 331any

dOlS NOIlISOd §

L92-8% 2108 Burydo]

?%91d Sutduey)

(2) sped doig
9d{3 2718uys ‘Lpog

uoyadyaoseq

dOlS IIONIS

§d4018a3d

1/L9=-S0T-HIS *31q °joy

0-6L9%2
0-£L9%2
0=-2L9%C
0=-1L9%2
0-0L9%2
0-699%2
0-899%2
0-L99%2

0-895%7
0-995%2
0-595%2
0-995%2

*ON 39p30

53



e Y SN Gy R e RIS pn N e PR T g T e e e (S pmma WG mma TR s T g

4S0d 70041 dMYVIM

1/S9-€E0L-N1S

0-156%2

N

0-L56%2
0-256%2 0-866%2

e

Ww‘




do3 (z) smoads 100l

%69-68 (Z) saaysesm 3T0q-Sutdue|)d
8zl-L% (y) smaads Jurandes 23e]d-ased
wo3jloq (Z) #Meads T00]

23e1d °seq

199-1Z (Z) sanu 3109-3uTdwerd

(z) s310q Surdmeyo 3sodioo]

yo01q 3sodioog]

uot3diaoseq

LSO0dT00L ¥vVId

1/S9-€0T=HIS *3aq °*33Y

0-8656%¢
¥ 0-LS6%C
¥ 0-9S56%C
0-666%¢
0-%S6%C
* *0-2G6%C
0-156%1
0-056%¢

*ON 12pa0

55



Ty [N

R B S e G S [ S S i o i

—_—

41INN LHDIT 170A MO

0189 L0~ WIS

0-0S0€2

0-6%0€2Z
e 0-8%0€2
L) 0-L%0€2

1-980€2
1-680€2
1-780€2
L-€80€2

_—

0-LE0EZ




A0t ‘asmaojeuway
*AZt ‘asmaojsuwal
*agy ‘asmiojeuway
*az1 ‘aswaojeuway
speys ysy
90Z=5y (T) sasade Joydwaq Sujjunoy

Goyadyjaceeq

1=480C2

q3tas 34817

*A0S ‘qInq Iysy1

*AZ¢ ‘qInq 34831

*agz ‘qInq ysy7

*AZ1 ‘qIng y33T

39ydwaq Suyjuncm jyun 3Iy8yq
9397dwmod ‘3yun YBTY 310A A0

ﬂo«uu«hug

1IN0 IBDOIT I1I70A MOl

O189-L01-RIS °*33g *Jo3

0-5S0€T
0-050¢2
0-6%0€2
0-8%0€2
0-L%0€2
0-2%0¢€2
0-LE0ET

*ON 19piaQ

57



g
n-s‘
v

e afea o P P Tl T FO7 PeaToae S, TR0 TG T,

L1INN LNIWHOVLILY NVLSJVD

L/L9-801=-W1S 0-6001¢

0-%7L601

A 0-zz01 0-8001Z

0-sz0lz

&
0-L9012 \@

0-Z%012Z

0-1,L602

he’

0-€gv01Z 0-8zZ0lz

065607

1
| 0-5%7602

o-mmoy
ﬁ 0-£%602
0-006027

0-66607 /%u\§$

0-0S0lZ  o-z1012
0-27602

0-92012

0-02012
0-12012 0-25602

o 7L602 I 0-8€60C

-15012 0-6201Z  0-5660Z
o -9660¢ -~

0-6L602 \
0-L2012—9 o-s1012 o-9vouz| \

. 0-00012
-~ @ 0\ S

0-60012
0-7001¢

0-98602

0-11012 ‘@
&\ 0-89602
0-8€01Z

0-%6602
e B
< 059602 0-8L602
: 0-4101Z 0-66602
0-81012 @/ 0-6%7602 -
/@ - 0-79807
0-7L01Z 8 N o-ciou

SN 0-46602 M-nw%%

OuNomQ~ OlmomON —N

0-18602 \Q/ 0-£6012 0-L7602 0-6501Z

- 0-95601 0-0s012 0-85012

oreeot 0-69012
0-05602 0-€8602
0-68602 0-6€012

0-LEOIZ




mwiom Suixepul
SI3YSeM [BAGIPYITA Ysng
s19ysem pnils J{D0Y=WED
169-S8

I3ysem ma10s BurlEd0(-UTd
Jaysem 3UTUTEIA1 TII3YMPUBH
669-S8 :
(2) s3toq mol1oy 203 saaysey
(d91a33m) saysnq m/d 3I21In]
(parpue3s) saysnq m/d 3Iaxany
(91a32w) spn3ys }do-we)d
(paevpuels) spnis YJ0[-wWe)
wa3s I[puey
L08-28 Suiads 33evys-3ur3iodosuuo)
9¢g-zg8 Butads 13Bunyd-3uixapu]
Sutads 19a91 dIal
£90-€8 8utrads a1pueq
ap11s-do3 ueisde)d
ap11s wo3jjoq uelisde)d
29918 uoruld To9YmpueH

(0-S001Z ?°%)
JA99[S UOTSUIIXD [IIYMPUBH
3JeYys 3Laanl
A1quesse 3Feys-dral
3Jeys 3uijzdoauuo)
sma108 do3ls

ISE=6S MO

0=%L012C
0-0L012
0-6901¢

0-8901¢
0-L901¢

0-9901¢
0-£9012
0-2901¢
0-6S01¢C
0-8601¢
0-6S012
0-£S01¢
0-2s01¢
0-1S01¢
0-0S01¢
0-L%01¢C
0-9%01¢
0-£%01¢

0=2%01¢
0-6£01¢
0-8€01¢
0-L£012C
0-6201¢

SuTandas 9A99[S UOTUId » 0-8Z01Z

2c0z-5Y

(€) smaads Sutano9s Joed x 0-LT0TC

Toradrassaq

*ON 13P1Q

9eS-tL
#2108 Surandoes ded-Suraeag
S0E-€S
#3108 SutureIal [I3ympueq
112-9% maaos
Sut3jedo] urd Surjzenjor maopm
61%-L9
#2198 3Jurjedo7 3Iyeys dral
9/€-19 (%) sM31d8 13A0-33§
6%C-8Y
(7) smeads Sutrduerd ueizsde)
sd108 Burisnlpe qio
39Yyo3B1 WIOoM=3uTIXapul
39yo3el 3IFBYS=-3UIIOUUOD
Aoy
z98unid Suixepur
398unid aTpueH
8n1d 210d> 3uiysed
(z) se3erd dueid
23e1d oseg
(papuo3x?) uoturd TI3ympuey
(paepue3s) uotuild [a3ympuey
1y6=-yz utd do3s 194a91-8uT3d0T
GEG-Hz utd Sutandas 39Yd3Y
9£G-yz urd Surandes aeald jJaiang
€eS=pg urd Surandas aednh
utrd 30AaTd x9A97 dril
urd joatd aypueq
utd Buiyoo]
urd Surjenide waoy
8ad Surads zo8unid Surxapur

Two13diaosaq

INTWHOVLLV NVILSdVO

X € K X

1/L9-80T-HIS °81Qd *334

0-9201¢
0-6201¢
0-%201¢

0-€¢01¢
0-2201¢

0-1201¢
0-02017
0-8101¢
0-L1017
0-5101¢
0-£101¢C
0-2¢101¢
0-1101¢
0-6001¢
0-8001¢
0-5001¢
0-%001¢
0-0001¢
0-6660¢
0-8660C
0-L6602
0-9660¢
0-5660¢
0-%6602
0-£660¢
0-0660¢

*ON 29paQ

8od 8ur3ed01 3zBYS-323IN]
gad

8utjeoo] Sursnoy 1aad7 drag

LT8-€C s31ddTu 13710

129-07 $Inu pRis- d0Twe)

Inu 33BYsS-3urlosuuc)

129-0¢ SINU}D0T M21d8-dolg

z9a01 dral

ATquesse I19A9T BUIN20T °PTIIS

LE8-8T €qOouy T29Yympueq

Sursnoy 19a97 dral

A1quosse T99ympueH

1y8-91 °T1Puey T33yspuey

q18 apris-dog

aead 3jeys-3aaang

ae93 33BYs-Surjzovouuoc)

(Z) sael110® 13A0-3138 aseq

L€L-11 d11° Suturejzaa Butadg

t9,=¢1 di1o Sututejaa Buraeaqy

ded Suraedqg

ysnq maids-do3ls

ysnq ze8unid Surxopur

ysnq Sur3ledol 3aaan],

(7) satoq molloy °aseg

}201q 30ATd dTpuey [22ympueq

utd pue _
2019 P3XT3 ITpury Ta9ympuey
968-£0

0-6860C

0-8860C
0-9860C
0-£860C
0-2860¢
0-1860C
0-6L60C
0-8L60C
0-%L60C
0-2L60C
0-1.60C
0-0L60T
0-8960¢
0-5960C
0-%960C
0-6560¢
0-9560C
0-6560¢C
0-2560¢
0-0560C
0-6%60C
0-L%60C
0-5%602
0-£%60T

0-2%602

(®8ae1) Sutaesq 3jeYS=321aNL x O0=-6E£60C

¢68-€0

(T1ews) Butaesq jjeys-3a21an] x 0-8€60T

UWo1adIao80Q

*ON a22pa0

59



/N s N G b i i

Do ey ooesie o LI T WEERTTRT | o

4INN TOMLNOD AOU-AAMIHL

L/S9-601-WIS

0-69222, , 0-v9z22

@ 0-892zz 0-€92z2

0-(S1z2
0-60€¢Z

g

a33ds mo10-76222
a33ds uo0-66222

L-L122T
0-€122¢

0-70€2z
-g71ee

0-9€72Z

0-cL2z2

@. 0-29€ze

0-L82%C

-lveze
[

0
/nr@mQ.o-mmmx ]
N .ﬁ —
o.smy _

f (]
ety
J -:\\r
N K& 0-0%€zC f\:n .);I
& 0-z522t o’ S i
& o-zeeze o4
2

0-Leczz

@% 0-9¢12z

0-Lezzz

1 0-8812¢

0-€6122

O —oene
0-v222L ]
&

0-17122

0-802zz
0-7022¢

ISieIala)

[a]

(]

o] @ e1e) v
IS

_o0-e8lzz
@lolwo—NN
%[%’ 0-sL222 0-L\E22 / @
0-0822% 0-GlEZZ 0-88227
0-90€22 - .\.A\ PN F -18222 o-sezz s«ﬂ
< 0-L0€22 -
© f o.m.ﬁmﬁ/\ 0-Leizz
\@ 0-zze @ N
080227 ﬁ 0-mm o-oamfu\{\/
0-00222 0-L6lzZ 0-06222
.‘ 0-€2€22 0-8eezs, : 0-£%2
| N > -£9222
| T G N
@\o.nmﬁ 0-98222 o0-s1zze
|
s - g . e i o b LT - i
e — s —




a9ysen doys Surads-13a97
8G0T Ssaayses 3utads maadsS-TIBY
9601 saeyses 3utadg
LSO1 Sa3Yysem M3128-T1BY
GGSO1 saoysem maad§
1201 IPWI0FSUBIL
8701 dwey) B TeUTWIAL
G201 sTeuTmIa} Burjdsuuo)
1001
2-06/9=C1 YOITAS 10309798 paads 030K
1001 °*wod
3TPUBY YOJTMS I03I9[38 paads I030K
T00T A-Z-971 Y23tas dund g oxeag
Z00T °*wod afpuey yo31ms dund § 9yeag
CEO0T Yo3aTms JTWT]
€001 A-E€-9T1 YOITAS IOJBTOST UTER
€001 °WOd 9TPuUBY YJITMS I03IBTOST UIBKR
66L-78 3utads 3ur3edoy we)
Z€1-¢8 3uiads aeae1-Burljeaadg
3uol - 190®ds Surjunom YI3ITAS
310ys - 190mwds Jurjunom Yo3IIMS
9A991S8 19491 Surjeaadp
0G0 M2a2s SuUTINDIS IAWIOISUBI]
8901
#3108 3utand’s yo3tms dund B Ieag
#2108 8uTanoas Yo3IMS I03I0K
L901 M2ads 3ulandas YOd3IMs youjl
0501 2128 °*29s ajeld Sutjunom yo3IImg
€701 Ma2108 Sutandas a3je(d 1o3edTpul
9701
M3J08 3UTINDIS PROTIVA0 R I03OEBIUOYH
€501
#3108 Burandas I3A0D Toued [oajuod
G701 MPI08 3UIINDAS 1030BIU0D § YIIIMS

Toradiaoeeq

}D01q TeUTWID]
asny

ITNOITD 10IJUOD PUB IOWIOFSUBIL

asn3y @seyd urey

peoTIaa0 poads yY31g

PrO1I9A0 p33ds—mo]

0-2YELT
0-1%€2¢
0-0Y€22
0-6€€77
0-8€€TT
0-SEETT
0-2€€22
0-TEETT

[V TA YA A

0-GCTETT
(U XAX A
0-0T€%¢
0-61€2¢
0-L1€7¢
0-61¢€2¢
» 0-01¢€2¢
» 0-60¢€¢CC
0-L0gCC
0-90¢t¢c
0-%0¢£2¢
0-16¢¢¢

0-0622¢
0-68¢C¢
0-88¢c¢
0-L8¢C¢
0-98¢¢c

0-58¢¢¢C

0-%8¢¢c
0-£8¢cC

*ON 19PaQ

L

REZO0

NBIDS *O9S

I030BJUOD ISI9AI § PABMIOIT
¢s01

M2108 3utandas 39oeaq 3aoddng
#GE=-6G sMPIDs Suroer
807=-GhH SMIIDS YO3IIMS=-ITWI]
L1T-9% #2198 Surandas uwe)
0SE-6S M2a08 ysnq 3I10q-24F
€1¢-9% sSmMdI08 3utandas 3ayorag
€1Z-9% SMIIDE X0q-yd31Ag
€Y€-8S M08 207 uld-1d2ATAg
0S€E-6S :mmom A0 aBTT10D
(8uot) poa patyy
wST % il = (310ys) pox parus
(8uo1) poa patyr
wE1 ® ul9 = (J10us) poz parur
(peads yS1y) Leysa peoraaag
(poads mo1) $ZO1 Le1922 peoliang
6COT TIBa TERUTWID]
9381d Surjunom Yo3TMg
23e7d 3urjunow JTNpuo)
L00T @3eTd 203BITIPUT Y23TIM§
L70T ?3e1d-pud TeuUTWID]
(¢)sutd 1aatms asady 8Burjzeaadg
€S9-0¢ 3INUY20T 3IT0qa4F
8€0T Inwidol Buridno)
#S0T 3INWI207 3Inu Buyiasnlpy
1601 Inu Burisnlpe yo3yimg
Ajquasse 2aa21 Burieaadp
6001 qouy Yd3TMS 1030913§
800T qouy Yyo3Ta8 103BTOS]
GHT-8T qowy] 12A91 Jurjzeaedp
L9 aa991s 124271 Burjeasdg
L101 a@pToYy @snyg
8101 @5N3 3IIND1ID-~-1013U0)

ﬂOM“NHHUGUQ

J3WI0ISURAI 10I3U0)
uo33ng youy

10309128 dumd juejoo0)
10323198 ?{BI1q I0JOK
J03092128 paads 381249y
10309195 paads paemiog

0-28¢7¢

0-18¢¢¢
¥ 0-082C¢C
¥ 0-6LCCC
¥ 0-8L0CC
¥ 0-LLTCT
* 0-9LC¢¢C
¥ 0-6LCCC
¥ 0-%L20CC
¥ 0-£L0C2
0-692¢¢
0-89¢7¢7
0-%97¢¢
0-€977¢
0-6ST¢C¢C
0-%5¢¢C
0-¢52¢e
0-6%2¢¢C
0-L%TTT
0-€%2¢C
0=LETCT
0-9€¢¢¢
¥ 0-%2CCC
0-€3C0C¢
(VA AAAA
0-122¢¢
1-L1T22
0-612¢¢C
0-%1¢¢¢
¥ 0-€1¢CC
0-012¢¢
0-80¢¢¢
0-%0¢2¢

*ON a9Ppag

oD M

IINA TOWINOD Q0¥ QUIHL

1/S9-601-H1S *33Q *3°1

6101 @sn3 aseyd urey

9T0T 3ITUn Isny JINDITO-]0IIUOYH
ST10T 3TUn @8n3 UTEy

3109243

29400 juoay Taued Joajuo)
2300 do3 13ued Toajuo)

29400 X0q Yd3IMS

<701 3uridnod arel

1701 3urTdnod a71eWaj

9£0T Sutridnod a7ewe3 Kem-d3ayg
€€01 Suridnod 31npuod-aTER
€701 I030B3UOD 3ITOA-ON

0ZOT 1030BIUCD 39819A3Y/piemiog
701 1030®3ju0d jutod-ae3ls
Je110° puUS-1TE3 POI PIATYL

€S/-11 dI7° 8utads-19a97

0101 deo uo3ang-youg
wed Surjexado YOIIMg
Suta pue
de> A/2 1101 uo3ling-yosur
ysnq 3jxoddns pox patyg
ysnq Sutads-3urledoy we)

026-01 yYsnq 370q-247

393draq 12491 Surjeaadg
39)oeaq YOd3ITMS-Yydug
393de1q 23e1d-3urjunom yo3IMg
xXoq Tsued joxjuo)

SMA1J8 IDAOD
M/ pua-11®l ‘X0qQ YO3TMS
1€0T 39019 lo3dB3U0D-YydUI
9701 I3Taaeq Teulwad]

0-00¢27

0-L6127
0-5612¢

0-£6122¢
0-881¢2
0-L8122
0-981¢¢
0-£81¢¢
0-2812¢
0-181¢¢
0-081¢¢
0-LL1CC
0-2L12C
0-8912¢
0-6S12¢
0-LSTCC
0-6612¢
0-£612C

0-7S12¢
0-0S1¢¢
0-6%1¢¢
0-8%1¢¢
1-6%12¢
o=-%%12¢
0-£%12¢
0-1%122

0-0%12¢
O-LE1CT
0-9¢€12¢

88/-10 T1®q 3uT3ed0] WED ¥ O=%E1TT

G€0T 103depe 3tnpuod dung
L€0T 1o3depe 3TINpuod aTel
€01 10adepe 3INpuod 3TewWRg

uotadraosaq

YOo3TA8 I0IBTOST UIBK
10308BJU0D JT0A=ON
1039B3U0d jutod aelsg
1030B3U0D 3613A3Y
103083000 paemaoyg

0-0£122
0-62122
0-82122

*ON 12pagQ

4 AO0OAME

NOILVOIJAIINAQLI LINN

6l

sM



|

STM-110-65/1

COOLANT UNIT




902-G% (T) smaa08 3I9fdevaq-2digd
980y ITqIXITJ
(2) sd11> @s0q
J9oe1q adrdpeeg

uo13dradsaq

0-€95¢¢
0-0662¢
0-C%s¢T
0-0%S¢¢

*ON 23PaQ

39oeaq M/ ‘A1quasse adrdpaag

(dund Bur3lsIx? UO STIR3IAIP 23E38)
dund jueT00)

(A1ddns 2130912 23e€38)
s3ur3313 A/d JTUN JUBTOOD

uoT3dIa089(Q

LINO  INVIOO0D

1/S9-011-H1S °33d *3°u

0-9€52¢

0-10S¢¢

0-9%%2¢

*ON a3pag

63



M. YRR e SR g W e G . v g kol

UsSIBuz : NIAVIMNHL AidVd

159-11L-NIS

e.nmoS/O 0-2210Z

0-8210Z

0-85002 .7 Q\o.:oﬁ 0-62102

0-65102
o-qncs..\’
0-60002 0-t100¢

0-9z1
/ﬁv 9210z \0:0L002| | b0z

0-¢210z
o-eiﬁ‘lm ~

0-0zZ002Z

o-omoo?l& 0-9800z

0-77102

0-06002

0-6€102

0-9€002

O\ 0-L2002

o.no_o~\ﬁ¥
0-71002

0-%%00z 0-0¢€102
0-15102 0-£2002 0-0£002

o.2.o~’ NN
/W,osn_s 0-02008

0=\200z /I 0-£8002

0-y2102

A

L=

®

0-23002

i 5 B

e




169-<8

IgeeA N0 SUTINI9S JAR-BUIYI0T § 0-$9102
10{-y8 39ysea Fujids A2138 VOTUId y 0-(910Z
0ZL~58 I9yseA A21>% FUTINDPS UOTULJ § 0=6S10Z

YiL-v8

Ieysea-Sutids IR JJO-X0UY y 0=SS10Z
16958 I9q¥eA m31d8 $UTINDAS 4 O-9S10Z

dols Burien(py
Apeweis do)

Sutads 3saa(-Suyyd0]
Suyads uywy

furads v1q

P18

ijeys 1elQ

0-€s10T
o-15102
0-Ly102
0-9%10Z
0-5v102
O-yy10Z
0-6€10Z

861-€L m3138 Bujindas UOULd y O-ZC10Z

961-€L (7) sms13s $urindas InU-JIWH § O-1€10Z
LY=L $m3128 FUTINDIS 194010 AOPg y O-0ULIO0Z
ILY-CL 8m2108 BUTINDIS I9A0D-3U0I4 y O-6Z10L
661-(L m213s BujIndes 9xowig y 0-BZ10Z

L61-¢tL

$A3138 BUINOeS YI01Q-104VY y 0-LZ10Z

YiZ-9y sma1ds

Bujindes y01q-Bujowds 5 0-9Z107
0Z$~-€L sm213>s $ujindes 1wq-dolg y 0-5Z10Z

822~y (%uoy)

$A108 BUTINDPS JUIWIPIIV y O~9Z107

Lz-Ly

(3204ys) A3d>s Bujindes JUSEYIWIIY y O-CZ10%

A2108 30a3d 19491 jjOo-3doUy
A3138 J0A}d 19a9] Suylvius-siqg

guuﬂmté

0-22102
0-0Z102

‘ON a9pi0

68Yy-tL
a2138 Supydoy doas-Sujasn(py s 0-61102
€Ly-tL
A3108 Bupisn(pe 19A91-Suyno0] 4 0-8110Z
S61-€L
(€) sm210s Supaenipe q}8-9p11S 4 O-L1102
(*uy 9y) aeq do3ag  O-4110Z
(*uy 97) awq do3g O=-Z110Z
s3vld (vid  0=-6010Z
30a3d I9A91-Bujx20T  0-90107
woIuyd  0=-£010Z
uyd 10320198  (O-£6007
€9$-47 uyd Supandes s3v(d (viQ ¢ 0-$600Z
809-52
uld aw((o>-Sujajap UOTUTd v O-4600
£~y uyd Bupanoes wEd-3jeys y 0-7600L
€YS-9yZ uyd Suyandes 320[4-3;¥4§ y O-1600Z
(Z) suyd BujujeIea ¥ujade uywy 0~0600Z
9%0-97 U}d BujIvIO] UOJULd § 0-6800Z
suyd Sujledo] I9NOVIG-1oaR] 0-8800Z
1€1-91 U}d UoFIPd0] JLIWMPOIRIIV § O~LHOOT
uyd Buyajap SpIIS 0-9800Z
YI1-CZ #91ddyu 19130 & O-(H00L
689-21
Inu SuInOes Jear]-BuyyR0] y 0-9L00L
169-21
INU BujaInoes JeaR] jjo-ydouy 0=~ L00T
689-27 m9139 Apwe3s-dol 30j InH § 0-1L00T
069-27 A2128
Bujien(pe 1sasl-Fuyyd0] 307 INY ¢ 0-OLOOT

Bojadjaoneq

‘oN Jepag

s

ardve
1/69-111-W18 '93g ‘jou

069-27
#2109 Bujaenipw qi¥ 30j sang
(31un 2apwvaaqy) InL-JIvH

syIv] 103

(9d43-0) 3301 19a31 Inu-j|wy
uyd g 1ead|-Bujyron
u3ld § 19431 jjo-ydowy
19431 Burlelue.sig
qQouy 19ad] jjo-yoouwy
Qouy a[puwry
a1 puvh
q18 aprs
(3193) 39xsv? 19a0)
L1quasse 1e1p Futileg
I2A00 JBOIY
a9a00 YOWg
290wds Sutawaq 3jeys-(eiqQ
8120wds 1vg-do3g
AP0 Futajap wojuyg
Sujased ujwn sepwouyy
@Y Jjeqs-a|pury
900~01 4¥nq 3jeys-a|puwy
ANINIq 1A jjo-yr0uy
3104 dpwele doy
R01q-Fujowds 1ea0)
101q Ijeys-a|pury
1201q=10quw Buyadg

068-10
(2) s¥uyaweq 3jwye (w1
Jogouw Suyide leas|-Suyydon

uoyadyioneq

s 0~89007
O=L 9007

0=-19002
0=-65002
0-85007
O~-{S00T
0=-4500T
O=-¥$007
O={ Y0OZ
O=ry00T
O-1y00L
O=5{ 00T
O=-1(00T
O~0( 0L
0=-6100%
O-8100Z
O={ 00T
O=-{ 00T
O=-OI00g
» 0-@100Q
O={ TO0L
O=2 1002
O=1100¢
O0=0100g
O=-6000%

v O={ 00O
O=20007

‘oR Jepao

65



L

&

I T I i ™ T R st
SIMO : MEAVINHL AQidVd
1/§9-3Z11-WIS
0-6v20¢
o.NmSN/O 0-10€02 /O
&Q 0-6520¢ 0-zo€oz
0-45202
0-2teoz 0-51€02

0-1G€02

!

0-2020:-F)

0-£€€02

\

0-9zg02 \

0-69202
f ﬂm///o-qs~o~
-05€0
0-50202

0& 0-€5207 R
2 \
@%/928%&\ SIED '

&

0-91€0Z 0-00€0Z

0-12z02 P\
‘ 0-91z0z 63 0-Lzeoz 0-5920 0-%92
2\ 0-80202 v920¢
0-982z0; 0-97502 o-c 0-5%202 | @
- -50¢ :
> > ° momww.omﬁv 0-0¥t0z
0-v5202 o-,, /
¢oz 0-16202

0-z0202 fo-noﬁ: 0-8£20Z -
0-6820Z

] Tt o
o2 WY

0-60€02 o.SSN;Q 0-6020z | ®

0-6%7€0Z 0-61202

o-.:noNf

[ 0-11zoz
. 0-2L202
0-00202-p 0 Ao
0-62€02
0-18202
L e >& o) 0-L1E0Z
) /
< m\ RO
0-2920¢ A n\ g 0-%1202 0- ££202 0-72202 o
2 -6520
@lo.mos 1
Q
0-8€€02 0-r9g02
0-90€0Z 0-8%20Z0-96202
%
..r. SO R s e A y..:.l‘!hl!\n\y - - — S
A "




10L-%8 asysem-Butads M2a0§ y 0-ZGEOT
a9ysem SuUTUTIRIIX UOTUTd (Q-1GE0T
yTL=%8 a9Yysem-3utads 294977 x Q-0SE0T
769-68 13ysem Md108 3UTANISS y 0-6HEOL
169-58 I9ysea I9A91-3uUTI0T x 0-8%E0T
I9ysem JuTuTEIAI ATqUOSS® [BIA O-LY€0T
g I9ysem 1ea3-ZUTATIA (Q-9%£0T
9BII IITT0I-APTIS  O=-%%€0T
PN3Is J0ATd 12A9T-3uUIy007] 0=-Z%€0¢
doas atqeasnlpy  0-0ovgog
Ape93s MmaadspedT (O-8EEOT
Sutads 1e1p-3urlIvs  0-SEEOT
8utads urd-103297198 IBdH (O-KEEOT
Sutads utey 0-€E€E£OT
8utads asa91-8uryo0oT O-1E€E0T
°PTIS 0-6TtOC
3Feys aeB-I191PI  0-LZE£0T
ayeys 1ea8-8utAaTa@ Q-9Z€0T
L1quesse 33jeys STpueH (O-SZEOT
M2108
8uTandas 19A97-10309T38 IBAH (0-8I€0Z
ClY-EL MRI1DS I9A0D Ydeg x 0-/1€0Z
0Z6-€/ #9105 Burandas 1eq-dols y 0-91€0T
TLY=EL SMPID8 3UTANDIS I9A0) x 0-GTEOT
250-80 (8uo1) mo10s JudWYIEIIV ¥ O-%T1E0T
L22=LYy (330YS) M3IADS JULWYI®IIV x O0-€1£0Z
661-€L #2108 3urandas 3aoevad x 0-ZI1E0Z
861-€/ M2108 3UTUILRIAI UOTUId x O-IIEO0L
L6T-EL
8M310Ss JUTINO9s 33ed 1030913S x 0-0TE0C
L6T-EL _
SMa108 ZUTaNDI8 NO0Tq-I0YdUY x 0-60£0Z
961-€L
(2) sm210s 3utanoes JINU-JIBH x 0-8OE0T
S61-€£L

#3108 1898 2U0D 3 TRIP-BUI3IIAS x 0-L0E0T

uotadiaoseq

*ON a2paQ

¥61-€, M2108 Butandes Apeasg
12-9%
SM3108 D01q-3uideds IaA0)
M910s8 Buturejdx Surads-1eIq
#3108 JoATd a9AsT-BurfeSussiq
#3108 J0ATd 19A3T JFFOo-oouy
#3108 9pIn8 urd 10309[28=-1839
68Y%-€L
#3198 3uTyoo] dois-arqeasnlpy
eLY-€L
#M3108 Burisnlpe ava91-Burydo]
S6T-€L
(g) smaados Zuizsnlpe-qrn
197101 a8ed-3e13 2PIIS
asutejea Jurads 1e1d
(*ur 9%) aeq do3s
(*ur 9z) aeq do3s
23e1d aea8-su0)
uorutd
utd 3ut3jedol uorulg
utd 103009198-1839H
utd 1030919§g
TyS-y7 utld wed 3yeys-aTpueH
9%0=-%7 uid 3jeys aes8-191PI
ZyS-y¢ uld 3001q 3IJeYS-ITPuUEH
(z) suid SButuielaa 3utadsg
809-5¢
uld Ie]7109-3UTATIP UOTUIJ
uid 19A971-3UT}007]
(z) suid ZBurjedol 3oeag
899-%T utd 3urlEd0T 3JUSWYDEIIY
utd BuIATIpP-3PIIS
utd UOTSUIIXd MRIDE-QTH
%Z1-€C A9TTO 9PTIS
169-€¢
a31T10 3zeYys aed8 BulatiaqQ
069-2Z 3INU MIIDS IIADT-BUTINO0T]

uo13diaosaq

OIMLIW YIAVIYHL AIdVd

1/59-DZ11-WIS *3ad *3ou

¥

*

L 3

*
¥
L)

*»

"

*

¥
¥

0-90€02

0-50£0¢
0-%0€0¢
0-£0€£07¢
0-20£0¢
0-10€0¢

0-00£07
0-66¢0¢

0-86¢0¢
0-9620¢
0-%620¢
0-1620¢
0-68¢0¢
0-88¢0¢
0-98¢0¢
0-£8¢0¢
0-¢8¢0¢
0-18202
0-08¢0¢
0-6L¢0¢
0-8420¢C
0-LLc0C

0-9£¢0¢
0-6£20¢
0-%L20C
0-tLT0T
0-2L20¢
0-1L20¢
0-69¢0C

0-89202
0-9920T

*ON I3PaQ

169-7C 3nuU I3A3T Jjo-o0ouy
069-t¢ (€£) sanu mdIds-qTH
689-7C INU I2A3T JuTryO0]
nu-jyTey
(d4£3-)) 20T I3A2T InuU-JTEH
£L1qUOSSE IVADT 103109138 1EIH
uid a/o 19A9T-3uTyd0]
uid 3 I9A9] JJo-douwy
aaa91 3urBeduasiq
qouy dTpueH
qouy 10302128 aed)
qouy I9A9T 3FJo-yoouy
QI3 IPIIS
ae928 a91p1
aee8 SBuiatag
L1quasse aesl8 auo)
9388 10309198 ae9H
(31T°3) 39sed a9a0)
TeTp 3uTalag
A2A0D Yoeg
a9A00 Juoajg
ae1100 BuTATap UOTUT]
z9ovds Sutaeag
s19oeds aeq doig

1€L-11 ,
di1> Buturejaa aweS-191p1
Sutased urel
wed 33JeYys-a]puey
L00-0T Yysnq 3 Jeys-sTpueH
600-0T ysnq aea8 Butataq
39%08aq I9A9 JJo-ydouUy
201q 3IFEyS-oTpuUEH
yoo1q Buidoeds IaA0)
}oo1q aoyouw Jutadg
068-20 (Z) sButraeaq aea8-3uo0)
Ioydue Zurads x9a31-Burd07

ﬂcmumwhomﬂﬁ

¥ 0-6920¢C
¥ 0-%920¢C
¥ 0-£920C
0-2920¢
0-6520¢
0-LS20C
0-96202
0-65202
0-%570¢C
0-€£65202
0-¢S¢0C
0-6%70¢C
0-8%20¢
0-S%70¢C
0=-%%¢0¢
0-8€20¢C
0-S€207
0-€€202
0-0€20¢
0-%220¢
0-€220C
0-1¢2¢0¢
0-0¢20¢
0-6120¢

¥ 0-9120C
0-%120¢
0-1120¢
¥ 0-60C0¢
¥ 0-80C0C
0-6020¢
0-%020¢C
0-£020¢
0-2020¢
¥ 0=-6610C
0-L6102

*ON 13pa10

67

SM



s

24733-0

24734-0

|

STM-113-6609/1

long type

BED STOP :




2qn3 do3g 0-6%L%C

dois 39aan] 0-8%LY¢

8urads 11eq-3urlEd0] 0-9%L%C

sma10s do3g 0-%%L%2

S0Z-S% (Z) sme1ds Jurandas dols x O-EHLYT
MA10§ uoTsuajx-3utadg WA A YA

91¢-9% (€) smaads ajeld LIeITIXNY x O-THL%T
91z-9% (%) smdads j201q 3ulUnON x 0-0YL%T
9je1d LaerrIXny O-LELYT

129-0C INUiD0T #M213s do3s x 0-9ELYC

091-18 £33 URTIV ¥ O=YELYT

uor3dravsa(g *ON 12pi1(

TVNIANLIONOT :d0LSsaad

1/6099-£TT-HLS

6ST-18 4o UdTIV ¥ O-E€E€L%T

3o01q Sutjunoy

19xaeq Surxapul
11eq-3ut3ied0] 3qn3 doig
pnas aeq yo3e]

(%) saovaos a3erd-dol
(7) smaxos 9091d dwey)d
93e1d-do3 Lpog

9031d Buidwer)d

qowy aeq yo3e]

£poq doispag

deq yoje]

uot3draoseq

0-T€L%C
- 0=0€L%C
0-62L%C
0-869%¢C
0-L69%¢
0-969%¢
0-£69%¢C
0-269%¢C
0-169%¢
0-689%¢
0-889%¢

*ON 2p1Q

69

re———— R —



aAQuvND dJdIHD -MONHD

\‘ 1769-711-WIS

0-S00€7 py
X

0-200€Z
o-aoozl/‘ﬁ

0-L00€2
¢

BN

/

0-100€2




L12-9% (Z7) #aaos Sutandoes l1eq SUTIUNOK
$66=6S (Z) Meads 3urandas paq 03 paen)
39)oraq 2dULILITD IATTF0Id

aeq Surjunom pIenNd

A1quesse paend diyo }yonyd

uoradraosad

@vnd dIHO-XONHD

1/S9-%11-HLS

» 0-600€C
¥ 0-L00€C
0-500€¢
0-C00€C
0-T00ET

*ON 12P1Q

71



ik | % ¥y
r = ) T

e

| SPECIFICATION OF STANDARD PARTS

Ref. No.

\

r ! . |
s 1-786  Ball, steel 5/32" dia.

| 81-;8 Ball, steel /16" dia.

01-78§ Ball, steel 1/4" dia. |
01-789  Ball, steel 5/16" dia.
01-790  Ball, steel 3/8v dia.
01-792  Ball, steel 5/8" dia.
01-793  Ball, Ph/b. 1/4" dia.

02-032  Bearing, Hoffman XLS, 2.1/4" dia.
02-061  Bearing, Hoffman XLS, 2" dia.

02-872  Bearing, Hoffman A10, 10 mm x 28 mm,
02-8%0  Bearing, Hoffman S5-V3-0

02-896  Bearing, FIFNIR DN 110 or FAG 601027

T R — | __SS— TR

| 03-892  Bearing, roller, 17mm x 40 mm x 13 um KGS taper
. 03-8%  Bearing, roller, 25 mm x 52 ma x 16 mn KGS t&per%%oeg%

04-884  Bearing, thrust Hoffman W 1.1/8n
. 04-905  Bearing, thrust Hoffman W.S.P, 5/8n

T D ——

08052  Bolt, Hex. head 5/16" UNC x 1.1/4" long
08-112  Bolt, Hex head 5/8" UNC x 1.1/4" long

L —m

| 10-006  Bush, 5/8" 0.D. 1/2% I.D. G.T. o1 x 5/8 10ng
bl 10-007  Bush, 5/8 0.p. 1/2" I.D, C.T. oLl x 7/8n long
E1 10-009  Bush, B.S. 71 x 1.1/2n long
Ll 10-011  Bush, 15/16" 0.D. 3/4" 1.D. c.T. 20 x 1.3/16" 1ong
I' 10-012  Bush, 15/16" 0.D. 3/4® I.p. G.T. 30 x 3/4n 1ong
E ’ 10-013 BuSh, 15/16“ O.D. 3/4" I.D. CCT- E X lll lO ‘
i 10-909  Bush, 12/16" 0.D., 9/16 1.p. F.C.Ts 211 x 5/8n Long
:» 10-913  Bush, 3/an 0.p. 5/8" 1., c.7. 174 x 5/8 long
10-914  Bush, 3/4% 0.D. 5/8" I.D. G.T. 174 x 3/4n 1ong
- 10-916  Bush, 7/8" 0.D. 5/8" 1.D. C.T. 56 x /l" long
1 10-920  Bush, 1" 0.D, 3/2" I.D. G.T. 18 x 5/8" long
S 10-923  Bush, 1m 0,D, 3/4n I.p. G.7. 18 x 3/4v long
10-940  Bush, 1,3/8n g.D. 1.1/8" 1.p. B.S. 68 x 1.3/an long
: 10-957  Bush, 11/16m 0.D. 9/16n 1.1, G.1. 49 x 7/8% long
i 10-958  Bush, 11/16n ¢.p. 9/16" I.D. C.T, 40 x 1.1 4" long
L 10-964  Bush, 3/an (.p. 5/8" I.D. F.C.T. 29 x 9/16" long
FEL 10-991  Bush, oilite C.T. 40 x 1/2" long

sl -y

- ———

LB 1-721  Circlip, external 3/8" dia. Andert
e . ’ . erton type 1 .
) 11%-736 Circlip, external, 1/2v dia, Anderton tg:ge l%g 503
| 11-727 Circlip, external, 1/20 dia. pnderton type 1500 E.396
1 11-743 Circlip, external, 5/8" dia. Anderton type 1400
$ 11-7 5 C:.chlJ.'.p, external, 3/4n gia, Anderton type 1400
} -749 Circlip, external, 7/8" dia. Anderton type 1400
? | Jﬁ-—753 Cq.rcl.}p, external, 1" dia, Anderton type 1400
ll:;;g g:f.rci;.p, external, 1.1/8n dia. Anderton type 1400
| 0 Cilicl’p, external, 5/16m gia, Anderton type 1500 E.250
; g o CliP, external, Z/16m gig. Anderton type 1500 E.125X
' irclip, external, 50 pg Anderton type 1400 364

12-76  Circlip, interna)

- ey b > 28 mm (1.102) Anderton type 1
| 112-;% g;xﬁp: internal, 40 mp 21.574) Anderton tgge 1%3
4 12-773  ¢j 1P, internal, 8 mp 3+150) Anderton type 1300
- irclip, internal, 3,464 dia. Anderton type 1300

o I

1
§ T e i o §
w s ya—— -
%



21-687

22-663
22-689
22j9o
22-691
22-69%6

23-124
27 826
2%-827

Circlip, special,Anderton 1500 E.468 'E' type
Circlip, special,Anderton type 1200 size 8 int.
Circlip, special, Salter No. 5101/66 ext.

Spring dowel, 1/8" dia. x 1/2% long
Spring dowel, 1/8" dia. x 3/4" long
Spring dowel, 1/4% dia. x 1" long
Spring dowel, 3/32" dia. x 1/2" long
Spring Dowel 5/32" dia. x 1" long
Spring dowel 5/2Z2¢ dia.x 1.1/8" long
Spring dowel, 3/16" dia. x 1" long
Spring dowel, 7/32" dia. x 1" long
Spring dowel, 1/4® dia. x 3/4" long
Spring dowel, 1/4m dia. x 1.1/4" long
Spring dowel, 5/16" dia x 1.3/4" long

Handle, black, 3/8" bore x 3" long

Key, No.3 Woodruff BS 404
Key, No.9 Woodruff BS 606
Key, 1/4" x 1/4" x 1.1/4" long, round end BS 46

Knob, 1.1/4% dia. x 3/4" UNC red
Knob, 1.1/2" dia. x 7/16" UNC black
Knob, 1.1/2" dia. x 5/16" UNC red
Knob, 1.1/4n dia. x 7/16" UNC black
Knob, 1.1/4m x 3/8¢ UNC black
Knob, 1.1/4" x 3/8" UNC cream
Knob, 1" x 3/8" UNC black

Knob, 3/4" x 1/4" UNC black

Rut, /8" UNC deep
Nut, 1/2" UNC deep
Nut, 5/16" UNC std.
Nut, 3/8" UNC std.
Nut, 1/2" UNC std.
Nut, 1/4" UNC thin
Nut, 5/16" UNC thin
Nut, 3/8" UNC thin
Nut, 1/27 UNC thin
Rut, 3/8" UNF thin

Locknut, 7/16" UNF

Locknut, 5/8" UNF

Nut, 5/16" UNC std. (Simmonds Aero)

Nut, 3/8" UNC std. (Simmonds Aero)

Nut, 7/16" UNC std. (Simmonds Aero)

Nut, 1/2" UNF thin 'T' (Simmonds type NT/D166)
Nut, 5/8" UNF thin (Simmonds type NT)

Nut, 5/87 UNC thin IT! (Simmonds NT/N206)
Locknut, 1/2" UNF Philidas c/w cap

Nut, 1/27 UNC Wedglok

Nut, 1/4" BSW stiff

Nut, 2 BA thin

Nut, 3/8" BSF thin

Nut, 3/8% UNF Philidas type JUFP/1 c/w plastic cap 495

Oilcup, 1/4" dia. Springwell

Nipple, grease, 1/4" BSF
Oiler, 1/4" dia. Garland diaphram

I



e

Ref. No.

24-04
24-0
24-384
24-525
24-573
24-524
24-535
24-52%
24-539
24-541
24-542
24-543
24-544
24-545
24-546
24-%63
24-620

25-608
25-5_2029
26-851

, 27-060
| 27-148
| 27-192
5 27-846

| o8

28-905

i 29-024
45-201
45-203

dia. x 3/8" long G.P.3
Wills 515.2’ 53: dia. x /4" long G.P.3
Mills pin’ 5/16n dia. x 1.3/8" long G.P.4
Mills pin: 1/8" dia. x 9/16" long G.P.3
, dia. x 3/%" loggPGéPJ.
n dia x 1" long G.P.
gii%ll: gi:l;: g;%ﬂ dia x 1.1/4" long G.P.3
Mills pin, 3/16" dia x 1/2" long G.P.1
Mills pin, 3/16" dia. x 1/2" long G.P.3
Mills pin, %/16" dia. x 5/8" long G.P.3.
Mills pin, 3/16" dia. x 3/4" long G.P.3
" gia. x 7/8" loggPGéPJ
16" dia. x 1" long G.P.
gﬁ: gﬁ’ 16“ dla. x 101/4" long G0P03
Mills pin 3/16" dia x 1.1/2" long G.P.3
Mills pin, 1/4" dia x 1.1/4" long G.P.3
Mills pin, 3/16v dia. x 15/16" long G.P.l

l.1/2" lo
Dowel ii.?’g%éf"di‘a. :1:/ 5/6n long BS 1804 Grade 11

6n dia. x .103 thick Pioneer P0/08706819
o1 ﬁﬁé: ﬂﬁm x 139 thick Pioncer PO/12510013
01l ring, 1.1/2" dia. x .139 thick Pioneer PO/17515013

0il 2n 1.D. B4/1115

0il ﬁ.“ﬁé: %wty list 5 MK 26 pp 49

ol i DR MK T e 1Y 496070 thick Pi

il ’ 0.D. e X o oneer
o e, 5 : P0/06204310
0il ring, Pioneer P0/23720021

0il ring, Pos/2506/m=/258

Rivet, 1/8" dia. x 7/16" long copper countersunk head

Union nut, Benton & Stone 'ENOTS! B-1731-D
Tubing sleeve, Benton & Stene 'ENOTS! 2-403

Cap screw, 10 x 24 T.P.I. x 3/8" long
Cap screw, 10 x 24 T.P.I. x 1/2" long

Cap screw, 10 x 24 T.P.I. x 5/8" long
Cap screw, 10 x 24 T.P.I. x 3/4n long
Cap screw, 10 x 24 T.P.I. x 7/8" long
Cap screw, 10 x 24 T.P.I. x 1" long

Cap screw, 10 x 24 T.P.I. x 1.1/4" long
Cap screw, 10 x 24 T.P.I. x 1.1/2" long
Cap screw, 1/4" UNC x Z/80 1

Cap screw, 1/4" UNC x gg" 1‘mg

Cap screw, 1/4" UNC x 5/81 1o

Cap screw, 1/4" UNC x 3/4n long

Cap screw, 1/4» UNC x 7/8n 1

Cap screw, 1/4" UNC x 1n long

Cap screw, 1/4" UNC x 1.1/4w long

Gap screw, 1/4% UNC x 1.1/2% long

Cap screw, 1/4" UNC x 1.3/4" long

11




Cap screw, 3/8" UNC x 5/8" long
Cap screw, 3/8" UNC x 1" long
Cap screw, 3/8" UNC x 1.1/2" long
Cap screw, 3/8" UNC x 2.1/2" long
Cap screw, 3/8" UNC x 4" long

Cap screw, 7/16" UNC x 2" long
Cap screw, 1/2" UNC x 1.1/2" long

Countersunk screw, 10 x 24 T.P.I. x 1/4" long
Countersunk screw, 10 x 24 T.P.1. x 1/2"
Countersunk screw, 10 x 24 T.P.I. x 3/4" long

Countersunk screw, 5/16" UNC x 3/4" long
Countersunk screw, 5/16® UNC x 1" long

Cup point screw, 10 x 24 T.P.I. x 3/16" long
Cup Point screw, 10 x 24 T.P.I. x 1/4" long
Cup point screw, 10 x 24 T.P.I. x 3/8" long
Cup point screw, 10 x 24 T.P.I. x 1/2" long

Cup point screw, 1/4" UNC x 1/4" long
Cup point screw, 1/4" UNC x 5/16" long
Cup point screw, 1/4" UNC x 3/8" long
Cup point screw, 1/4" UNC x 1/2" long
Cup point screw, 1/4" UNC x 5/8" long

Cup point screw 5/16" UNC x 5/16" long
Cup point screw, 5/16" UNC x 3/8" long

Cup point
Cup point
Cup point
Cup point
Cup point
Cup point

Cup point

screw, 5/16" UNC x 7/16" long
screw, 5/16" UNC x 1/2" long
screw, 5/16" UNC x 5/6" long
screw, 5/16" UNC x 3/4" long
serew, 3/8" UNC x 1.1/2" long
screw, 1/2" UNC x 5/8" long

screw, 5/8" UNC x 5/8" long

1/2 Dog screw, 1/4" UNC x 3/8" long

1/2 Dog screw, 5/16" UNC x 5/16" long
1;2 Dog screw: 5/16" UNC x 7/16" long

Cap screw, 3 BA x 3/4" long

Set screw, 5/16™ BSW x 1.1/4" long hex head
Set screw, 2 BA x 1/2" long, Hollow socket
1/4" BSW x 5/8" long S.H.C.S.

1/4" BSW x 7/8" long S.H.C.S.

Set screw, 2BA x 1/2" long hex head

1/4" BSW x 1/2“ long S.H.C.S.

Cheese head screw, 2 BA x 1/4" long

Socket set screw, 2 BA x 1" long oval point
1/4" BSF x 3/8" long S.H.C.S. .
Flat head screw, 1/4" UNC x 1" long

Socket set screw, 1/4" UNC x 1/2" long full dog Wedglok
Countersunk head screw, 5/16" UNF x 3/4" long socket

Cap screw, 8 x 32 x 3/4" long socket head.

Oilseal, Weston W.16211237.R.
0ilseal, Weston W.B. 16911037.R.21

‘e

-
Oilseal, 11/16" I.D. x 1.5/8" 0.D. 5/16" wide w.166m6<ﬂ R4
v

e

v -
. A

o



s ————————

OO
s IR . R
-

Ref. No.

emit IC.4610
Oilsight, 1.1/47 0.D. Tecal
Oilsight, 1.1/2 Tecalemit IC 4612

én Allen Hexagon
Key: &3n 4/ Allen Hexagon

. 163208
ggﬁ?é: F7(:;;)-%’028 (?.3237 dia. x 1.1/8" free length

Spring, Flexo 82504 1/4" dia. x 5/32" x 1/2" F.L. 6.1/2n

coils

4 1,1/64 dia. x 1" free length
gm: %;3821, 4r dia. 0.D. x 1/2" free length
Spring, 1/4" 0.D. x 5/8" free length
Spring, Flexo 53%2
S Flexo
Sizii“;é: 707-0014 .lg) dia. x 21/32" free length
Spr Flexo 14300
sﬁrﬁt 207-0015 5/16" dia x 1.7/8" 0.A.
Spring, 707-0016 1/2" dia. x 2.3/16" free length
Spring, Flexo 62704
Spring, Flexo 12%6
Spring, Flexo 112 g
Spring, Flexo 62703
Spring, Flexo 93114

Washer, 3/16" dia. bore single coil locking
washer, 3/8" dia. bore single coil locking
Washer, 1/2" dia. bore single coil locking
Washer, 3/B" dia. bore double coil locking
Wesher, 1/2" dia. bore double coil locking
washer, 5/8" dia. bore double coil locking
Washer, Schnorr disc spring Type K.6201

Washer, 1/4" dia. bore standard

Washer, 5/16" dia. bore standard

washer, 3/8" dia. bore standard

Washer, 7/16" dia. bore standard

Wesher, 1/2" dia. bore x 1" 0.D. X .092"W. standard
wWasher, 1/2" dia. bore x 1" 0.D. x .062"W. standard
Washer, 5/8v dia. bore standard

Washer, 3/4" dia. bore standard

wWasher, 2 BA standard plain

Wesher, 5/8% 1.D. x 1.3/8" 0.D. 15 SwG BS 3410 table 4 std.

wesher, 3/4" internal fan disc.
Washer, 7/8" internal fan dise

wWasher, 1.1/4" 0.D. x 7/8" I.D. x 1/8n ther
Wacher, 1/2% 1,D, fan disc. SET o

Washer, Beryllium copper washer ref.
Washer, 1/4" shakeproof ref. LSE 8596
Wesher, Dobo No.105

Drain plug 3/4" BSP Tecalemit 4377/6

v




>

it

T




